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Compiler’s Notes to Subject 1 Test Question Bank
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The subject 1 test question bank, compiled in accordance with the
requirements specified in the revised Regulations on the Application for
and Use of the Motorized Vehicle Driving Licenses (No. 91 Decree of
the Ministry of Public Security), is designed for the use by the traffic
control departments of the public security organs in various places in
organizing the tests for motorized vehicle driving licenses.

—.  HESH
1. Structure of Question Bank
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The question bank comprises two parts: motor vehicles and
motorcycles.
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The question bank for motor vehicles has 1,500 questions, of which
1,315 are for general purpose, 59 are exclusively for buses, 70 are
exclusively for trucks and 51 are exclusively for self-propelled wheeled
machinery.
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The general questions contain the knowledge that must be
tested for all types of motor vehicles; the questions exclusively for
buses contain the knowledge that must be tested for buses and are
used to test those applying for driving Al, A3 and B1 vehicles; the
questions exclusively for trucks contain the knowledge that must be
tested for trucks and are used to test those applying for driving A2
and B2 vehicles; the questions exclusively for self-propelled
wheeled machinery contain the knowledge that must be tested for
self-propelled wheeled machinery and are used to test those applying
for driving all types of self-propelled wheeled machinery.



BERERBEHL G0 & , HETERERNMSENR  HD. E,
FHESERREAZEHER,

The question bank for motorcycles has 800 questions, which contain
the knowledge that must be tested for motorcycles and are used to test
those applying for riding D, E and F motorcycles.
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2. Method of Question Grouping
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Subject 1 test paper has 100 questions, which are
randomly selected and grouped by the computerized driver test
system in accordance with the ratios specified in the Regulations on
Motorized Vehicle Driving Licenses. The following table shows the
question grouping ratios.
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Note: In the provinces (regions) and municipalities where no
regional regulations on traffic safety control have been promulgated,
the ratio of the questions on the regional regulations should be
included in the ratio of the questions on the national law and
regulations on traffic safety.
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Question Bank for Motorcycles

(800 questions)

1. EEATEZEEE. EHARE (222 8D
1. Laws, Rules and Regulations on Road Traffic Safety (222 questions)
11 EHACH %Ak (69 HED
1.1 Law on Road Traffic Safety (69 questions)
111 #EFEE. (510D
1.1.1 Multiple-Choice Questions: (51 questions)
1111 AR N RSCRI 8 B AT 22 42D S T 4E ARk Y, S eidAT AR,
A CRUEZE 593 v 1A Tl
B. [l 5 s S 55
CARY A A VER
D. /AT T
%%: C
1.1.1.1 The Law of the People’s Republic of China on Road Traffic Safety is designed to maintain
road traffic order, , and increase the efficiency of traffic flow.
A. Ensure vehicles can run fast
B. Fulfill transport tasks satisfactorily
C. Protect the legitimate rights and interests of the citizens
D. Reduce traffic accidents
Answer: C
1112 Hlsh%4_ Bid)s, Jinl LEdrm.
AERRIZ I PR
B. A L RAT T P
C. LR HRI]
D.BLSSHERT]
%%: B

1.1.1.2 A motorized vehicle can run on the road only after it has been registered with the

A. Institution in charge of road transport administration
B. Traffic control department of the public security organ
C. Department in charge of industrial and commercial administration

11



D. Tax department
Answer: B
1113 MARBILMHSIA, FEm BT, N
A I AT FRIE
B.B A LMK %5
C.EH# AT
D. fE4 % Lk & HAIE
HE: A
1.1.1.3 An unregistered motorized vehicle should if it has to run on the road
temporarily.
A. Have a temporary pass
B. Register with the public security organ
C. Directly go and run on the road
D. Paste a certificate of inspection on the window

Answer: A
1.1.1.4  HOEHLEIESE, WLEh4 A AT B8 FE a2 .
AR

B. S+ ik W ATHLAI 42K ik W

CHEAE ) A UE W] B ML B 42k 1 AE R

D. A= 590 E A 1 Se BiAE B B S Bl SRR

H%E: A
1.1.1.4 When applying for motorized vehicle registration, the certificate or document the vehicle
owner does not have to present is the

A. Driving license
B. ID card and the certificate of origin of the motorized vehicle
C. Certificate of ex-factory inspection or the certificate of import for the motorized

vehicle
D. Certificate of vehicle purchase tax payment or exemption
Answer: A
1115 LSRR RURF S A G 2 BEAR I S
AT HBUR LR R
B AR
C.HHT KB
D4R &)
%H%: C
1.115If , a motorized vehicle does not need the relevant registration.

A. The ownership has changed
B. It is used as a mortgage
C. It is under overhaul
D. It has been written off
Answer: C
1.1.1.6 CEBEHEAERNLEI G EIERATH.
A SR I
B. AR
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%HZ%: B

1.1.1.6 A motorized vehicle reaching the write-off standard

1.1.17

A. Is permitted to temporarily run on the road
B. Is not allowed to run on the road

C. May run on the road after being repaired

D. May run on the road after the administrative fee is paid
Answer: B

FVPRSG PSRRI S o
AE RIS LT

B. A~ L RAT T P

C. LR HRI]

DB R

%%: B

1.1.1.7 The institution allowed to confiscate and detain motorized vehicle driving licenses is the

1.1.1.8

A. Department in charge of road transport administration
B. Traffic control department of the public security organ
C. Department in charge of industrial and commercial administration
D. Tax department

Answer: B

A DNECE (8 e U R/ K

AT DU 2 BIE

B. A AN AT BIE

C.UAHE LB 42 B, AT B UERIAT 5

D. WA A MR ] ik 1 FE IR

%H%: C

1.1.1.8 When driving a motorized vehicle on the road, the driver

him

him

1.1.1.9

A. May not bring the driving license with him
B. May not bring the vehicle license with him
C. Must bring the driving license, the vehicle license and the mandatory insurance with

D. Should bring the certificate of ex-factory inspection or the certificate of import with

Answer: C

R NS WHLE R FIEBRATRNT, NS T A A
AZEFAARDL

B & 1)

C. oAt

D. A%

BE: A
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1.1.1.9 Before driving a motorized vehicle on the road, the driver should carefully check the
of the vehicle.
A. Safety and technical conditions
B. Overall structure
C. All parts
D. Gear oil
Answer: A
11110 HLEh4-ARA__ 440,
AAEBAT S 5 I A DA 2
BN ML 2 AN S 2
CAERAT AT B 52 I m] Bl 25 3t
D. A L 2 A
%%: B
1.1.1.10 The motorized vehicle driver .
A. May drive at will when there is no traffic signal
B. Should drive according to the traffic rules and in a safe and courteous manner
C. May drive at will when there is no traffic police
D. May drive according to his habit
Answer: B
11211 HRALE W LIRS Y.
A
B. A WG 2 42 2 B
C.ad B9 57 i
DG
%%: D

1.1.1.11 The driver may drive a motorized vehicle
A. After drinking alcohol
B. When he suffers from a disease that impedes safe driving
C. When he is exhausted
D. After drinking tea
Answer: D
11112 AZHORACTHE BT 6 RN 0L BIRE SHE ML B3N, RN
Bk, X .
ABHTE BT 2k REE
B. T LA B LA 4 ) Ak 2
C. 7 LA B AT Bk ) Ak 2R

DAKIEIEATAT B B
H%: A

1.1.1.12 The traffic control department of the public security organ detains the driving license of a
motorized vehicle and if the driver’s accumulated penalty points reach

the stipulated limit.

A. Educated him on the law and regulations on road traffic safety
B. Detaind the motorized vehicle

C. Revoked the vehicle license
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1.1.1.13

1.1.1.13

1.1.1.14

1.1.1.14

1.1.1.15

D. Imposed administrative detention
Answer: A

THIAE THEBRASHEAE SRS .
ASTHAE FAT

B.AT IR R

C.ATIH & S 4R %

D.AZ B bR
%HZ: B

of the following are not road traffic signals.

A. Traffic lights

B. Traffic bulletin board
C. Command of the traffic police
D. Traffic markings

Answer: B
LR AN T8 B A A 5 .
AT

B. AT bR &
C AT & S 3R %
D. AT bk
HE: A
of the following are not road traffic signals.
A. Warning lamps
B. Traffic signs
C. Command of the traffic police
D. Traffic markings
Answer: A
U B s ARSI S TR S 4.

A A
B.HAT

C. I ey
DTS
&% B
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1.1.1.15 The illustrated hand signal of the traffic police indicates that the vehicles should

A. Turn right
B. Go straight
C. Turn left
D. Pull over
Answer: B

1.1.1.16 il s AC Il B 22 Fq 15 F A0 o e 2R o

AHAT

B AT /NI AT
C.Ie /NI AT
D.&EHF 7R
%H%: C

1.1.1.16 The illustrated hand signal of the traffic police indicates that the vehicles should

A. Go straight

B. Turn right sharply
C. Turn left sharply
D. Pull over
Answer: C

16



1.1.1.17 TN AL T VEAT R 4 o

ASEILE S

B4t

C.IeH7s

D.HAT

HE: A
1.1.1.17 The illustrated hand signal of the traffic police indicates that the vehicle violating the
traffic rules should

A. Pull over
B. Turn right
C. Turn left
D. Go straight
Answer: A
1.1.1.18 Z3HLEh4, WIUESF_ s,
ALIEAT
B. 74y
C. sy
D.Hh[alEAT
HE: A
1.1.1.18 When driving a motorized vehicle, the driver must obey the principle of
A. Right-hand driving
B. Left-hand driving
C. Inner lane driving
D. Middle lane driving

Answer: A
1.1.1.19 #AXISHSIEE. BV EEMNATERIER, Y% .
AAETE P IEAT

B.{EIE S ] AT
C.9AT /B IEAT
D. ] B3 AT
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HE: B
1.1.1.19 On the road not divided into the lane for motorized vehicles, the lane for non-motorized
vehicles and the sidewalk, the motorized vehicles should run

A. On both sides of the road

B. In the middle of the road

C. According to lanes

D. At will
Answer: B

1.1.1.20 MBI GBAAME SIS RERT, NS4 AT,
AJE bR &

BAZIEAS S AT (R4

C AT B SR

D.iE HbrZk

%%: C
1.1.1.20 When there is a traffic police on the spot to direct traffic, the motorized vehicle should
run according to

A. Road signs

B. Traffic lights

C. Command of the traffic police

D. Road markings

Answer: C

1.1.1.21  WLBNEEEA bR & rgkiiEes b, vy o
ABE AT
B. s AT

C A=A I DL R T3

DAEMIRZ 4y Wl i S T A7 5

%%: D
1.1.1.21 When running on the road having no traffic signs or markings, the motorized vehicle
should

A. Drive at will
B. Speed up
C. Stop and look before going ahead
D. Pass if it is safe to do so and the traffic is not obstructed
Answer: D
1.1.1.22 Wb 4AE A B BROE AR S RIE B EATREN, o
A NGB RLER W] ) ot e Ik
B. SAVRE I AR Wl f5 i NI 10%
C. AT DL I 2= ) o ey e v Il
D. 325 52 R i ey A AT L
HE: A
1.1.1.22 When running on the road having maximum speed limit signs, the motorized vehicle

A. Is not allowed to exceed the marked maximum speed
B. Is allowed to exceed the marked maximum speed by 10%

18



C. May run faster than the designed maximum speed of the vehicle
D. Should run at the stipulated maximum speed
Answer: A
1.1.1.23 B 4B BROERR S B B .
AN UL R e Bk 4 A T B
B. AN i PR
C.IW M RFF 2 4
D.#% H AT
%H%: C
1.1.1.23 When running in the road section having no speed limit signs, the motorized vehicle

A. Should run at the designed maximum speed of the vehicle
B. Is not subject to speed limit
C. Should run at a safe speed
D. May run at will
Answer: C
11124 HLEhGAEmIR sl B o R A faR Bk B, N o
A LU e v A sA T
BRI, A L
CORFFIUA B AT Bt
D. DA i F) e e 4 84T B
%%: B
1.1.1.24 When running at night or going through a dangerous road section, the motorized vehicle
should

A. Run at the designed maximum speed

B. Reduce speed and drive carefully

C. Maintain the existing speed

D. Run faster than the stipulated maximum speed

Answer: B
1.1.1.25 MW EEEYAR. KE. Wy H. F. 450K R LM, Ny T,
AL A

B. LU ) B e 4l

C. LAY

D. B fiid i

%%: D
1.1.1.25 When encountering sand, hail, rain, snow, fog, ice and other weather conditions, the
motorized vehicle should run

A. At a fairly high speed

B. Faster than the stipulated maximum speed

C. At the existing speed

D. At reduced speed

Answer: D
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1.1.1.26 HLEh 4l AT AT S AT ARG AT IR 5 A8 0 SRR (128 S I
IVE T
AR
B AT
C.i& 24 i i
D. PR FFAT Bl 5
%%: B
1.1.1.26 When going through an intersection that has no traffic lights, traffic signs, traffic
markings or traffic police, the motorized vehicle should
A. Go through rapidly
B. Reduce speed and go through slowly
C. Properly speed up
D. Maintain the existing speed
Answer: B
1.1.1.27 {E4ERBOMBE. B, PEhdEnY_ .
A fE IR S
BKIRAZ AT
C.hnige i i
DB iE4T 4L
%%: B
1.1.1.27 When running through a road section or intersection where lanes are reduced, the
motorized vehicle should
A. Move to another lane and overtake
B. Pass alternately
C. Speed up and pass
D. Jump to another lane and pass
Answer: B
1.1.1.28  FERAACIBA 5 (A8 X 1 IB B {5 2 HE A SR s SR 18 AT B, BLah izt o
A AT B
B ek 4
CARIAZ AT
D. 5 A A5 PR 4 4
%H%: C
1.1.1.28 When encountering slow-moving vehicles at an intersection that has no traffic signals, the
motorized vehicle should
A. Move to the right lane and overtake
B. Overtake from the left
C. Pass alternately
D. Cut in the waiting vehicles
Answer: C
1.1.1.29 Hlah4 A A AR 5 el kR L, W AT
A LLIEH %
B.ORFF 24 ik
C R s

20



D. 3% M AZ A 5 B BN A M FR 1
%2 D

1.1.1.29 When going through a level crossing with traffic signals or a manned level crossing, the

motorized vehicle should

manager

1.1.1.30

A. Pass at the normal speed

B. Maintain a safe speed

C. Speed up as fast as possible

D. Pass according to the traffic signals or obey the command of the level crossing

Answer: D

WS40 I A AT AR 5 B B BN A R TE B I, Y i
AFRFOR A 3AT L

B Jld #7154 ¢

C. s e i

D. B R 4474k

%HZ%: B

1.1.1.30 When going safely through a level crossing without traffic signals, the motorized vehicle

should

11131

A. Pass at the original speed

B. Slow down or stop and look

C. Speed up and pass as fast as possible
D. Closely follow the vehicle in front

Answer: B
MLEN AT NI NATRE RS, N2
AT EALAT

B.gefTid it

C. 52 ik
D32 g 3 ot
HE: A

1.1.1.31 When going through an unmanned level crossing, the motorized vehicle should

1.1.1.32

A. Go at the original speed
B. Closely follow the vehicle in front
C. Speed up and pass as fast as possible
D. Slow down or stop and look
Answer: D
PLEN AT AR S B, BT AR E R, N
AR, EAT APRE
B.nig AT
(OR B K S i
D.g¢4Til

HZE: C
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1.1.1.32 When running on a road without traffic signals and encountering pedestrians crossing the
road, the motorized vehicle should

A. Honk to urge the pedestrians to go faster

B. Speed up and pass

C. Reduce speed or stop and yield

D. Bypass
Answer: C

1.1.1.33 HLAhAAriEsk B AR, TR A bRy, 25 AR 37 BT S A B T
0, .

A4, DA AIE A Ui
BURFHLED 485 2 AN AT T 1R L 5 452 T8
CORBEA, JFAEART T BB B bRk
D. {5 4 Ja i
%%: B

1.1.1.33 When a motorized vehicle has a problem on the road and needs to stop and solve it, the
driver should immediately open the warning flash light and

A. Stop on the spot so as to avoid mechanical breakdown
B. Move the vehicle to a place where it does not obstruct the traffic
C. Stop the vehicle immediately and place a warning sign in front of it
D. Stop the vehicle and immediately report to the police
Answer: B
1.1.1.34  HLah4Aeibm b Atlbe, MELARESNN, e 2 RRETT 0 G B D
I, .
A SRS R b
B. I i 1 240 SR
CIFAER AT 1) e B AR
D7 R
%H%: C
1.1.1.34 When a motorized vehicle breaks down on the road and cannot be moved, the driver
should first turn on the warning flash light and
A. Concentrate on solving the problem
B. Seek help from the passing vehicles
C. Place a warning sign in the coming direction
D. Immediately report to the police
Answer: C
1.1.1.35 B HBIY . . TR F TR SRS, THbEm__ .
AT I AT
B. AT
CHLMFiLAT
DV ikAT
%%: D
1.1.1.35 When the police car, fire engine, ambulance and wrecker are executing an emergency
task, other vehicles
A. May speed up and join them
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1.1.1.36

B. May overtake with care

C. May yield depending on circumstances

D. Should yield

Answer: D

EBFF . TRARE ATk, DSR4 .
AF] LU

RVESH -y ialn

C.aJ KAIANEAT

D. N #ATHIE
%HZ%: B

1.1.1.36 When the road maintenance vehicle and the engineering vehicle are on duty, the passing

vehicles and people

1.1.1.37

A. May overtake

B. Should avoid with care

C. May not yield

D. Should stick to their respective lanes

Answer: B

BB AAE i 2 i b R, 8 P bR RN 2 BB AR 4R 4 T PAAb.
A.30 K

B.50 >k

C.100 >k

D.150 %

%2 D

1.1.1.37 When a motorized vehicle breaks down on an expressway, the warning sign should be

1.1.1.38

placed away in the coming direction.

A30 M

B.50 M

C.100 M

D.150 M

Answer: D

(RIS LA S, AN ST, BN .
ASLRMEROZ A N D1, IR 15 ) ) S0 4 5l 2 A e HILORAT T4 BT )
B IEURs 4588 )2 4 M Ty

CAHHE I, EAT A AR BE 103 3 I B i

D. Sk A A2 415 O

B A

1.1.1.38 When causing a road accident involving human casualties, the driver should

A. Immediately rescue the injured people, and report to the traffic police on duty or the

traffic control department of the public security organ as soon as possible

B. Move the vehicle to a safe place rapidly

C. Leave the scene and discuss compensation on his own
D. Check the vehicle damage first

Answer: A
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1.1.1.39

TEIER ERA SR ER, ERA ST, BRANY_, FREREHRE R
B AT BB A A BT

AT RIFERCZ A

B.IRHURs 4275 21 2 4 (1) H g

C.HUES I, BAT Y A1 FE 8 £ ey

D e B 442 it ol

HE: A

1.1.1.39 When causing a road accident involving human casualties, the driver should

, and report to the traffic police on duty or the traffic control department of

the public security organ as soon as possible.

1.1.1.40

A. Immediately rescue the injured people,

B. Move the vehicle to a safe place rapidly

C. Leave the scene and discuss compensation on his own
D. Check the vehicle damage first

Answer: A

PRI EARAEASE AN, RGBT, NS SR RS, Y
=

AR EEAE O, ORI LF LT, SRARAC T AR AL B

B. BT I, AT Ul AL B T I o

C A E I3
D.ARY UL, TEIRES 2 F] ER
%HZ: B

1.1.1.40 When causing a road accident involving no human casualties, the parties to the accident

should if they have no dispute over the fact and cause.
A. Park the vehicles in the original place, preserve the scene and wait for the traffic

police to handle

1.1.1.41

B. Immediately leave the scene and discuss compensation on their own

C. Not leave the scene

D. Preserve the scene and request the insurance company to assess the damage
Answer: B

PR A BERLEN A0, AR A BIE, JFAE 200 JEbl | 500 JTLA R i
o

Al12 4

B.6 ™H

C3MHUEB6AHUT

DAAMHELE3AMHETE

%%: D

1.1.1.41 A motorized vehicle driver who drives after drinking alcohol is subject to the temporary
detention of the driving license for and also a fine of 200 yuan ~ 500 yuan.

A. 12 months
B. 6 months
C. 3~6 months
D. 1~3 months
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1.1.1.42

Answer: D

PP e 2 LB ZE 0, HH A LA BT 2 R AP, kb SR 3
AHuLGAHuTmmﬁwﬁﬁ Jf4b 500 JoLL L 2000 JG AR K.

A.60 [

B.30 H

C.15 HYL

D.15 HULF
#HZ&: D

1.1.1.42 A motorized vehicle driver who drives after getting drunk should be restrained by the

1.1.1.43

traffic control department of the public security organ till he sobers up. In addition, the
driver is subject to a detention for , atemporary detention of his driving
license of motorized vehicle for 3~6 months and a fine of 500 yuan ~ 2,000 yuan.
A. 60 days

B. 30 days

C. More than 15 days

D. Less than 15 days

Answer: D

HOSESS . FoRLEh 45 A AL s s A TR

A.3000 Jo U |

B.20 JolA |- 200 st LAk

C.200 LA I 2000 JGLAR

D.2000 sckh I
K. B

1.1.1.43 The motorized vehicle driver who has deliberately covered or stained the license plate is
subject to a warning or a fine of

1.1.1.44

A. 3000 yuan

B. 20 yuan ~ 200 yuan

C. 200 yuan ~ 2000 yuan

D. more than 2000 yuan

Answer: B

AREAGHLEN 4 2 BHE B LS 4210, AT PR I #4 JERLE T3k 80, 3 mT A
Ihk_

AEBMTWW

B. 1 A 25 BlIE

C. A1 44

D.5 FEANRESH 2 BHIE
B A

1.1.1.44 1f a motorized driver who fails to obtain a driving license drives a motorized vehicle, the

traffic control department of the public security organ should impose a fine according to
the stipulations and may also

A. Detain the driver for less than 15 days

B. Revoke the driving license

C. Detain the vehicle

D. Ban the driver for five years from re-obtaining a driving license
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1.1.1.45

Answer: A

BLST) 252 BEE A 13 B B L 024 22 e e 1 () 22 B LB 2R 1Y), A e Al i B
TR R O E TSN, DR .

A S BIE

B.15 H LA~

C.5 FEANHEAN 25 BIE

D18 440

%HZ%: B

/|

1.1.1.45 If a motorized driver whose driving license has been revoked drives a motorized vehicle
or a motorized vehicle driver drives a motorized vehicle when his driving license is temporarily
detained, the traffic control department of the public security organ should impose a fine
according to the stipulations and may also

1.1.1.46

A. Revoke the driving license

B. Detain the driver for less than 15 days

C. Ban the driver for five years from re-obtaining a driving license

D. Detain the vehicle

Answer: B

BB 458 ARIAFHLS) 4= 2B UE A NS B, o> 22 A0 BRI 1] B SRR 1
FAL, AL

A.15 H BT

B. i1 A 25 BliE

C. A1 B 44

D.5 FEANG E BT IS 2 BE
Z%Z: B

1.1.1.46 If a motorized vehicle driver allows his vehicle to be driven by a person who has not

1.1.1.47

obtained a driving license, the traffic control department of the public security organ
should impose a fine according to the stipulations and may also
A. Detain the driver for less than 15 days

B. Revoke the driving license

C. Detain the vehicle

D. Ban the driver for five years from re-obtaining a driving license

Answer: B

b0 B R e I N ) R Y NS AR iR B L P R i/
A.100 LA |- 200 oA R

B.200 st I 500 JoLA

C.200 sckh | 2000 oLl R

D.2000 Juld I
B C

1.1.1.47 If a motorized vehicle driver causes a traffic accident and runs away but his conduct does
not constitute a crime, the traffic control department of the public security organ should impose a

fine of

A. 100 yuan ~ 200 yuan
B. 200 yuan ~ 500 yuan
C. 200 yuan ~ 2,000 yuan
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D. More than 2,000 yuan
Answer: C

1.1.1.48 GG RACIE HHUR IR, A AR ), 2 AT A B I BRI RE TR AN, Ik
CIPEIR S
A.15 H BT
B. 1 A 25 BliE
C. A1 B 44
D.5 AN BB AT 25 B IR
HE: A

1.1.1.48 If a motorized vehicle driver causes a traffic accident and runs away but his conduct does
not constitute a crime, the traffic control department of the public security organ should
impose a fine according to the stipulations and may also
A. Detain the driver for less than 15 days
B. Revoke the driving license

C. Detain the vehicle
D. Ban the driver for five years from re-obtaining a driving license
Answer: A
1.1.1.49  HLBNZAT BB R E NPT 72 50 1), H A 22 ATTI A BRI 14 Tk
A.100 LA |- 200 oL R
B.200 st | 500 JoLA
C.200 scbh | 2000 oLl R
D.2000 Jcld |
2, C
1.1.1.49 If a motorized vehicle runs 50% faster than the specified speed limit, the traffic control
department of the public security organ should impose a fine of
A.100 yuan ~ 200 yuan
B.200 yuan ~ 500 yuan
C.200 yuan ~ 2000 yuan
D. more than 2000 yuan
Answer: C
11150 IR AR AR HERIHLEN 4 IEHAT R 25N, &b 200 JELA L 2000 JC LA
TG I
AR RN
B AHAT SR
C. A 2 Bk
DR E kA ET
%H%: C
1.1.1.50 If a driver drives a motorized vehicle on the road, which has reached the write-off
standard, the driver is subject to a fine of 200 yuan ~ 2,000 yuan and
A. Should also be detained
B. The vehicle license should be revoked
C. The driving license should be revoked
D. The driving license should be temporarily detained
Answer: C
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11151 S5 @A EATAT B T e 1, AR AT BUE Tk E AT LR TR
A HE N BB AT
B. HIIH N R 2B s il AT
C. A ILHLEh - 25 B e
D.4b 15 FILA 468
s A
1.1.1.51 If a party fails to perform the decision on administrative punishment, the administrative
organ that has made the decision on administrative punishment may
A. Apply to the people’s court for enforcement
B. Apply to the people’s procuratorate for enforcement
C. Revoke the driving license of the party
D. Detain the party for less than 15 days
Answer: A

1.1.2 AWr@: (18 @)

1.1.2 Judgment Questions (18 questions)
1121 NAEPAE NS E G s EIAT s 3N A7 A SR NS TE R AT
I BN A SR AL AN N B AZTRE Y (e A RO [ 3 3 AT 2 4275
B IEH
1.1.2.1 All vehicle drivers, pedestrians, passengers on the roads, and all the units and individuals
who are related to the road traffic activities within the People’s Republic of China must
abide by the Law of the People’s Republic of China on Road Traffic Safety.
Answer: Right
1122 HlaifRaEsE M, Ll EEETR.
B R
1.1.2.2 A motorized vehicle without a license plate may run on the road.
Answer: Wrong
1123 ZYHLEL% LIEEATRE, JRE 4 LEh AT BIES
B IR
1.1.2.3 A person who drives a motorized vehicle on the road must bring the vehicle license with
the vehicle.
Answer: Right
1.1.2.4  HLBHA 5 N 4 F RS B I FORERIG 0T . 5688, ASHORER. V58
B IEH
1.1.2.4 The license plate of a motorized vehicle should be installed according to the stipulations,
should be clear and complete and should not be covered or stained.
Answer: Right
1125 Wi 4B R Nb et 22 AT BT 1 5 i ks, U e, 7 fEAEiE
e R
B I
1.1.2.5 A motorized vehicle driver may drive a motorized vehicle on the road only after he has
passed the tests administered by the traffic control department of the public security organ and
obtained the driving license.
Answer: Right
1126 AR Bt A e s FH P AR S EORFRMES BA 2 el B rILah 4.
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B IEH
1.1.2.6 Nobody is allowed to drive a motorized vehicle that has safety hazards such as
incomplete safety devices or technically substandard components

Answer: Right
1127 WRIAREERS, WL RHLEN %

B R
1.1.2.7 A person who drinks alcohol but is not drunk may drive a motorized vehicle.

Answer: Wrong
1.1.2.8 ”%Mﬂﬁ N 24N A AT R S

g HR

1.1.2.8 Driving a motorized vehicle should observe the left-hand driving principle.
Answer: Wrong

1.1.2.9 JEERIAPEAEIE. AFHShFETEMNATIER, Plah%. ANLEh 4. AT NSE4770
EWAT .
A IEf

1.1.2.9 If a road is divided into the lane for motorized vehicles, the lane for non-motorized

vehicles and the lane for pedestrians, the motorized vehicles, the non-motorized
vehicles and the pedestrians should use the lanes designed respectively for them.

Answer: Right
1.1.210 HEFATEEXEH, A4
B IEH
1.1.2.10 Motorized vehicles are not allowed to overtake at the intersections.
Answer: Right
11211 HUBIZEATELLER, AEARIEA R AR ST T nl DL 4.
B B
1.1.2.11 When a motorized vehicle passes a curve, it may overtake rapidly if no accident will
occur.
Answer: Wrong
1.1.212  Beitdm AR T 70 2 NS4, ARvFREN sl .
R B
1.1.2.12 A motorized vehicle whose designed maximum speed is less than 70km is allowed to
enter the expressways.
Answer: Wrong
11213 fEifdg EARAEASEAN, RN ST, s N R N 225 I
(1, N AR AL
K IEH
1.1.2.13 When a road accident causes human casualties and the vehicle driver needs to change
the scene for rescuing the wounded, the driver should mark the location.
Answer: Right
1.1.2.14 XTEBAZ W 2 AHFAT WAL TR GG B T, BN M
BE. HR
K IEH
1.1.2.14 The punishments against the violations of the regulations on road traffic safety include

warning, fine, temporary detention or revocation of the driving license, and detention.
Answer: Right

1.1.2.15 i IB M ASHE A e, KA RACE S, MAJETEN, KikiE
S FETUT, I AL HATIEE HE] 8 2.
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K IEH

1.1.2.15 If a person who has violated the provisions of the law and regulations on road traffic
safety and has caused a major traffic accident and if his act constitutes a crime, he
should be held for criminal liabilities according to law and his driving license should

be revoked by the traffic control department of the public security organ.
Answer: Right

1.1.2.16 3 AATHE UG R, A N IOASE A BT RIS A A RE, H&AA
FHEFTIUS LA 4 B B E
B IEH

1.1.2.16 If a person has caused a traffic accident and run away, the traffic control department of
the public security organ should revoke his driving license and ban him for lifetime

from re-obtaining a driving license.
Answer: Right

1.1.2.17  B5 NBUUIANBAN TR, AR AT B TR € AT BONLIC AT RAAE H 42 11 sk i i)
3% AL 11 3K o
B IEH

1.1.2.17 If a party fails to pay the fine within the time limit, the administrative organ that has
made the decision on administrative punishment may impose an additional fine at the
daily rate of 3% of the original fine.
Answer: Right

1.1.2.18  JEFEA 2Bl N R TeAA N 5 N A4 e e 4k A
B IEH
1.1.2.18 According to regulations, motorcycle driver and passenger should wear helmets.
Answer: Right

1. 2 ASWZRARSsE (77 8D
1. 2 Regulations for Implementing the Law on Road Traffic Safety (77 questions)
121 & (49)
1.2.1 Multiple-Choice Questions (49 questions)
1211 HlshFEmEd, AOfE__Fid.
AFER
BN
CALH
D4
HE: A
1.2.1.1 The registration of motorized vehicles excludes the registration of
A. Loss
B. Registration
C. Alternation
D. Revocation
Answer: A
1.2.1.2  CyENPECHLENA I N B T B0 AN 2 e B ATE  BE A5 X 8
BB BT N 2 i) B ACAZ LB 42 R A e LR Al A PR ] FR i
AT
B
CALH
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DRGER:E]
B C

1.2.1.2 If the residence of the owner of a registered motorized vehicle moves out of the area

1.2.1.3

under the jurisdiction of the traffic control department of the public security organ, the
vehicle owner should apply to the traffic control department of the public security
organ that has registered the vehicle for registration.

A. Registration

B. Transfer

C. Alternation

D. Revocation

Answer: C

BN R B0, 2 AT ) A MLE) 41 A e LRSS B 14
ACHIUEW] BAEIE o

ANLBN 2 BE

B. 245 A1 & 3 iE B
CHLENGAT R UE
DAL= A AU UE B . AEIE
HE: A

1.2.1.3 When applying for the transfer registration of a motorized vehicle, the certificate or

1214

document the party does not have to provide to the traffic control department of the
public security organ that registers this vehicle is

A. The driving license

B. The party’s ID card

C. The vehicle license

D. The certificate and document on the transfer of the ownership of the vehicle
Answer: A

M AC RPN 438 3 R S0 52 I s R R AR uE K, MLEh 4 A A 2405 44
FEAR PRI AT .

AL IR S B

B A4 WL A i Al

CATHT oy LN RATI A PR ]

D. AT 45 T8 H Az Hi e B )

%%: B

1.2.1.4 If a registered motorized vehicle reaches the state’s mandatory write-off standard, the
owner of the vehicle should before the expiration of the write-off
period.

A. Sell it to the waste recycling station

B. Sell to the vehicle recycling enterprise

C. Hand it over to the traffic control department of the public security organ
D. Hand it over to the department in charge of road transport administration
Answer: B

1215 Hi4 by Sh. ATRHEEREGE R, HLEh R N HRIAN AR, N

] $RACAN B G UE TR B AL o

ASZIEFET]
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1.2.1.5 If the registration paper, license plate and vehicle license of a motorized vehicle are lost
or destroyed and the vehicle owner applies for reissuing them, the owner should

1.2.1.6

B. A LN AT B HE ]
C. L]
D.fRE& 2 ]

%HZ%: B

provide his ID card and application materials to the

A. The transport department
B. The traffic control department of the public security organ

C. The department in charge of industrial and commercial administration

D. The insurance company
Answer: B

FEFEA 4 SFLAA R K5 1 UK.
Al

B.2 4F

C3%

D.4 4

%HZ%: B

1.2.1.6 The motorcycles should be inspected once every four years within

1.2.1.7

1.2.1.7 The motorcycles should be inspected once every year when it exceeds as from the

A. 1 years

B. 2 years

C. 3years

D. 4 years

Answer: B
FEFCAAMIEE I, RREER 1 K.
Al

B.2 4F

C3%

D.4 4

%HZ: D

date of registration.

1.2.1.8

1.2.1.8

A. 1 year
B. 2 years
C.3 years
D. 4 years
Answer: D

BLBhZE 2 B AHTIR FRAHL BN 225 B fa i s
A31MH
B.6 ™
C124H

D.24 ™ H
EE: C
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period of probation.

A. 3 months
B. 6 months
C. 12 months
D. 24 months
Answer: C
1219 WS BBUEA R AL 10 SR,
Al
B.2 4F
C54F
D.6 4
%%: D
1.2.1.9 The period of validity of a motorized vehicle driving license is respectively _ , 10
years and lifelong.
A. 1 year
B. 2 years
C. 5 years
D. 6 years
Answer: D
1.2.1.10 ERRATIE A EVEAT A BRI
A3 H
B.6 ™H
C12/1H
D24 H
%H%: C
1.2.1.10 The cycle for recording the accumulated penalty points for violating road traffic safety
regulations is
A. 3 months
B. 6 months
C. 12 months
D. 24 months
Answer: C
12111 Wi 4B ANRTHC AR 12 7p, SEASIN A LA BRI 13l J0 572 2]
WAEZ IR, BA L AT BT
AR L BE S 1R H]
BB L2 R
C. iR L2 B e
D FEIn A% Ak BL TR
HE: A
1.2.1.11 If the accumulated penalty points of a motorized vehicle driver reach 12 points and the
driver refuses to participate in the study course notified by the traffic control
department of the public security organ and also refuses to take tests, the traffic control
department of the public security organ .
A. Should publicly announce that his driving license should no longer be used
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B. Should detain his driving license
C. Should revoke his driving license
D. Impose a double fine on him
Answer: A
12112 WIS FHBIEER. B8, PLEh 2B NHIEANAK, N1 $RASA N B IE
BRI AR
A. ii_ﬁll Il
A HLRAS T BT ]

C.I R
D. bRt P
%%: B

1.2.1.12 If a motorized vehicle driving license is lost or destroyed and the motorized vehicle
driver applies for reissuing it, the driver should provide his ID card and application
materials to the
A. The transport department
B. The traffic control department of the public security organ
C. The department in charge of industrial and commercial administration
D. The local police station
Answer: B

12113  HLENAAEBA BROEARE  FRee iDL BT RS b /O R 3ok 738 00 B ey
A30 ~H
B.40 KL
C.50 ~H
D.70 ~ H
s A

1.2.1.13 When there is no speed limit sign or marking, the maximum speed for motorized

vehicles on an urban road without the central dividing line is

A. 30km
B. 40km
C. 50km
D. 70km
Answer: A

1.2.1.14  HLEhHAERA BOEARE . FREERIIEOLT , B TE B O i 2 %R0 E d v I 3k
A30 ~H
B.40 KL
C.50 ~H
D.70 A H
%%: B

1.2.1.14 When there is no speed limit sign or marking, the maximum speed for motorized
vehicles on a highway without the central dividing line is
A. 30km
B. 40km

34



1.2.1.15

C. 50km

D. 70km

Answer: B

PUBIZAAE BT BREAR &R . bRZe IGO0, WA R 7 1) AT — S LB 438 1) 2 B
E I TR

A.30 A HL

B.40 ~

C.50 A HL

D.70 ~H

ZE: D

1.2.1.15 When there is no speed limit sign or marking, the maximum speed for motorized

1.2.1.16

1.2.1.16

vehicles on an urban road with only one lane for motorized vehicles in the same
direction is

A. 30km

B. 40km

C. 50km

D. 70km

Answer: C

LA (RAERHL. WA 50U INUIRA-A) BNkl i ARRLBh 438, B
I AE L .

A30 ~H

B.40 ~HL

C.50 ~H

D.60 A H

HE: A

When a motor vehicle (expect tractor, electric power cart, self-propelled wheeled

machinery) enters or leaves the lane for non-motorized vehicles, the maximum speed
should be no more than

1.2.1.17

A. 30km

B. 40km

C. 50km

D. 60km

Answer: A

BLE4 (BRIERHL. B4, N -INURZAES) fefisk. 25, TFREBN, &
eI AL .
A.30 A HL

B.40 ~

C.50 A HL

D.60 v H

BE: A

1.2.1.17 When a motor vehicle (expect tractor, electric power cart, self-propelled wheeled
machinery) makes a U turn, makes a turn or goes down a slope, the maximum speed
should be no more than

A. 30km
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B. 40km
C. 50km
D. 60km
Answer: A
12118 YN GES, MY
AT 1R A 0 e
B. M 4 FR) 2 M e
C. AT AN 25 et
D. AN B
K. B
1.2.1.18 When a motorized vehicle overtakes, it
A. Should overtake from the right side of the vehicle in front
B. Should overtake from the left side of the vehicle in front
C. May overtake from both sides of the vehicle in front
D. May not obey the speed limit
Answer: B
1.2.119 {ERAEBRTOLIER L, 48RS RIBAE SR, MY
ARFFIEAIRSATEE
B. IR T Bt
CRd 5 4k AT
DAESAFVFRT LT, N PR e ik
%%: D
1.2.1.19 When a following vehicle gives overtaking signals on a road without a central dividing
line, the vehicle in front should
A. Maintain the original speed
B. Speed up
C. Swiftly stop and yield
D. Reduce speed, move to the right side and yield if conditions permit
Answer: D
12120 SAPIEH— ARG, U7 FERNALERI_SEAT
A TGRS — 7 kX
B. Gk B A AR K — 7 kX Ty
CATBERG I — 7 kX Ty
D38 B2 PR PR UL B 1

B C

1.2.1.20 If there is an obstacle on one side of a road where two vehicles cross each other,
should go first.
A. The vehicle that has no obstacle in front
B. The vehicle that has no conditions to yield
C. The vehicle that has obstacle in front
D. The faster vehicle
Answer: C
1.2.1.21 A [A)S 5 N AR BEARDN 7 ) >Rk 2E_ SOHIE AT
A50 KLIA
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B.150 K LA 4h

C.30 KL

D.100 K LAY

%%: B
1.2.1.21 When crossing each other at night, the vehicle should change to the low beam light at a
distance of from the coming vehicle.

A. Less than 50 meters
B. More than 150 meters
C. Less 30 meters
D. Less than 100 meters
Answer: B
12122 HLEhGATAA S L AR, 8 R A8 T 42 IEAE SR BAT R S I, W
A NFEGAT I I %
B IS\ 5 A 4 L
C WA AT 1
D AR A5 445 A
%%: D
1.2.1.22 A motorized vehicle that will turn right at an intersection but has a vehicle in front in the
same lane waiting for the green light should .
A. Bypass the vehicle in front from the left side and go through the intersection
B. Honk to indicate the vehicle in front to yield
C Bypass the vehicle in front from the right side and go through the intersection
D. Stop and wait for his turn
Answer: D
1.2.1.23 AERAIT R E SIS X, .
AR INLB) AL HAT AT
B. HAT LB Ak e 25 (R 4 s AT
C AR J7 AT Bl e e B Ll Al e A A oA
D. WA BA GeA Tl o i 1
HE: A
1.2.1.23 At an intersection that has no directional traffic lights, .
A. The motorized vehicle that will turn should yield to the vehicle that will go straight
B. The motorized vehicle that will go straight should yield to the vehicle that will turn
C. The motorized vehicle in the opposite direction that will turn left should yield to the
vehicle that will turn right
D. The vehicles should bypass from the left or right side and go through the
intersection

Answer: A
1.2.1.24 P4 WA ARG S A s, MY AT,
ALZe T B R 7R
B.ibAT Uy s KA
C.Ief s 2 b Ay
D. BAT 4L 25 4k

%HZ: B
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1.2.1.24 A motorized vehicle that goes through an intersection without the traffic lights should

1.2.1.25

A. Yield to the vehicle coming from the left side of the road
B. Yield to the vehicle coming from the right side of the road
C. The vehicle that turns left should yield to the vehicle that turns right
D. The vehicle that goes straight should yield to the turning vehicle
Answer: B
WLh 4230 3 A AT AR 5 KTt v A AT 3 B SRR 58 % 11, AR T 1) A7 3
.
A BAT AL B 25T
B.Zr i Al A A AR5
C AT FoA L IE S 2R 5eAT
D. A nl B R AT
%H%: C

1.2.1.25 When the motorized vehicles go through an intersection that has neither traffic lights nor

1.2.1.26

traffic police to direct traffic, the vehicles coming in the opposite directions

A. The vehicle that goes straight should yield to the vehicle that turns left
B. The vehicle that turns left should yield to the vehicle that goes straight
C. The vehicle that turns right should yield to the vehicle that turns left
D. The vehicles may go through as they wish

Answer: C

WU 238 AR J5 A8 X% I AC BB ZE RS, WY o
AARASFAE R T LA, ANSE AR

B.NZEGEAT, Wikl i1

C ALY, Wikl i1

D.ifldsisk, WATHE

B A

1.2.1.26 A motorized vehicle that encounters a traffic jam at the intersection in front should

1.2.1.27

A. Stop outside the intersection and wait, instead of entering the intersection
B. Bypass from the left side and manage to go through the intersection

C. Bypass from the right side and manage to go through the intersection

D. Make a U turn immediately and leave in the opposite direction

Answer: A

DIRZIRIESIE B S el |y S B NS (R I VA I
A7 40P 0 25 4

B BT 440 2

CMNHT 7 450 A ]

D AKX HEBA

%HZ%: D

1.2.1.27 When a motorized vehicle has motorized vehicles stopping and waiting in line in front,
the vehicle should

A. Weave through the vehicles in front from both sides
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1.2.1.28

B. Overtake the vehicles in front from the left side

C. Overtake the vehicles in front from the right side
D. Queue up

Answer: D

BB AAEEA BT LB AR TR, N
A7 40P 0 25 4

SRETS LR

C. NI 75 44500 g 00 e

DRIV I

%2 D

1.2.1.28 When a motorized vehicle that has motorized vehicles in front moving forward slowly,
the vehicle should

A. Weave through the vehicles in front from both sides
B. Stop and wait

C. Overtake the vehicles in front from both sides

D. Follow the vehicles in front

Answer: D

1.2.1.29 WLah% ) el | ) feAR HATE . ERGE AL, B A g SR, Y AR AT
AJF 2R T
BT fE Kk B DG LT
CIFIR A B 1 AT
DRUIR SN SR (I E LIMEE Y
HE: A
1.2.1.29 When a motorized vehicle turns left, changes to the left lane, prepares to overtake,
leaves a place where it has stopped, or makes a U turn, the driver should in
advance.

1.2.1.30

A. Turn on the left-turn signal

B. Turn on the warning flash light

C. Turn on the right-turn signal

D. Make hand signal to other vehicles
Answer: A

LB AR AR A AE o8 SRR ml Je 4500 . SRR R, R
] 0

A TR FE AR E DT

BT s O A A
CIFIR A B 14T

D.JFJA e ) k]

BE: C

1.2.1.30 When a motorized vehicle turns right, changes to the right lane, returns to the original

lane after overtaking or pulls over, the driver should in advance.
A. Turn on the warning flash light

B. Make hand signals to other vehicles

C. Turn on the right-turn signal
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D. Turn on the left-turn signal
Answer: C
12131 WAV GBHESE . SOE T 50 W 2 AL BN, WY .
AEIRI, PR
B.ykigt 5247, FFMgMmR R

C A & KA B NS

D. Bt AT

%%: B
1.2.1.31 When a motorized vehicle runs close to a sharp curve, the top of a slope or other
sections that affect the safe visibility range, the driver should and honk to indicate the

intention.
A. Speed up and go forward
B. Reduce speed and go slowly
C. Use the warning flash light
D. Go forward at will
Answer: B
1.2.1.32 WLV 4AERIANE S B ASIEAR 50T A X I I, W .
A IZ AT
B. LT
C A & KA B NS
DA I 6] s
%%: D
1.2.1.32 When a motorized vehicle goes through an intersection that has no traffic lights, the
driver should .
A. Use the high beam light
B. Use the low beam light
C. Use the warning flash light
D. Use the high and low beam lights alternately to indicate the intention

Answer: D
1.2.1.33  WLANELEAT A LAMA A TR A= 2 iy, Y
ATEAENLB AETE 54

B. 44T J7 17) S B A7 1A T, AR @i A 4= A4 T AT
C.ZIWAT 5 v FEE i /o 345 T

Dk PR IL1F 4

Z%E: B

1.2.1.33 When a motorized vehicle stops temporarily at a place other than a parking lot, it should

A. Stop in the lane for non-motorized vehicles

B. Stop at the right side of the road in the coming direction, but should not obstruct the
flow of other vehicles and pedestrians

C. Stop at the left side of the road in the opposite direction

D. Stop at the roadside

Answer: B
1.2.1.34 B AEEEAC SR 1L ik, it BEd. BRE_ DUNAHERS 4=,

40



A.20 K
B.30 >k
C.40 %
D.50
% D

1.2.1.34 A motorized vehicle is not allowed to stop to an intersection, a curve, a
narrow road, a steep slope, and a tunnel.

3.2.1.35

1.2.1.36

1.2.1.36

1.2.1.37

A. 20 meters

B. 30 meters

C. 40 meters

D. 50 meters

Answer: D

PEFEAARTE RS R AT, Wi AT I SOME LIRS B 1), 444 € T i A
MG MR & S hRa& .
A.10 K %2 20 K

B.20 >K %2 30 >k

C.50 K % 100 >k

D.100 >K 42 150 >k

BHE: C
PMUBIAAE NATREE . il CHbB .

A AT DA 45 4

B. ] LABE =45 7

C. ] LK I )5 4

D.AHE S

ZHE: D

A motorized vehicle in the crosswalk and construction section.
A. May stop temporarily

B. May stop at will

C. May stop for a long time

D. Is not allowed to stop

Answer: D

PEFCAEE, AR AT .
A.15k

B.2 k

C.2.5 %

D.3 K

B A

1.2.1.37 When a motorcycle loads goods, the height should not exceed from the ground.

1.2.1.38

A. 1.5 meters
B. 2 meters
C. 2.5 meters
D. 3 meters
Answer: A

EEFEG Y, KEASEHES
A2 K
B.1k
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C.0.5 %
D.0.2 K

%HZ: D

1.2.1.38 When a motorcycle loads goods, the height should not be longer than the

motorcycle.
A. 2 meters
B. 1 meter
C. 0.5 meter
D. 0.2 meter
Answer: D

1.2.1.39
A.0.15 K
B.0.20 >k
C.0.25
D.0.5 k
HE: A
1.2.1.39 The width of loaded goods should not exceed
bars of a two-wheel motorcycle.
A. 0.15 meter
B. 0.20 meter
C. 0.25 meter

D. 0.5 meter
Answer: A

R PRI ) .
AN A5 0.15 K

B AL 4 5
C.AHHE I 4 £ 0.20 K
DAL %5 0.25 K
Z%E: B

1.2.1.40 The width of loaded goods should
A. not exceed 0.15 meter

B. not exceed

C. not exceed 0.20 meter

D. not exceed 0.25 meter
Answer: B

1.2.1.41 EIEHJG BEATIIRA ARG PRI
Al12 5%
B.13 JH %
C.14 i %
D.15 JH %

B A

1.2.1.40

PIEEPEFE AR TE e A S AT IR A .

from both sides of the handle

from a three-wheel motorcycle.

1.2.1.41 Children who have not reach cannot sit on the back seat of a motorcycle.

A. 12 yearsold

B. 13 yearsold

C. 14 yearsold

D. 15 years old

Answer: A
BERESE Y .
ATTRREAH 12 J8 2 DL IR e A
B. A BA3R#H 18 J4 % LB IKEE A

1.2.1.42
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CAREAN
D. 7 fedd ke Hir )L
%H%: C
1.2.1.42 Alight motorcycle .
A. can carry children who do not reach 12 years old
B. can carry adults who are more than 18 years old
C. cannot carry people
D. can carry preschoolers
Answer: C

1.2.1.43 L HAE il A B IR RATRN, B AR TR .
A50 ~H
B.60 2~ HL
C.70 ~
D.80 A H
%%: B
1.2.1.43 When a motorized vehicle runs normally on the expressway, the minimum speed should
nothelessthan__ per hour.
A. 50km
B. 60km
C. 70km
D. 80km
Answer: B
1.2.1.44 D% NIEIEFN G AR, NSITE_, fEAYIG CAE Rl 2 B N INLE) 4
IEFATRI RO R BN GG .
A JERE AT
BAHC 14T
CIERARE NDEAT
D. Hif AT
HE: A
1.2.1.44 When a motorized vehicle runs from the ramp to the expressway, it should turn on
and enters the carriageway unless it does not obstruct the normal running of

the motorized vehicles already on the expressway.
A. The left-turn signal

B. The right-turn signal

C. The warning flash light

D. The head light

Answer: A
12145 HLEh 4Bl sm a B, NESIFR L, BRI, BRI A B .

A JERE AT

BAHE 14T

CIERARE INDEAT

D. Fir AT

%%: B
1.2.1.45 When a motorized vehicle leaves the expressway, it should turn on ___, changes to
the speed-reducing lane and reduce the speed before it leaves.

A. The left-turn signal

B. The right-turn signal

C. The warning flash light
D. The head lights

Answer: B

1.2.1.46 MW HFAERE AR EATHE, BA%. W, T, A IEERRE L AR,
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1.2.1.46 When a motorized vehicle runs on the expressway in foggy, rainy, snowy, sandy, hailing
and other weather conditions with a visibility range of less than 50 meters, the speed
should not exceed per hour.
A. 60km
B. 40km
C. 20km
D. 50km
Answer: C
12147 fEmn B AT RS L B .
A.80 ~HL
B.90 2~ HL
C.100 A~ H
D.110 A~ ¥
HE: A
1.2.1.47 When a motorcycle runs on the expressway, the speed should not exceed _ per
hour.

A. 80km

B. 90km

C. 100km
D. 110km
Answer: A

1.2.1.48 HLahFE5SHlah% . ILah4 5 AENIh 4 Al i b A ARG RN B 1 T ATl 2t
i NSRS SR AT U, AN .
ASEELY ), BAT I S A
B. REAA=AE M, PRIIFEL, SRl E Stk b B
C.HU b A B FE W A e
DRI EL, 1 IRES 2 ] E 4
HE: A

1.2.1.48 If a motorized vehicle has a road accident with another motorized vehicle or with a
non-motorized vehicle that has caused no human casualties and if the parties have no
dispute over the fact and cause, the parties should
A. Leave the scene and discuss compensation on their own
B. Park the vehicles on the scene, preserve the scene and wait for the traffic police to
handle the case
C. Discuss compensation on the scene
D. Preserve the scene and request the insurance company to assess the damage
Answer: A

1.2.1.49 HENEIHEh %, BEASFFA N HHA 30 HNAEZALE, 202k
AT AR T A A AR AT, KI5 E.
A1MH
B.3MH
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C6/MA

D.124H
%%: B

1.2.1.49 If the driver, owner or manager of a detained motorized vehicle fails to accept the
punishment within 30 days and still fails to accept the punishment _ after the

public announcement by the traffic control department of the public security organ, the

vehicle shall be sold by auction.
A. 1 month

B. 3 months

C. 6 months

D. 12 months

Answer: B

1.2.2 . (2880

1.2.2 Judgment Questions: (28 questions)

1221 WIEHLBI GRS, AN 2 [ GICiZLE) 41 A L HLOCATIE A PR 148
BB % .
B IEH

1.2.2.1 When applying for the transfer registration of a motorized vehicle, the party should have
the vehicle inspected by the traffic control department of the public security organ that
has registered the vehicle.
Answer: Right

1.2.2.2 ML BNAE LA NI BARE B 12 75, R A TTECRBEN TN, d sy
7 LG .
B B

1.2.2.2 If the penalty points of a motorized vehicle driver fail to reach 12 points in one scoring
cycle but the fines have not been paid up, the points will also be eliminated.
Answer: Wrong

1223 HLEh BB ARPIE A BHEE R, DR LA BLEh 4.

7|<: N

1.2.2.3 If the driving license of a motorized vehicle driver is lost, the driver can still drive a
motorized vehicle.
Answer: Wrong

1.2.2.4  HLBEZEIENTIHLE) 42 B d Ik 3 12 401, A4 NLE0 4.

H: 1B

1.2.2.4 If a motorized vehicle driver has received 12 penalty points, the driver is not allowed to
drive a motorized vehicle.
Answer: Right

1225 W ELBRERIE L. 25 H. . RN, S A TR AN B 30
~H.
B IEH

1.2.2.5 When a motorized vehicle crosses a level crossing, a sharp curve, a narrow road or a
narrow bridge, the maximum speed should not exceed 30 kilometers per hour.
Answer: Right

1.2.26 WIAMEAH. NSNS 20N N 28 I 6T .

7|<: %Eul%

45



1.2.2.6 When a motorized vehicle crosses a non-motorized vehicle on a narrow road or a narrow
bridge at night, the motorized vehicle should use the high beam light.

Answer: Wrong
1.2.2.7 WA AR S i M AN 3k
B IEH
1.2.2.7 A motorized vehicle is not allowed to make a U turn at the place that has a sign
prohibiting no left turn.
Answer: Right
1.2.28 MBI LLIERERS X L BEIE D, ST B BT 81
B B
1.2.2.8 A motorized vehicle may reverse at an intersection, in a tunnel, and a one-way road.
Answer: Wrong
1.2.29 (R FIETERE L, HLBh4 N AL BT 2077 1 BN 3 ) 4238
B IEH
1.2.2.9 At an intersection that has the guide lanes, the motorized vehicles should enter the guide
lanes according to the directions they are headed for.
Answer: Right
1.2.210 AEIEHFITI A 2 LA ENLEDATE R, BEFEA N e f 2o 0 A AT
R B
1.2.2.10 At a road that has more than two vehicle lanes in the same direction, the motorcycles
should use the very left one.
Answer: Wrong
12211 =RPEFEAEM I SAVFEIL 4 5 0.15 K.
R B
1.2.2.11 The width of loaded cargo of a three-wheel motorcycle is allowed to exceed 0.15 meter
from the body of the motorcycle.
Answer: Wrong
12212 BAEEEFL 4R Sevrafesli o i i L
B B
1.2.2.12 A light motorcycle is only permitted to carry preschoolers.
Answer: Wrong
12213 JFESCHEARAEGIEFLY, (HAVFRILEFE S 425]
B B
1.2.2.13 A motorcycle cannot tow other motorcycles, but it is permitted to be towed by other
motorcycles.
Answer: Wrong
12214 U AT B 4HE, HAT RN .
R B
1.2.2.14 While driving a motorcycle, it is permitted to keep one hand on the handlebar but not
allowed two hands leave handle bars at the same time.
Answer: Wrong
12215 BTN ASEAI et ih.
B IEH
1.2.2.15 While driving a motorcycle, nothing is permitted to hang on the handlebars.
Answer: Right
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1.2.2.16  SFeARPIREEEFE 4= 1 NN 00 1) g A4
B B
1.2.2.16 People who take a two-wheeled motorcycle should ride it by side way.
Answer: Wrong
12217  FEATHEARAG s w4 mazs] .
B IEH
1.2.2.17 A motorcycle is not permitted to tow other vehicles or to be towed by other vehicles.
Answer: Right
1.2.218 AERAIBE A JEIRJEAEX N, HLEh% N REAT o, kAT A
e SR
1.2.2.18 The motorized vehicles should drive slowly and yield to the pedestrians in the
compounds of the units or in the residential areas.
Answer: Right
1.2.219 AERAZBEN JERFEAEX A BGERR G R, HLal4E N 2 54 R AR AT
B IEH
1.2.2.19 The motorized vehicles should drive according to the speed limits shown on the speed
limit signs erected in the compounds of the units or in the residential areas.
Answer: Right
12220 BLhHAE g LATRE, SR8 T4 1 fe M B A>T 30 K.
R B
1.2.2.20 When a motorized vehicle runs on the expressway, its minimum distance with the
vehicle in front in the same lane should not be less 30 meters.
Answer: Wrong
1.2.2.21 HlahFAemd Am LATH, @A % . 5. A IRESREELER S, BER
JEANT 50 KIN, AEMATHE IS BRI 20 2B, JF SR A
(o SIS
1.2.2.21 When a motorized vehicle runs on the expressway in foggy, rainy, snowy, sandy, hailing
and other weather conditions with a visibility range of less than 50 meters, the vehicle
should not drive at a speed of more than 20 kilometers per hour and should leave the
expressway from the nearest exit as soon as possible.

Answer: Right
1.2.2.22  PEFRAZEAr st A br LAk B R BT 4
R B
1.2.2.22 When a motorcycle runs on the expressway, it can overtake from the road shoulder.
Answer: Wrong
1.2.2.23  HLANGAE Rl A B _EAFHEN 4 AT Zlrh ey B g Sk sl EAT FIE NI A
B IEH
1.2.2.23 When running on the expressway, the motorized vehicles are not allowed to reverse,
drive in the opposite direction, make a U turn by crossing the central divider, or stop in
the carriageways.
Answer: Right
12224 WV GAERIE AR EATHE, ARR S OUN T LR S B AT B 5 4.
B B
1.2.2.24 When running on the expressway, the motorized vehicles may drive or stop in the
emergency lane in non-emergency cases.
Answer: Wrong
1.2.2.25  BLEh4AE R 2 B I Al s ik T8 A, T LU
B B
1.2.2.25 The acceleration lane or the deceleration lane of the expressway allows the motorized
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vehicles to overtake.
Answer: Wrong
1.2.2.26  HLah 4 R AT HHUG 29 NI 1), AR R 2 DUE.
B B
1.2.2.26 If a motorized vehicle causes a road accident and the party runs away, the party is not
held full liable for the accident.

Answer: Wrong
1.2.2.27 NN A ZHIRASIE G BT ] S ATl B L I AL AT BUREAT Wik A R o
e SR
1.2.2.27 The party has the right to make presentation and defense against the punishments meted

out by the traffic control department of the public security organ or the traffic police.
Answer: Right

12228 PRCFESCAAE Mk A BRAT I, AN
B IEH

1.2.2.28 When running on the expressway, a two-wheeled motorcycle cannot carry people.
Answer: Right

13 ik (78D
1.3 Criminal Law (7 questions)
131 EFEE. (38D
1.3.1 Multiple-Choice Questions (3 questions)
1311 JFEEABBARAGESER_, A7 HF LR 15 UM A HIGER
AR AR
B.EANE i)
R N S B E DN PN
D. IR ENFET
%%: D
1.3.1.1 If a motorized vehicle driver has caused a traffic accident , the driver is
subject to a prison term of 7 years ~ 15 years.
A. That has caused major consequences
B. That has caused serious injury
C. That has caused heavy loss to public or private property
D. And has run away, which has caused human death,
Answer: D
1.3.1.2 JEFLLAE 5 NP ST s s B R A R, SN AT A
AN 7= 1 52 TR URAL AT A SR R, b DU A AR 2 445
AL
B.2 4F
C3%
D.4 4
%H%: C
1.3.1.2 If a motorized vehicle driver has caused a major accident in violation of the traffic
regulations which has caused serious injury, death, or heavy loss to public or private
property and which constitutes a crime of traffic accident, the driver is subject to a
prison term of less than or a criminal detention.
A. 1 year
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B. 2 years
C. 3 years
D. 4 years
Answer: C
1.3.1.3  JEFLAE G NAT I 3z i 2 g J5 11 AT HARRr ST, b AT IAER
A3 LU ETHELUE
B.2 fELL E B 4ELLF
CLAELLE3HELT
D34 LB 4ERIR
HE: A
1.3.1.3 If a motorized vehicle driver runs away or commits other extremely serious acts after
causing a traffic accident, the driver is subject to a prison term of
A. 3 years ~ 7 years
B. 2 years ~ 5 years
C. 1 year ~ 3 years
D. 3 years ~ 5 years
Answer: A

132 FWE. (47
1.3.2 Judgment Questions (4 questions)
1321 JEEA BB NAZEE RS RRE), b 3L 7 LU IREN.
%% IEM
1.3.2.1 A motorized vehicle driver who escapes after causing a traffic accident is subject to a
prison term of 3 years ~ 7 years.
Answer: Right

1.3.2.2 A N\ATHEFRRBSCToN, A7 LR 15 4E LU IRETR .
B IEH

1.3.2.2 If a motorized vehicle driver escapes after causing a traffic accident which has caused
human death, the driver is subject to a prison term of 7 years ~ 15 years.

Answer: Right

1.3.2.3  PEFEAH R NDIE S Agilis iy B, A AR R i, BONEA L SETCHIAL 3
UL AT IE I Bl 4045 o
R B

1.3.2.3 If a motorized vehicle driver has caused a major accident in violation of the traffic

regulations which has caused serious injury or death, the driver is subject to a prison
term of more than 3 years or a criminal detention.
Answer: Wrong

1.3.2.4 PEFESA A0 NN A s s B, TR AT R, AR P R FER
PR AT S BEAR Y, AE 3 4 LA A AR sl Hh 43

%% IEM

1.3.2.4 If a motorized vehicle driver has caused a major accident in violation of the traffic
regulations which has caused heavy loss to public or private property and which
constitutes a crime of traffic accident, the driver is subject to a prison term of less than
3 years or a criminal detention.

Answer: Right

14 RyEEN (578D
1.4 General Principles of the Civil Law (5 questions)
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141 P (18D
1.4.1 Multiple-Choice Questions: (1 question)
1411 Hlah4-BR AR SO, 0 R it A A R A SR IE 1 R
i
A BRIE ]
B8 o oL 0 ) PR
CHEmtiA
D AR I it
HE: A
1.4.1.1 When avoiding an emergency, a motorized vehicle driver does not assume civil liability
or just assume a proper degree of civil liability for the damage arising from

A. Natural causes

B. Excess avoidance

C. Inappropriate measures
D. Failure to take measures
Answer: A

142 FWE: (48D

1.4.2 Judgment Questions: (4 questions)

1421 FEFRABBARDATN, NAHAZE HH IR H T,
H: 1B

1.4.2.1 A motorized vehicle driver who has injured a pedestrian should assume the civil liability
for traffic accident.

Answer: Right
1422 JEFCZ B CORERS h 2BE A IR AN 2o Al N ilebifl, AN 2R IR 504
B BT
1.4.2.2 When avoiding an emergency, a motorized vehicle driver does not need to assume civil
liability for the injury of other people arising from his inappropriate measures.

Answer: Wrong
1423 PEFEA AR NAESCE R, B TR FAR A NG A, N R R
HIE.
B IEH
1.4.2.3 If a motorized vehicle driver infringes upon the property and personal safety of other
people in a traffic accident arising from his fault, the driver should assume civil liability.
Answer: Right
1424 PEFEAIEFATH, RN\ SIET, 250NN 2 40 R 8 5T AR A Y AR 47 B
A,
B R
1.4.2.4 If a normally running motorized vehicle has accidentally caused serious injury or death of
other people, the driver should assume criminal liability and related administrative
liability.
Answer: Wrong

15 EBRACH R AERAT A BRE P E (17 7D
1.5 Procedural Regulations for Punishing the Violations of the Regulations on Road Traffic
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Safety (17 questions)
151 EFEE: (68D
1.5.1 Multiple-Choice Questions: (6 questions)
1511 HABKIEUBEARELRBAT MEEFE S, ATHE S LAY .
A.&Llﬁz
B.fIIH
Cansk
D. ik
%%: B
1.5.1.1 With regard to the motorcycle that is suspected of stealing and cannot be immediately
released, the traffic police may __ onthe spot.
A. Confiscate it
B. Detain it
C. Auction it
D. Impose a fine
Answer: B
1512 HahATRdE MUERE_ [, aTUHI B 42 B R AR h AR T e 2 H k.
A.10%
B.30%
C.40%
D.50%
%%: D
1.5.1.2 If a motorized vehicle runs ___ faster than the prescribed speed limit, the driving license
may be detained till the day when a punishment decision is made.
A. 10%
B. 30%
C. 40%
D. 50%
Answer: D
1513 AL ENLE A BRI .
AAE—ME A AL MBI 12 7301
B A . ARE Y
CRARWATM A, AR I 715 2K 1)
D.HLEN AT B i B 52 I 109611
HE: A
1.5.1.3 The case which allows the detention of the motorized vehicle driving licenseis
A. That the accumulated penalty points reach 12 points within one scoring cycle
B. Smoking and eating when driving
C. That a minor traffic accident is caused but causes no property damage
D. That a motorized vehicle runs 10% faster than the prescribed speed limit
Answer: A
15.1.4 ATEL VRGBT A A B AR AR A
AXT{E*%%%WJ&E’J@* R
B. 22 WP Ik P e I e S0
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CORIY Ji 22 B AP A A AT 1)
a2

DS AP i %25 B A0 e A A3 )
. C
1.5.1.4 If the traffic police , they should arbitrarily test the intracorporeal alcoholic

content of the vehicle driver.

A. Have no dispute over the reading of the alcohol breath analyzer
B. Find the reading of the alcohol breath analyzer is below the threshold level of

intoxication

C. Find a traffic accident has been caused by a vehicle driver after drinking
D. Find a traffic accident has been caused by a vehicle driver who has not drunk.
Answer: C

1515 XPPEAT N RIS, ASHE Y ] DRI Rt

A.‘LU ?J\

B

C Al HI 2y AR 1 e g
DALVE. HE
%H%E: C

1.5.1.5 With regard to the driver who cannot control his behaviors after drinking, the traffic
police may on the spot.

15.1.6

A. Impose a fine

B. Detain the driver

C. Use restraining police equipment
D. Criticize and educate

Answer: C

NENRASHAE PRS0 BIBLEN S, B UL b el AT A B Itk
e T LA SRR R -
ASZ A

B 10 ] )

C.H11 7 P il 2 4 b
D. kKA G 4%

B C

1.5.1.6 The traffic control department of the public security organ can confiscate and arbitrarily
write off a motorized vehicle , Subject to the approval of the traffic control
department of the public security organ at or above the county level.

A. That has caused a traffic accident

B. That has been used for more than 10 years

C. That has been illegally assembled or has reached the write-off standard
D. That has failed to pass vehicle inspection

Answer: C

1.5.2 JWrd. (11
1.5.2 Judgment Questions: (20 questions)
15.2.1 dr I 12 2 P 4 B N AR 1, 5 AN TR

BRI
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1.5.2.1 If a motorized vehicle driver whose penalty scores have reached 12 points has passed the
tests, his original points will not be eliminated.
Answer: Wrong
15.2.2  HLahZAT BB ERE 50%I01, 23 NATHEPP AR, HAS I B 2 BEHIE.
7|<: N
1.5.2.2 If a motorized vehicle runs 50% faster than the prescribed speed limit, the driver should
receive criticism and education but his driving license should not be detained.
Answer: Wrong
1.5.2.3 A ZHLRATIE A BRI AP 3B VEAT J N IR I 45 A 4 HA A R AN o
B B
1.5.2.3 The traffic control department of the public security organ should notify the driver who
has violated the traffic regulations after drinking of the test result by telephone.
Answer: Wrong
1524 HLiE BN UGS I SEAN I 2 T B 2 SRl i, 1 e 450 B
WESPLEN A BEVF AT, 3 N A IR RN BBV
B IR
1.5.2.4 If a motorized vehicle driver has obtained his driving license by cheating, bribery and
other illegal means, his driving license should be confiscated and his driving
permission should be revoked. In addition, he cannot reapply driving license in three
years.
Answer: Right
15.2.5 WG BN, 2 LSS E BT TG 1 B 25 Bk
7|<: N
1.5.2.5 The traffic control department of the public security organ is not allowed to detain the
driving license of a person who drives a motorized vehicle after drinking.
Answer:  Wrong
15.2.6 FENJE BN, 2 LSS E BT T AT LU B 25 BIE .
H: IEH
1.5.2.6 The traffic control department of the public security organ may detain the driving license
of a person who drives a motorized vehicle after drinking.
Answer: Right
1527 HLh A3 B0 44 R BASHLEN 422 BEUERY N 2B, 2 HLOCAT I 4 P
FTTAT LA R B B 2 N B
Ho: IR
1.5.2.7 If a motorized vehicle driver allows his vehicle to be driven by a person who fails to
obtain a motorized vehicle driving license, the traffic control department of the public
security organ may revoke the driving license.
Answer: Right
15.28 AEAIORIENLANA- S L ATHIHIERT, SO ST LU AT 4.
Fo: IR
1.5.2.8 The traffic police may detain the motorcycle if its driver has falsified the license plate and
vehicle license.
Answer: Right
152.9 ARBUZAR], AR 2 AATBON ER 2 2480 PR T I SR ATl I P20 ox
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ORI
B IEH

1.5.2.9 With regard to a non-spot punishment, the party who has violated the traffic regulations
has the right to request the traffic control department of the public security organ to
provide the data recorded by the traffic monitoring equipment.
Answer: Right

15210 W43 B 12 2B SR, w202 SR R e E R AT A i
AT BT 1202 2R 2%
B IEH

1.5.2.10 If the driving license of a motorized vehicle driver is detained after his penalty scores
reach 12 points, the driver may participate in the study and test organized by the traffic
control department of the public security organ at the place where his driving license
has been issued or the place where he has violated the traffic regulations.
Answer: Right

15211 W2 NRAH RPAF I BE, AT DUE A5 A L2 B ]
%7%'?: N

1.5.2.11 If a motorized vehicle driver obtains a driving license without passing tests, he may
have his driving permission confirmed through a make-up test.
Answer: Wrong

1.6 ATl AL AP RE (118D
1.6 Procedural Regulations for Handling Traffic Accidents (20 questions)
16.1 EFEE: (48D
1.6.1 Multiple-Choice Questions (9 questions)
1.6.1.1 RARMASEHN, BN CIPBHEI ORI, wT LIRS PR B2 W] R
A SR NAEW]
B.ic S AT < I 0 K
C.HFHNMRE
D. I
%%: B
1.6.1.1 If the party to a minor traffic accident has bought vehicle insurance, he may make a claim
to the insurance company according to
A. The certificate of the person in the know
B. The agreement on the fact of the traffic accident
C. The report of the party
D. The insurance policy
Answer: B
1612 RAZEHENE, JHENEAREISN, DHERTU_ .
AR
B. o il
C. i L 55455
D. B
%%: B
1.6.1.2 If the party refuses to leave the scene after a traffic accident occurs, the traffic police
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should
A. Persuade the party
B. Force the party to leave
C. Wait patiently
D. Consult with the party

Answer: B
1.6.1.3 RAEZMEHOERN G TH, MFEANN Y RMELE SR, RN _ .
AT I R

B. L5 7 By i 45 2 W A
C U R T PA D P A2 30 5 ¢
D. LI ik A
%H%E: C
1.6.1.3 If a traffic accident has caused human casualties, the party should immediately stop the
vehicle, rescue the wounded and at the same time
A. Identify the cause of the accident
B. Discuss compensation with the opposite party
C. Swiftly report to the traffic police on duty
D. Look for witnesses on the spot
Answer: C
1.6.1.4 HBENBHELS_, ABEZEHHK BT E.
ALE R A B AT )
B.ERK AT L B2 BEFR AR ALY

CAEPRATE Ly FEFE AT ML)
D RAFHGHOSHIR . hIEI . BOKUEHS )
%%: D
1.6.1.4 If the party drives a motorcycle and , the party should assume full liability

for the traffic accident.
A. Hits a pedestrian on the expressway
B. Scratches a turning vehicle at an intersection when going straight
C. Scratches a motorcycle in the fast lane
D. Deliberately damages and falsifies the scene and destroys evidence after causing a
traffic accident
Answer: D

1.6.2 . (1180
1.6.2 Judgment Questions: (11 questions)
1.6.21 RAAMA UG, SCHE ST AR IL B IR, g An] A A RSB
REFIRIR
B IEH
1.6.2.1 If no agreement is reached through the mediation by the traffic police after a traffic
accident, the parties may file a civil action with the people’s court.
Answer: Right
1.6.22 ATHHFHCH S AT AT Ui A B 2
B B
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1.6.2.2 The parties to a traffic accident are not allowed to discuss compensation matters on their
own.
Answer: Wrong
1.6.2.3 RAATIE FHABIIFEr I, ARG A ST, 2 f A BT I .
Bg: HR
1.6.2.3 If a traffic accident has caused only partial damage to a building but has not caused
human casualties, the party may leave the scene on his own.
Answer: Wrong
16.2.4 A HCAT ARASH RS EA TG, 1B RSB AT BORA.
B HR
1.6.2.4 If the parties to a traffic accident have objection to the accident investigation report by the
traffic police, they may file an administrative action to the people’s court.
Answer: Wrong
1.6.2.5 AT HOM A SR LR 2 ANAN AT, 28 ) RAIg A RV B
P R IRV o
Ho: IR
1.6.2.5 If mediation fails to reach agreement over a traffic accident or the parties fail to perform
the result of mediation, the parties may file a civil action with the people’s court.
Answer: Right
1.6.2.6 ATl i A s A H 2 BN SR AT 5T AE I, T AT PRy AR PE.
Brge: HR
1.6.2.6 If a traffic accident has only caused a serious injury and the driver is willing to assume
full liability, they may discuss a solution on their own.
Answer: Wrong
1.6.2.7 AT ARG ARG 22k, BRSNS DT
Fo: IEH
1.6.2.7 If a party to a traffic accident escapes and his act causes the loss of evidence, the escaping
party should assume full liability.
Answer: Right

17 P42 B0 A AIAE (16 8D
1.7 Regulations on the Application for and Use of Motorized Vehicle Driving Licenses (16
questions)
17.1 dEFEE. (88D
1.7.1 Multiple-Choice Questions (8 questions)
17.11 NI BB AN B 2 e
A2 4
B.3 4F
C.4 4
D.5 4
HE: A
1.7.1.1 The person whose motorized vehicle driving license has been revoked for lessthan
is not allowed to reapply for a driving license.
A. 2 years
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B. 3 years
C. 4 years
D. 5 years
Answer: A
17.1.2  ARIHIUH 2 BEVF AT ORI AOANS B 25 B
A6
B.5 4F
C.4 4
D.3 4
%%: D
1.7.1.2 The person whose driving permission has been revoked according to law for less than
is not allowed to reapply for a driving license.
A. 6 years
B. 5 years
C. 4 years
D. 3 years
Answer: D
17.13 AR PR AT R, ARUCE R
AR AR
B
C.H LR B
D. A IR B
2. B
1.7.1.3 If an applicant cheats in a test, the eligibility for this test
A. Can be reserved if the cheating is not serious
B. Is cancelled
C. May be reserved
D. May be temporarily reserved
Answer: B
1.7.1.4  HLEh4 25 NN 2 THLEh 4= 2 B ROV T A, LSl 4= 2 BlEA A 44
EBILPIT A HRAIE o
A.90 [
B.120 H
C.180
D.240 H
HE: A
1.7.1.4 The motorized vehicle driver should apply to the issuing vehicle management station for
license change within before the expiration of the driving license.
A. 90 days
B. 120 days
C. 180 days
D. 240 days
Answer: A

17.15 EEHSI BB RO LA ERIAIE (0 42 B BT Y 2 B LB 4 BiE
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A6 1MH
B.14F
C24
D.3 4
%%: B
1.7.1.5 If a driver fails to change his driving license more than ___ after the expiration of his
motorized vehicle driving license, the vehicle management station should cancel his
driving license.
A. 6 months
B. 1 year
C. 2 years
D. 3 years
Answer: B
17.1.6 Wi BBEZIC M 12 2000, NS AET T H A B2 BOE R A eiE A
PUSRAT A BT T4 A 301 PR B A0 2 ikt s VAR OGS %ﬁ*o
AtH
B.tH
C.hiH
D.—H
%%: B
1.7.1.6 If the accumulated penalty scores of a motorized vehicle driver reach 12 points, the driver
should receive a education on the traffic law and regulations and related
knowledge at the traffic control department of the public security organ at the issuing
place of his driving license or the place where he violates the traffic regulations.
A. 10-day
B. 7-day
C. 5-day
D. 3-day
Answer: B
1.7.17  HLEhEBRNAE— M A RROLME R 12 701, 2 BE 5, 4T
I AE A H O HEAT .
AFRHH —HiK
B. O (A 2 B iE
CAHH —F#ik
D.AFH =l
HE: A
1.7.1.7 After a motorized vehicle driver has accumulated 12 penalty points within one scoring
cycle and has received education, the vehicle management station should within
20 days.
A. Conduct subject 1 test for him
B. Impose a fine and revoke his driving license
C. Conduct subject 2 test
D. Conduct subject 3 test
Answer: A
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1.7.1.8 Bl BRI B2 NAR SR AR, 230 NN S 7E_ A B IR K
i A=A BT R R
A.60 [
B.50 H
C.40 H
D.30 H
%%: D
1.7.1.8 If there is a change in the driver’s information recorded in the motorized vehicle driving
license, the driver should apply to the issuing vehicle management station for license
change within
A. 60 days
B. 50 days
C. 40 days
D. 30 days
Answer: D

17.2 FIWiE. (8 )
1.7.2 Judgment Questions: (8 questions)
1.7.21  HLEhFEEINAE— M A R L iR E] 12 731, N2 E —. BHH
FEHH =K.
B B
1.7.2.1 If a motorized vehicle driver has received 12 accumulated penalty points twice in a
scoring cycle, he should participate in the subjects 1, 2 and 3 tests
Answer: Wrong
1.7.2.2  HAFHH RSN A EE N i A A4
7|<: N
1.7.2.2 The test result of each subject should be signed by the instructor and tester.
Answer: Wrong
1.7.23  WIXKIASFHIBLEN 4= 2 BR800 00 10 4.
7|<: N
1.7.2.3 The motorized vehicle driving license obtained for the first time is valid for 10 years.
Answer: Wrong
17.24 WPIFENAEH R DA EEEAT N, BOEARFG B, Caild el Ile st
H kSR A2
7|<: N
1.7.2.4 If the applicant commits cheating in the course of a test, his eligibility for this test will be
cancelled but the results of other tests he has passed will remain valid.
Answer: Wrong
1.7.25 ZRHIEBIR, TN IR MR A DR AT AT R
7|<: N
1.7.2.5 If adriving license is lost, the driver should provide a certificate from the community and
a certificate from the working unit when applying for a reissue.
Answer: Wrong

1.7.2.6 MU WEHAE . #MIENL ST 200 2 00 AA ACE 3 703, 1A R0 AACHE,
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B HR

1.7.2.6 The motorized vehicle driver must personally handle the change or reissue of his driving
license and is not allowed to entrust other people to do for him.
Answer: Wrong

1.7.27  BHLEWEEINAE— M7 A IR LA IR 3] 12 31, A0 BLETIE N, 24 (R H
— % 20 H A LT REH =K.
B HR

1.7.2.7 If a motorized vehicle driver receives 12 accumulated penalty points twice in a scoring
cycle, the vehicle management station should conduct subject 3 test for him within 20
days after he passes subject 1 test.
Answer: Wrong

1.7.28 il 60 J1% LA ERIHLEN 200 N, NG RREIAT — IR SRR 2, JFAEIC A
SR 4 A ) 40 BT B AT B AR A ]
Bg: HR

1.7.2.8 The motorized vehicle driver who is more than 60 years old should have a physical
checkup annually and should submit a certificate of physical checkup within 1 year
after one scoring cycle is over.
Answer: Wrong

1.8 M4 & ilE (7 8D
1.8 Regulations on Vehicle Registration (7 questions)
181 EFEE: (28D
1.8.1 Multiple-Choice Questions (2 questions)
1.8.8.1  CLikF[E SRR EARE RIS 4, HLah 4 A A .
AR EESE AR R AT SR T AR A I
BAL IR 245 TR U i
C.I sl 4 A b A BB B0 4+
D. [ 2445 LT AS R M L8N 4=
%H%: C
1.8.1.1 If a motorized vehicle has reached the state’s mandatory write-off standard, the owner of
the vehicle should
A. Break up the vehicle into parts and sell them to other users
B. Sell it to a waste recycling station as scrap iron
C. Sell the vehicle to a motorized vehicle recycling enterprise
D. Have the vehicle inspected by the vehicle management station

Answer: C
1.8.8.2 X THETIPEASR PINLANZE, P ANCUAEARHE 5 10 HN AR HLEh 4.
AR T

Bz FHLIY
C. A LA E T A
DI RN N Rl
H%E: A
1.8.1.2 If the transfer of a motorized vehicle is approved, the owner should have the vehicle
inspected by within 10 days after the transfer.
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A. The vehicle management station

B. The institution in charge of transport administration
C. The detachment of the traffic police

D. The vehicle safety and technical test station
Answer: A

1.8.2 FWiE. (57

1.8.2 Judgment Questions: (8 questions)

1.8.21  CLikH)FE SRR EARME RIS A, P N2 PR S22 T O i o
Bge: HR

1.8.2.1 If a motorized vehicle has reached the state’s mandatory write-off standard, the owner

should sell it to a waste recycling station as scrap iron.
Answer: Wrong

1822 FHZHE R TREAIER, FEYIRRGUT L, ATREIER, AT R4 BT A
BLah %
B HR

1.8.2.2 When applying for the license plate and vehicle license for the first time for a vehicle that
is exempted from inspection according to the state stipulations, the vehicle should be
inspected by the vehicle management station.
Answer: Wrong

1.8.23  HLah4 ik 3 M S RHUE AR R AERT, A0 BEPTR AN T 0B S, (HAT B
IPPREEFEE A
B HR

1.8.2.3 If a motorized vehicle has reached the state’s mandatory write-off standard, the vehicle
management station will not handle its registration but will handle its transfer
registration.
Answer: Wrong

1.8.2.4  HLENAEM MOARAL R 5% B R 38 A8 T AT A ATl i, R AR RS Bl
K IEH

1.8.2.4 A motorized vehicle involved in a violation of the traffic regulations or a traffic accident
that remains unresolved is not eligible for transfer registration.
Answer: Right

1825 HWIEHBEICHNLEE:, kR A RO, NS T 2R %
e SIS

1.8.2.5 If a motorized vehicle applying for transfer registration has passed the period of

inspection validity, it should have a safety and technical inspection.
Answer: Right

1.9 W4 Agil F sl pR s 4] (13 8D

1.9 Regulations on Mandatory Traffic Accident Insurance of Motorized Vehicles (17 questions)

1.9.1 EFEE: (68D

1.9.1 Multiple-Choice Questions: (10 questions)

1.9.11  (EFRE B NER EATRIRONLAN A, 2 K IR B A 2 AV e BRI BN G-
AT = DT AR IR DR EG o
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AT ANFE BN
B.AHLRA
C.afeAR N
DE=AT PN

B A

19.11 of a motorized vehicle running on the roads in China should buy the mandatory

traffic accident insurance for his motorized vehicle according to the provisions of the
Law on Road Traffic Safety.

A. The owner and manager

B. The guarantor

C. The passenger

D. The driver

Answer: A

1.9.1.2  WLah A0 H i AR ORI I B2 (0 SO SO R AR ATl H MO o

AN N
BAAN G BEIREE A LIS 2 H A
C. ORI A
D.RAN

%HZ%: B

1.9.1.2 The objects of compensation liability of the mandatory traffic accident insurance of the
motorized vehicles are of a road accident.

A. The drivers

B. The victims other than the persons and the insured in the same vehicle
C. The insured

D. The passengers

Answer: B

1.9.13 ZUREERAZE 22T N AT S, s R A H R TE B AT )

BARBE A, RIS AN Y RES SR IR
ALREF

B.F£1IK

C.imE

D.i&E i 4%

B%E: C

1.9.1.3 With regard to the insured vehicle that has repeatedly violated the traffic regulations,

1914

caused traffic accidents or caused major traffic accidents, the insurance company
should the rate of insurance premiums.

A. Maintain

B. Reduce

C. Raise

D. Properly adjust

Answer: C

FESE AT S P B OR B N BCH LA (Y, OREG A mI 2 JLAREG S

AJE

B.F# I
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C.i& 4 FEI%
DA &
%%: D
1.9.1.4 If the insured person has no fault in a traffic accident, the insurance company should
____therate of insurance premiums.
A. Properly raise
B. Reduce
C. Properly reduce
D. Not raise
Answer: D
1.9.1.5 HLBhZEACIE FH DT AT RS IR PR B I .
A4 AE
B.3 4F
C24
D.1 4
%%: D
1.9.1.5 The duration of coverage of the mandatory traffic accident insurance of motorized
vehicles is
A. 4 years
B. 3 years
C. 2 years
D. 1 year
Answer: D
1.9.1.6  HlREE N1 RIS 24 FDRTR BT S, Rl DAMGE B flslim .
AR PF
B.ORES: 24w S s 0
C. M S LRAT T A BRI | 4R
D. N\ RVEBE S iz
%%: D
1.9.1.6 If the insured person and the insurance company have disputes over compensation, they
may apply for arbitration or ___ according to law.
A. File a complaint to the Insurance Regulatory Commission
B. Report to the insurance company
C. Report to the local traffic control department of the public security organ
D. File an action with the people’s court
Answer: D

1.9.2 HlWriE: (78D
1.9.2 Judgment Questions: (7 questions)
1.9.21  HLEhA A F ot AR ORI B STUEXR R B A4 RN .
B B
1.9.2.1 The objects of compensation liability of the mandatory traffic accident insurance of
motorized vehicles include the drivers of the insured vehicles.
Answer: Wrong
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1.9.2.2  BURNLB) AT S TR BRI, BRI ALS) 42 ToTE AT Il 22423 kAT A Al
AR AT AT F ), DRIG A w2970 R — AR B AR L AR G 9l %
B IEH

1.9.2.2 After the mandatory traffic accident insurance is bought for a motorized vehicle, the
insurance company should reduce the rate of insurance premium in the next year if the
insured vehicle commits no violation of the traffic regulations and does not cause any
traffic accident.

Answer: Right

1.9.2.3 BRI AT ST BRBIRK G, BRI R RSl i, (H AT
WP ROR B N BT IR 1, OREG 24 W) WS R R — 4 B2 PR L ARG gl .
R B

1.9.2.3 After the mandatory traffic accident insurance is bought for a motorized vehicle, the

insurance company should reduce the rate of insurance premium if the insured vehicle
causes traffic accident but the insured person in the accident has no fault.

Answer: Wrong
1.9.2.4 B NN 5 K AETE AT I AU, SR NP BUR I, ORES 2w AR H I

ETUE.
B IEM

1.9.2.4 If the driver causes a traffic accident after getting drunk but causes loss to the property of
the victim, the insurance company does not assume any compensation liability.

Answer: Right
1.9.25  BlAREG N HIIE TE AT I S, 3 FA P BUR I, ORES 2w A H I

ETUE.
B 1B

1.9.2.5 If the insured person deliberately causes a traffic accident and causes loss to the property
of the victim, the insurance company does not assume any compensation liability.

Answer: Right
1.9.26 WHLEH PN B EARAZ IR E B ARBLEN A0l S s R ORI (1, 2 22 AL
SRACHE BT T W] LA B HLBh %=
B IEH
1.9.2.6 If the owner and manager of a motorized vehicle fail to buy the mandatory traffic
accident insurance for the vehicle, the traffic control department of the public security
organ may detain the vehicle.
Answer: Right
1.9.2.7 _EEATHIHIE EARTBCE LR FRE R, A LA F T T A] L, HA
FHIELBIA.
B B
1.9.2.7 If a motorized vehicle on the road fails to place the label of insurance, the traffic control
department of the public security organ may impose a fine but is not allowed to detain the
vehicle.
Answer: Wrong

2. EBITHEETAHEG X (3t 244 B
2. Traffic Signals and Their Meanings (244 questions)

21 AUEESHT 27D
2.1 Traffic Signal Lights (27 questions)
211 EFEE: (148D
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2.1.1Multiple-Choice Questions: (14 questions)

2111

ST FHTLAT 5, Rom___o
AMEVFIAT

B.2% LR AT

C. R 84T

DAZZ%ALAT

Z%E: B

2.1.1.1 When the red traffic light is on, it

2.1.1.2

A. Means the vehicles are allowed to pass
B. Means the vehicles are prohibited from passing
C. Reminds the vehicles to pass slowly

D. Means the vehicles should stop and yield
Answer: B

AR SAT AT 52, R
AZEIEEAT

B.hnim A

C.HEVFIEAT

D5 4 kAT

%H%: C

2.1.1.2 When the green traffic light is on, it

2.1.1.3

A. Means the vehicles are prohibited from passing
B. Means the vehicles should speed up and pass
C. Means the vehicles are allowed to pass

D. Means the vehicles should stop and yield
Answer: C

ACHEAE S BTN, Fon__.
AZEIEEAT

B.AEVFIEAT

C.fF%:

DR

%%: D

2.1.1.3 When the yellow traffic light is on, it

2114

A. Means the vehicles are prohibited from passing

B. Means the vehicles are allowed to pass

C. Means the vehicles should stop

D. Warns the vehicles

Answer: D

OWAF AT AT SR, MEVRARARIEAT, .
AR R AUl AT

B. e b8 BER AL S AT

C.H A AR AT U EAT 440, A7 N7
D.H 5 A HE VAT

B C

2.1.1.4 When the green traffic light is on and allows the vehicles to pass,
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A
B.
C. The turning vehicles are not allowed to obstruct the flow of the straight-going
vehicles and pedestrians
D. The turning vehicles are not allowed to pass
Answer: C
2115 AWE ST, A EAYI R ISAT B AT NEAT IS OL T, T
AT
AL
B. 7S
C. TIBM NI
D. & JiAT 4l
HE: A
2.1.1.5 When the red traffic light is on, may pass if they do not obstruct the flow of the
vehicles and pedestrians allowed to pass.
A. The right-turning vehicles
B. The left-turning vehicles
C. The vehicles turning at the T-shaped intersection
D. The vehicle in all directions
Answer: A
2116 ATHEAESATLASEN, AN S IEE_ .
AfF IR LA
B AATHIEZ
CATX KA
D.f5 1k LISk
%%: D
2.1.1.6 When the red traffic light is on, the vehicles should stop
A. Inside the stop line
B. In the crosswalk
C. In the intersection
D. Outside the stop line
Answer: D
2117 AUEfESITEATREN, .
A VA REAT
B. LB 457 1 Ze ) A A m] LA SR04 T
CAVFAAW e e
D. A5 24 g it
%%: B
2.1.1.7 When the yellow traffic light is on,
A. It allows the vehicles to pass
B. The vehicles that have passed the stop line may continue to pass
C. It allows the vehicles to turn left
D. The vehicles should speed up and pass
Answer: B
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2118 ZOSUBAT BRI S8, AAHE_ .
AZE A AT
B.HEVF A4 e e s
CHEVFA-AIA e
D.EVF 4 iEAT
HE: A
2.1.1.8
A. Prohibits the vehicles from passing
B. Allows the vehicles to turn left
C. Allows the vehicles to turn right
D. Allows the vehicles to pass
Answer: A
2119 SOT7 R R AE S ATRIE SO ) L, EVRAER
AT
B.fi#%
C.HAT
D.$iik
%H%: C
2.1.1.9 When the head of the green arrow light points upward, it allows the vehicles to

A. Turn left
B. Turn right
C. Go straight
D. Make a U turn
Answer: C
21110 ZLET5 AR E SRR ) b, AR EA_ .
A i
B4
C.HAT
D.$iik
%H%: C
2.1.1.10 When the head of the red arrow light points upward, it prohibits the vehicles from

A. Turning left
B. Turning right
C. Going straight
D. Making a U turn
Answer: C
21100 Ty R R R AT BRSO e A, ZEIEAEA
A i
B
C.HAT
D.$iik

B A
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2.1.1.11 When the head of the red arrow light points to the left side, it prohibits the vehicles from

A. Turning left
B. Turning right
C. Going straight
D. Making a U turn
Answer: A
21112 LT R R SISO A, ZEEA .
A i
B.fi#%
C.HAT
D.$iik
%%: B
2.1.1.12 When the head of the red arrow light points to the right side, it prohibits the vehicles
from .
A. Turning left
B. Turning right
C. Going straight
D. Making a U turn
Answer: B
21113 DPPOEESAG SN RREINRRIBT, SR, AT A,
A i
B.A% I3 AT
C.ufLAgkZLiE 1y
DABATINVE IS, k24 midd
%%: D
2.1.1.13 The continuously flashing yellow light is the warning flash light that
A. Urges the vehicles and pedestrians to pass as fast as they can
B. Stops the vehicles and pedestrians from passing
C. Means the vehicles and pedestrians may continue to pass
D. Means the vehicles and pedestrians should look and make sure it is safe to pass
before they pass
Answer: D
21114  EHSERECT AT XOE FA PIAS LT SO RS — MDA e, .
AZEALERR R 2 AR O T Al LUEAT
B.AS LA, AT NadAT
CAAEAAMIEAT, (AT N W] LUEAT
D.AR AT NIBAT, (H A ml LLEAT
%%: B

2.1.1.14 If the two red lights at a level crossing flash alternately or one red light is on,
A. The vehicles may pass if it is safe to do so

B. The vehicles and pedestrians are prohibited from passing
C. The vehicles are prohibited from passing but the pedestrians may pass
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D. The pedestrians are prohibited from passing but the vehicles may pass
Answer: B

212 RIS (138D
2.1.2 Judgment Questions: (13 questions)
2121 ZCEESATLAT SN, EVFAEREAT .
B B
2.1.2.1 When the red light is on, it allows the vehicles to pass.
Answer: Wrong
2122 ATEE ST SEN, BRI A .
B B
2.1.2.2 When the green light is on, it prohibits the vehicles from passing
Answer: Wrong
2.1.2.3 TR SATHAT SR, MEVFAARIEAT
B B
2.1.2.3 When the yellow light is on, it allows the vehicles to pass.
Answer: Wrong
2124 LLESORAT B SR 2, AL TEREVF A e
B R
2.1.2.4 When the red or the arrow light is on, this lane allows to turn right.
Answer: Wrong
2.1.25 ZLET7 AR S AT I Sk 7 ) 1) e R HEVE A e S
B B
2.1.2.5 When the head of the red arrow light points to the left side, it allows the vehicles to turn
left.
Answer: Wrong
21.26  ZREOJ7 R ST LT R A b, RO A EAT
B IEH
2.1.2.6 When the head of the green arrow light points upward, it allows the vehicles to go
straight.
Answer: Right
2.1.2.7  ZpOJ7 RS SRR LT M AT, RORHEVR A R
Ho: IR
2.1.2.7 When the head of the green arrow light points to the right side, it allows the vehicles to
turn right.
Answer: Right
21.28 LLOTT RS ST LT M AT, RORHEVF A R
B B
2.1.2.8 When the head of the red arrow light points to the right side, it allows the vehicles to turn
right.
Answer: Wrong
2.1.2.9  ZREJ7 R ST LT A AL, ROV A EAT .
B B

2.1.2.9 When the head of the green arrow light points to the left side, it allows the vehicles to go
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straight.
Answer: Wrong
21210  PDOEESAST S AT A RREEINAR RO BT, $&om AT MR R IR S, il k4 n il .
Ho: IR
2.1.2.10 The continuously flashing yellow light is the warning flash light that means the drivers
should look and make sure it is safe to pass before their vehicles pass.
Answer: Right
21211 EBRS KRB IAS SGE LA PN LT A INPRIN, SR, AT AT
Ho: IR
2.1.2.11 When the two red lights at a level crossing flash alternately, the vehicles and pedestrians
are prohibited from passing.
Answer: Right
21.212 JEBESERESPI0AZSOE DA — AT SRR, R IR 2 O AT LEAT .
B B
2.1.2.12 When one red light at a level crossing is on, the vehicles may pass if it is safe to do so.
Answer: Wrong
21.213 ENBRERIE I BLITHE K, RN VR AT AT .
Ho: IR
2.1.2.13 When the red light at crossing a railway crossing is off, the vehicles and passengers are
allowed to pass.
Answer: Right

2.2 AEbRE (155 @D

2.2 Traffic Signs (155 questions)

221 EFEE: (96 )

2.2.1 Multiple-Choice Questions: (96 questions)
2211 BEHPrRhREE_

AES RS
B.AE AR
CHintri&s
D.fi bR
HE: A
2.2.1.1 The sign in the picture is

A. Awarning sign

B. A prohibitive sign

C. An indicative sign
D. A directional sign
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Answer: A
2212 BEbREMEREESE_ .
Ai%\ﬁAE%ﬁMﬂﬁ
B. 44 AT NAERLAT
C. 25 B AT 25 %
D. B I I 7 Sy M
s A
2.2.1.2 Awarning sign is designed to warn
A. The vehicles and pedestrians to be careful at a dangerous place
B. The vehicles and pedestrians not to pass
C. The driver there is a curve ahead
D. The driver there is a congestion-prone section ahead
Answer: A

2213 KERkrEE .

AEL RS
B.AEA RS
CHiuntri&s
D.fi bR
%%: D
2.2.1.3 The sign in the picture is

YEE 200
ﬁémsokm\l

A. Awarning sign

B. A prohibitive sign
C. An indicative sign
D. Adirectional sign
Answer: D

2.2.1.4  AREEARESIOVE R M4 __
A ‘%i$iﬁﬂﬂﬁj\/fiflhﬂﬁ =)
B. 2% 1 E s BRI AN AT A AT A
C AR AWANAT NAT 2k
DALEREH 7 M) Mo BEEE R
%%: D
2.2.1.4 Adirectional sign is designed to
A. Warn the vehicles and pedestrians to be careful about a dangerous place
B. Prohibit or restrict the vehicles and pedestrians from passing

C. Indicate the vehicles and pedestrians to go ahead
D. Give information about road direction, place and distance
Answer: D

2215 KEHFRkRERE .
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AL
B.AA SRk
C.iimbri

D.Je#hr &
Z%E: B

2.2.1.5 The sign in the picture is

2.2.1.6

A. Awarning sign

B. A prohibitive sign
C. An indicative sign
D. Adirectional sign
Answer: B

EER S .
AVES AT N S R
BALBIE B I 1) MBS PR R

CIR/RAMAAT NAT
D. 5 1B R AT A ASlAT N
%HZ: D

2.2.1.6 A prohibitive sign is designed to

2.2.1.7

A. Warn the vehicles and pedestrians to be careful about a dangerous place
B. Give information about road direction, place and distance

C. Indicate the vehicles and pedestrians to go ahead
D. Prohibit or restrict the vehicles and pedestrians from passing
Answer: D

(SRR A

Ak
B.AE S bk
C.HErbra&
D.JR#Ar &
ZFE: C

2.2.1.7 The sign in the picture is .

72



A. A warning sign
B. A prohibitive sign
C. An indicative sign
D. Adirectional sign
Answer: C
2218 fRaskrE RN ER. ITA__ .
AVERSE RS AT
BZhr S st . Jr AT
C.VE =AT Bl
D.w] LUBAT AT ), AH AT BAANZ A 2 ) 384T
%%: B
2.2.1.8 An indicative sign is designed to indicate the vehicles and pedestrians to
A. Be careful about a dangerous place
B. Go ahead according to the line and direction indicated by the sign
C. Drive with care
D. Go ahead either in the direction or not in the direction indicated
Answer: B
2219 KEHFRkRERE .

.,

.

AES RS
B.AEA RS
CIREfbR&
DAl BhAra&
%%: D
2.2.1.9 The sign in the picture is .

A. Awarning sign
B. A prohibitive sign
C. A directional sign

D. An auxiliary sign
Answer: D

22110 MEFSELEEBERIENIERILHEN, AT 42 58 mE N T, N
WHE_ .
AFR7RbRIE
B R brid
CAfiIhbr ik
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D. LTI BRI
%H%: C
2.2.1.10 When the main sign is unable to completely express or indicate the requirements,
should be set to ensure safe driving and smooth traffic.
A. An indicative mark
B. A warning mark
C. An auxiliary sign

D. Athree-dimensional mark
Answer: C
22111 K PpRtsEE_ .

JINSHANSI

2km

AR IX bRk
B.fiashrid
CIREfbR&
DAl BhAra&
%%: D
2.2.1.11 The sign in the picture is
55

JINSHANSI

2km

A. Atourist zone sign
B. An indicative sign
C. Adirectional sign

D. An auxiliary sign
Answer: A

2.21.12 EHTR

o

AR 2
B. MR A5 c
C.BEIEbRZ
D. LTI bR
%%: D

2.2.1.12 The picture indicates

A
A

A. A speed-reducing marking
B. A width-limiting mark
C. Atunnel marking

D. Athree-dimensional mark
Answer: D
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2.2.1.13

SR

>

AT AT B
B.ZAT
C.mZE 274
D.In 4 225 %
%%: C

2.2.1.13 The sign in the picture means

2.2.1.14

>

A. Aright turn

B. A detour

C. Asharp left curve
D. A sharp right curve
Answer: C

SR

AR
B. AT
C. N B
D. I BEd
% D

2.2.1.14 The sign in the picture means

2.2.1.15

P>

A. Downhill road

B. Uphill road

C. Steep downhill road
D. Steep uphill road
Answer: D

SR
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AT BEY
B.AT
C. N7
D. I BEd
Bz A

2.2.1.15 The sign in the picture means

2.2.1.16

2.2.1.16 The sign in the picture means

2.2.1.17

P>

A. Steep downhill road
B. Sliding

C. Downbhill road

D. Steep uphill road
Answer: A

SR

A. Road narrows on both sides
B. Road narrows on the left side
C. Road narrows on the right side
D. Reduce speed

Answer: B

B PR S SO

>
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R

B. - AR %%
C. A Ax A%
D.J§E

EE: C

AHNAR A

2.2.1.17 The sign in the picture means

2.2.1.18

>

A. Road narrows on both sides
B. Road narrows on the left side
C. Road narrows on the right side
D. Reduce speed

Answer: C

B bRl & SOE .

P>

AEERR
BiEEATA
C.L 5%
D.ERASHEAR 54T
% D

2.2.1.18 The sign in the picture means

P>

A. Mind side wind

B. Watch for pedestrians
C. The red light is on

D. Mind the traffic lights
Answer: D

2.2.1.19 BHkREM S X .

AERTEA
B. £ 1L it
CoERIE I,
D. FBEd,
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BE: A
2.2.1.19 The sign in the picture means

A. Watch for falling rocks
B. Dangerous hillside road
C. Mind downhill sliding
D. Steep downhill road
Answer: A

22120 PP bRERS SO .

>

AERSER
B.VE R X
CHEEA
D% Ll %
%ZE: B

2.2.1.20 The sign in the picture means

>

A. Mind danger
B. Mind side wind
C. Watch for falling rocks
D. Dangerous hillside road
Answer: B

22121 KEHbRERS A .

A Gl
B.JEI i
C.A5 ks
D. FhEd
%%: C
2.2.1.21 The sign in the picture means



A

A. Slippery road
B. Embankment road
C. Dangerous hillside road
D. Steep downhill road
Answer: C

22122 PEPRRERS SO,

A

ANE
B.F&1E
C.ig Ky
DS
%%: D
2.2.1.22 The sign in the picture means

Z—

A. Village
B. Tunnel
C. Overflowing bridge
D. Embankment road
Answer: D

2.2.1.23 Ethhr&ms 3ot .

e

AJE
B.JEIN %
C. eIt
D.18 /KMy
B A
2.2.1.23 The sign in the picture means



D

A. Ferry
B. Embankment road
C. Hump bridge
D. Overflowing bridge
Answer: A
22124 KEHFRERS A .

A\

AL %
B.AE
CHEEA
D.2:#%
. B

2.2.1.24 The sign in the picture means

A. Dangerous hillside road
B. Village
C. Watch for falling rocks
D. School

Answer: B
22125 KHbRERS A .

AN

A BEIE
BRI
C. eIt
D.18 /KMy
%%: C
2.2.1.25 The sign in the picture means



2.2.1.26

>

A. Tunnel

B. Culvert bridge

C. Hump bridge

D. Overflowing bridge
Answer: C

SR

A5 LG
BAERAITA
ClmILHE
D.jiti T.

%&E: D

2.2.1.26 The sign in the picture means

2.2.1.27

2.2.1.27 The sign in the picture means .

A. Dangerous hillside road
B. Watch for pedestrians
C. Watch for children

D. Man at work

Answer: D

SR

>

At K T
B.yEREk /K
C.oM
DR
EE: A
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>

A. Overflowing road
B. Mind splash
C. Slippery
D. Hump bridge
Answer: A
2.2.1.28 PEPbRERS SO,

P>

ASEIEK
B.%
C.ak%L
D135 Ll %
. B

2.2.1.28 The sign in the picture means .

P>

A. Embankment road
B. Slippery
C. Sharp curve
D. Dangerous hillside road
Answer: B
22129 PEPRRERS SO,

P>

A TRl
B.js &
C.F¥iE
DA
%%: C
2.2.1.29 The sign in the picture means .
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P>

A. Hump road
B. House
C. Tunnel
D. Village
Answer: C
22130 Etbr&ms 3o .

>

AT H
B.AEAT
C5%:
Dt EfEk
%%: D
2.2.1.30 The sign in the picture means

>

A. Accident ahead
B. No passing
C. Stop
D. Danger
Answer: D
22131 Etbr&ms 3o .

>

AFER)LE
B. N1TH4 1
C.2-1%
DM
BE: A

2.2.1.31 The sign in the picture means

83



>

A. Watch for children
B. Crosswalk
C. School
D. Village
Answer: A
2.2.1.32 Etr&ms 3ot .

>

A SIS
B.IELLAY it
C. & AT 5
DAk e 7S
. B

2.2.1.32 The sign in the picture means

>

A. Sharp curve
B. Continuous curves
C. Curve driving
D. No turning
Answer: B
2.2.1.33 Ethbr&ms 3o .

>

AJIFPAT Bt
B. S [ 5 %
CHIEAZ X I
D.Z¢1T
%%: C
2.2.1.33 The sign in the picture means
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2.2.1.34

>

A. Drive in order
B. Inverse curve
C. Roundabout
D. Detour
Answer: C

SR

>

AR 2E B ) A e
B.2% 1wy

C AT

D. 528 i I
% D

2.2.1.34 The sign in the picture means

2.2.1.35

2.2.1.35 The sign in the picture means

>

A. Turn left or turn right
B. No passing

C. Two-way traffic

D. Intersection

Answer: D

SR

P>

ABRTHAFE
B. ORI
C.kx1E
DS
Bz A
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2.2.1.36

P>

A. Bump road

B. Hump bridge

C. Tunnel

D. Embankment road
Answer: A

SR

AZE IR AT
BaERAE
CHEREAT

D.EN%E
. B

2.2.1.36 The sign in the picture means

2.2.1.37

2.2.1.37 The sign in the picture means

>

A. No animal passing
B. Watch for animals
C. Animal passing

D. Animal-driven cart
Answer: B

SR

>

AMFTHAR 58
B. 1A% 5
C.7EMr
DR
. C

86



>

A. Bridge widens
B. Bridge widens on both sides
C. Narrow bridge
D. Hump bridge
Answer: C
2.2.1.38  PEPbRaE RS SO .

B>

AE I I R TE B
B. AATHEE
CIENE FHIEH
D. A NE S RIE S 1
%%: D
2.2.1.38 The sign in the picture means

B>

A. No passing through level crossing
B. Crosswalk
C. Unmanned level crossing
D. Manned level crossing
Answer: D
22139 FEPbRERS SO .

D

AT NG FERIEH
B.A% i AT
C.A% 13 i Bk i % 1
DA NFEFHIERK
BE: A

2.2.1.39 The sign in the picture means



>

A. Unmanned level crossing
B. No passing
C. No passing through level crossing
D. Manned level crossing
Answer: A
2.2.1.40 KHRRERS A .

>

AZEIEAENLB) AT
BiEEAENLBN
C.ARNLEN 438 AT
D25 1E AT AT
%%: B

2.2.1.40 The sign in the picture means

>

A. No passing for non-motorized vehicles
B. Watch for non-motorized vehicles
C. Passing for non-motorized vehicles
D. No passing for bicycles
Answer: B
22141 PEPRRERS SO .

m[@

A7 50m Kb ki K 11
B.Hi /7 100m Ab2kiE % 11
C.HI /7 150m AbBkiE i 1
D.Hi /7 500m &b £k s [
%H%: C

2.2.1.41 The sign in the picture means
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2.2.1.42

A\

A. Level crossing 50m ahead
B. Level crossing 100m ahead
C. Level crossing 150m ahead
D. Level crossing 500m ahead
Answer: C

SR

AJERSEK

B.2% L /NIRRT
CHERIBRE

D.F 0 K B

HE: D

2.2.1.42 The sign in the picture means

2.2.1.43

A. Danger

B. No passing for all motor vehicles

C. No tailgating
D. Accident-prone section
Answer: D

SR

=)
3

AMBAT
B.AR 24T
C.HAT
D.filti B

HE: A

2.2.1.43 The sign in the picture means
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2.2.1.44

A
=4

A. Slow passing

B. No slow passing
C. Fast passing

D. Jammed section
Answer: A

B bR & SOE .

A\

A e Mze
BEE%
CAMZAT
D2k 12347
Kzl? . B

2.2.1.44 The sign in the picture means

2.2.1.45

A\

A. Bypassing from the left side
B. Bypassing from both sides

C. Bypassing from the right side
D. No bypassing

Answer: B

E]EP*]‘M\ E’JAXZE ]t

AZEIETPAEH LN

RN GRS N
CAAE A =R LA
DA IEEEE BN

B C

2.2.1.45 The sign in the picture means

A. Hand tractors are prohibited
B. Jubilee wagons are prohibited
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C. Motor-tricycles are prohibited
D. Motorcycles are prohibited
Answer: C

2.2.1.46 KHbRERNS L bR

AZEIEEESFE BN
BARIE AAT 4B
CEEEANTI =RH A
DRI (e ST UN
HE: A

2.2.1.46 The sign in the picture means
A. Motorcycles are prohibited
B. Bicycles are prohibited
C. Pedicabs are prohibited
D. Motor-tricycles are prohibited
Answer: A

2.2.1.47 PP RRERS SO .

AMEVF ) A e 25
B.2& 1110 4 AZ 45 3E
ORI IPEE SR
DA A 7S
%%: D
2.2.1.47 The sign in the picture means .

A. Right turn is allowed
B. Changing to the right lane is prohibited
C. Right U turn is prohibited
D. Right turn is prohibited
Answer: D
2.2.1.48 KHbRERS A .
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>

%
g
=
A

AN
B.A% LA 7T
C.HEVF# Sk
DV /e ®s
HE: A
2.2.1.48 the sign in the picture means .

>
2
o
c
g
=

B. No left turn
C. U turnis allowed
D. Left turn is allowed
Answer: A
2.2.1.49 Erhbr&ms 3ot .

S

AR S TEAT I
B.AE 1B 4
C.fRFREE LB 7
D. eV 4
Z%E: B

2.2.1.49 The sign in picture means

A. No road borrowing
B. No overtaking
C. Overtaking ban is lifted
D. Overtaking is allowed
Answer: B

22150 PP bRaE RS SO .



®

AZE I AEAT
B.A% Ll 4=
o8 TR ST K
D.AR A 453
%H%: C
2.2.1.50 The sign in this picture means

®

A. No road borrowing
B. No overtaking
C. Overtaking ban is lifted
D. No lane changing
Answer: C

22151 PP bRERS SO .

>
B
i
=iy
Bt
e

&

5] AT

B.AE I ) e S
C.HEVFIn) 2o Sk
D.2% 1| |n) AR T 40
%Z%: B

2.2.1.51 The sign in the picture means

@

A. Left turn is allowed
B. No left turn
C. Left U turn is allowed
D. No lane changing to the left side
Answer: B
22152 Etbr&Eme SO
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@

AREBREE 1 BN B
B.HEVFIS B\
C.EE T 8
DR ATIRIETZIIN
%%: D
2.2.1.52 The sign in the picture means

@

A. Honk ban is lifted
B. Honk is allowed
C. Radio listening is prohibited
D. No honk
Answer: D
2.2.1.53 bRk ot

®

C. PR il 2
D.fiff B B 1 1 8
%H%: C

2.2.1.53 The sign in the picture means

®

A. Weight is limited
B. Road number
C. Speed is limited
D. Speed limit is lifted
Answer: C
2.2.1.54 Erhbr&ms SOt .
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A PR 5 &
B.IHH R
C. PR il 2
D. i 3% PR Ak 52
%%: D
2.2.1.54 The sign in the picture means

A. Weight is limited
B. Road number
C. Speed is limited
D. Speed limit is lifted
Answer: D
2.2.1.55 Ethbr&ms 3ot .

®

AZE ) BN EAT
B 44T
C X AL
D. & 4AbAT
%%: D
2.2.1.55 The sign in the picture means

®

A. No two-way passing
B. Going first when crossing each other
C. Two-way traffic
D. Yielding when crossing each other
Answer: D

22156 FEPbRaE RS SO .
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AMEVTEAT
B.Ak I H AT
C.HuEHAT
DA RN
Z%E: B

2.2.1.56 The sign in the picture means

@

A. Going straight is allowed
B. Going straight is prohibited
C. Going straight fast
D. No entry
Answer: B

22157 PP bREHS SO,

AZE I EAT R ) A e 2
B.HEVF EAT A ) L 75
C AL HAT A ) 2o e 25
D.EVF EAT M R A 25
%%: C

2.2.1.57 The sign in the picture means

A. Going straight and turning right are prohibited
B. Going straight and turning left are allowed
C. Going straight and turing left are prohibited
D. Going straight and turning right are allowed
Answer: C

2.2.1.58 PEPbRaE RS SO .
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AZE I EAT R ) A e 2
B.HEVF EAT A ) e 75
C AL HAT A ) fo e 25
D.EVFEAT A R A 25
H%E: A

2.2.1.58 The sign in the picture means

A. Going straight and turning right are prohibited
B. Going straight and turning left are allowed
C. Going straight and turning left are prohibited
D. Going straight and turning right are allowed
Answer: A

22159 KHbRERS A .

@

AEVT i) o R ) e 2
B.A& L) e fl ) A7 e 25
C.HEVF ) e 25
D.EVF AT 2
%HZ%: B

2.2.1.59 The sign in the picture means

@

A. Left and right turns are allowed
B. Left and right turns are prohibited
C. Left turniis allowed
D. Right turn is allowed
Answer: B

22.1.60 KHbrERS A .
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AZEIE A I 5

B.2AIEHLAN 4N
C.AE1EIp N

D. 2% | 44l s A B 2 il
&% D

2.2.1.60 The sign in the picture means

A. No long stopping for vehicles
B. No entry for motorized vehicles
C. No entry
D. No long or temporary stopping for vehicles
Answer: D
22161 FEPbRERS SO .

AZE TR I 5K

B2 11 A4 1 B B BN
C.2E I AR5 B4 %
DRI IRTIES YN

HE: A

2.2.1.61 The sign in the picture means

A. No long stopping for vehicles
B. No long or temporary stopping for vehicles
C. No temporary stopping for vehicles
D. No entry for vehicles
Answer: A
22162 FEPbRERS SO .
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3
It

A SR
B.A% I3 AT
CAE LGN
D5 4 kAT
HE: A
2.2.1.62 The sign in the picture means

A. Stop for inspection

2.2.1.63 bRl A .

AR I 4
B.F 4 kAT
C.ZE A5 I B I 45278

DRI IRIIE PN
%Z%: B

2.2.1.63 The sign in the picture means

A. No temporary stopping for vehicles
B. Stop to yield
C. No long or temporary stopping for vehicles
D. No entry for motorized vehicles
Answer: B
2.2.1.64 FEPRRERS SO .
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<

AERALT
B.&#ikAT
CAE IEikAT
D.Jid kAT
%%: D
2.2.1.64 The sign in the picture means

<

A. Stop to yield
B. Yield when crossing each other
C. No yielding
D. Reduce speed and yield
Answer: D
22165  EPhrEos HE AR,

>
DEJ[@
=

2.2.1.65 The sign in the picture means all vehicles are allowed only to

&

A. Go straight
B. Enter

Answer: A
2.2.1.66 KHbrEFRRAE-DIE®R_ .
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A A S
B.AEA AT
CAEAMAT I
D.[n) L6y

%Z%: D

2.2.1.66 The sign in the picture means all vehicles are allowed only to

o

A. Turn right
B. Go on the right side
C. Go on the left side

D. Turn left
Answer: D
22167 FEbrEFRos HE—UI4m_ .

AT

>
ey
ot
&
&

n

B. 5L ) 4T B
CAEA AT B
D.5ELEMAT
B A

2.2.1.67 The sign in the picture means all vehicles are allowed only to

A. Turn right

B. Go one-way

C. Go on the right side
D. Go on the left side
Answer: A

2.2.1.68 PFibrERos RifE—Emi_
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A BATRI A 32
B. BLAT I ) A
C. 24T T 7]
D.HIJ7 I e 2S

%HZ%: B

2.2.1.68 The sign in the picture means all vehicles are allowed only to

2o

A. Go straight and turn right
B. Go straight and turn left
C. Go along the lanes
D. Turn left ahead
Answer: B
22169 PrphrE s HE— DI 4

A AT ) A2 s
B.ZEIEAT B 7 )
C. HAT M) 47 25
DI 7 A A e i
B C

2.2.1.69 The sign in the picture means all vehicles are allowed only to

3

A. Go straight and turn left
B. Go along the lanes
C. Go straight and turn right
D. Right-turn intersection ahead
Answer: C
22170 PErpbrSAoR HE DI 4

O

AZE B AN A S
B.AA I HAT
C.lifidisk

D. [ 5 F ) 45 B 25
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2.2.1.70 The sign in the picture means all vehicles are

A. Prohibited from turning left or right
B. Prohibited from going straight
C. Prohibited from making U turns from either side
D. Allowed to turn left and right
Answer: D
22071 RS RoR HE D4

ASEA B AT
B.AE A {54
C.lf fr 25
D¢ Ze ME B AT Bt
HE: A
2.2.1.71 The sign in the picture means all vehicles are allowed only to

A. Go on the right road
B. Stop on the right side
C. Turn right
D. Go on the left road
Answer: A
22172 KHbREFRRAE-DIER_ .

Al Lot

B.AE 2 U B AT
C. T4
D.FEAT I TE B AT 38
%HZ: B

2.2.1.72 The sign in the picture means all vehicles are allowed only to
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&

C. Stop on the left side
D. Go on the right road
Answer: B
2.2.1.73  EtbriERos RE—v)_ 175,

O

2.2.1.73 The sign in the picture allows only.

o

>
P
o
7
3
(@]
=1
o
=.
N
@
o
<
@
=
23
)
w

B. Small buses
C. All motorized vehicles
D. Taxicabs
Answer: C
22.1.74 1 EPhr RO ZEE B

©

2.2.1.74 The sign in the picture means this section is only for

e
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A. The passing of motorized vehicles
B. The passing of bicycles
C. The parking of bicycles
D. The passing of non-motorized vehicles
Answer: D
22175 KpbrS Rz E R .

AN ZEAT I
BN L AT
CHELH
D/NEALH

B A

2.2.1.75 The sign in the picture means this lane is only for

A. The passing of motorized vehicles
B. The one-way passing of small buses
C. Vehicle tests
D. Small buses
Answer: A

22176 EPhrEFRR R .

AZETE
B.HAT4H
C.HATZL
DR SLES ]
%%: B
2.2.1.76 The sign in the picture means this lane is

A. Ano entry lane
B. A straight-going lane
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C. A one-way lane
D. Afast lane
Answer: B
22177 B PRRERRZEEE_ .

A HATFIZE 75 40l
B A HATAIE
C.or AT Y718

D. HAT A 145 408
%H%: C

2.2.1.77 The sign in the picture means these lanes are for

A. Ging straight and turning left
B. Turning and going straight

C. Going in different directions

D. Going straight and turning right
Answer: C

22178 Pbr s HEG_ .

A JEEEE
B.hii sk
CAUAT B
D.5EALMAT
% D

2.2.1.78 The sign in the picture means the vehicles are allowed only to .

A. Turn left

B. Make U turn

C. Go in two ways

D. Go around on the right side
Answer: D
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22179 BEhbrE RS G ES

A BEATFA e 7R 0E
B.RI T M A i A5 i
C.HAT M/ a5 4208
D.HI 7 0] Ao 45 408
HE: A

2.2.1.79 The sign in the picture means this lane is for .

A. Both going straight and turning right
B. Turning right ahead
C. Going straight and turning left
D. Turning left ahead
Answer: A
2.2.1.80 PP AREFRSHIE BT TE .

ACF SIS R ]
B. S A 3 R ol
C. R AP
D. d5 = B s B o1
%%: B

2.2.1.80 The sign in the picture means for motorized vehicles going into the road ahead.

A. The average speed limit
B. The minimum speed limit
C. The minimum speed limit is lifted
D. The maximum speed limit
Answer: B

22181 KPR FRRIZAe .
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AP EE
B AATH
CAATHAIE
D. )L i iE
%H%: C
2.2.1.81 The sign in the picture means this place is

B

A. Students’ passage
B. Pedestrian street
C. Crosswalk
D. Children’s passage
Answer: C
2.2.1.82 KIhrEERHsh AT Rizbnb b .

AZEIEWTT 8
B AR EREE 1E 0 B\
C.ZE g\
D. 44 ZB Mg B
%%: D
2.2.1.82 The sign in the picture means when a motorized vehicle reaches this sign.

A. Listening to radio is banned
B. The no honk ban is lifted
C. Honking is prohibited
D. Honk is required
Answer: D
2.2.1.83 KPS Rz E R M .
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ANLENAT B
B.HAT4%H
C. BAT AT I
D.AENLBN AT 3
%%: D

2.2.1.83 The sign in the picture means this lane is only for

A. The passing of motorized vehicles
B. The passing of bicycles
C. The parking of bicycles
D. The passing of non-motorized vehicles
Answer: D
2.2.1.84 KPS RoR VNS .

2.2.1.84 The sign in the picture means motorized vehicles are allowed to

A. Bypass
B. Make a U turn
C. Turn
D. Reverse
Answer: B
2.21.85 KRGS AT o

ATEBE TR
B. Bl A
C. AR X
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D.7r a4k
%H%: C
2.2.1.85 The sign in the picture indicates the place ahead is

A. Ademarcation line for road management
B. An interchange
C. An intersection
D. Aroad branching point
Answer: C
2.2.1.86 KIPhRETE AT Z_ .

D3

3%} :I KFEY

AERRAE S
B.AZ X % [
C.or#ht
DREREWAY
%%: D
2.2.1.86 The sign in the picture indicates the place ahead is .

A. Ademarcation line for road management
B. An intersection
C. Aroad branching point
D. An interchange
Answer: D
2.2.1.87 EIhrEmE SOE_ .

P

AfFE4Y
B.JIk55 X
CAE k=%
Dt g AN
HE: A
2.2.1.87 The sign in the picture means
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&J

A. Acar park
B. A service area
C. No parking
D. A dead-end road
Answer: A
2.2.1.88 KRGS O

A.<<T” TUgK
B.ULEE AN
C.AS X H
D.15 44
%%: B
2.2.1.88 The sign in the picture means .

A. AT-shaped intersection
B. A dead-end road
C. Anintersection
D. Acar park
Answer: B
2.2.1.89 K FREFRREITE_ .

AEEGEE
B4 AR i
C.EBUE %Al
D.5EAITHE
BE: A
2.2.1.89 The sign in the picture indicates the place aheadis .

A. A passing bay
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2.2.1.90

2.2.1.90 The sign in the picture is used to indicate the correct line for vehicles to at the

B. A road widening on the right side
C. An emergency stopping strip

D. Go on the right side

Answer: A

Pl b i F T HR 7T 7 6 1 2 AR AT B 2k

A ——
Ly L
I

Ak

B.Z¢AT
C.i%g
DA% i
Z%:. B

intersection ahead.

2.2.1.91

2.2.1.91 The signs in the picture are

A —
Ly L
I

A. Make a U turn
B. Make a detour

C. Turn
D. Change lane
Answer: B

BIrpbrasit_, FORHI AT 0 A TS, A NA% Sk ) ELAT B

AL 3R

B.AZ X 17 S b5
C.r i s

D.tH i T

Z%E:. C

A. Lane merging guide signs
B. Intersection guide signs

C. Lane branching guide signs
D. Exit guide signs

Answer: C

112
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22.1.92 BEPbRER_, FOREITAGRE, ER SRS TE R R R A B

AGTT SR

B.AZ X I Fh5

C.MR G Fh5

D. i F5 b

HE: A
2.2.1.92 The signs in the picture are , meaning lanes merge ahead and vehicles should
keep a safe distance with the merging vehicles.

© O

A. Lane merging guide signs
B. Intersection guide signs

C. Lane branching guide signs
D. Exit guide signs

Answer: A

22193 Kb, TS SR NSRRI

AT SR

B.&IE T h5

C.MR G FhR

DA X i 45

%%: B
2.2.1.93 The signs in the picture are , used to guide the vehicle drivers to change
direction.

A. Merging guide signs
B. Line guide signs
C. Branching guide signs
D. Intersection guide signs
Answer: B

2.2.1.94 BEPRRERE OE__.
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D. a1y
%%: D
2.2.1.94 The sign in the picture means

A. Passing by the left side
B. Passing by the right side
C. Passing is prohibited
D. Passing on both sides
Answer: D

22195 KHbRERS A .

A A
B. A liEAT
C.HmEAT
DA% LT
B A

i

2.2.1.95 The sign in the picture means

AN\

A. Passing on the left side
B. Passing on the right side
C. Passing on both sides
D. Passing is prohibited
Answer: A

22196 KHbRERS A .
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& 155

JINSHANSI

2km

At
BRI IX B 25
C. i X 5 17)
D. th HI 7
%%: B
2.2.1.96 The sign in the picture means

£ I1l5F

JINSHANSI

2km

A. Aplace
B. Distance to a tourist area
C. Direction to a tourist area
D. Exit alert
Answer: B
2.2.2 HlWrd: (59 &)
2.2.2 Judgment Questions (59 questions)
2221 PR T A S bRk

B IEH
2.2.2.1 The picture is a sign for a T-shaped intersection.

Answer: Right

2222 PHRE T RIAE S bR

B B

2.2.2.2 The picture is a sign for a T-shaped intersection
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>

Answer: Wrong
2223 KR RASE RS,

>

Ho: IR
2.2.2.3 The picture is a sign for a sharp right turn.

>

Answer: Right
2224 KRB EREG.

>

B HiR

2.2.2.4 The picture is a sign for a sharp curve.

>

Answer: Wrong
2225 BHPIEIESA BN,

>

Ho: IEH
2.2.2.5 The picture is a sign for continuous curves.

>

Answer: Right
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2.2.2.6 XA S bR

>

B HiR

2.2.2.6 The picture is a sign for two-way curves.

>

Answer: Wrong
2227 KRS GITIRE.

>

B HiR

2.2.2.7 The picture is a sign for yielding when crossing each other.

>

Answer: Wrong
2228 B NMTHUERR .

>

B HiR

2.2.2.8 The picture is a crosswalk sign.

>

Answer: Wrong
2.2.2.9 B RASHAE S AR

P>

Eaa SR
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2.2.2.9 The picture is a sign for traffic lights.

P>

Answer: Right
2.2.210 KPR SRS

P>

B 1B
2.2.2.10 The picture is a sign for a slippery road.

P>

Answer: Right
22211 BEIHPRIENE FEREIE bR

D

Ho: IR
2.2.2.11 The picture is a sign for an unmanned level crossing.

>

Answer: Right
22212 KT RN ERRE.

P>

Ho: IR
2.2.2.12 The picture is a village sign.

P>
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Answer: Right
22213 KPR bR

2.2.2.13 The picture is a sign for tunnel opening.

Answer: Wrong
2.2.2.14  BErPUEHTJ7 100m ARG bR .

B>

ER: Bk

2.2.2.14 The picture is a sign for level crossing 100m ahead.

AV

Answer: Wrong
2.2.215 PR HT T 150m ARG bR .

m[@

Ho: IR
2.2.2.15 The picture is a sign for a level crossing 150m ahead.
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m@

Answer: Right
22216 B EEATHRE.

Kl

Ho: IR
2.2.2.16 The picture is a slowdown sign.

=

Answer: Right
22217 HErPREEAEMSHTIRS .

>

B HiR

2.2.2.17 The picture is a sign for no left bypassing.

>

Answer: Wrong
22218 K RAMGATIRS.

>

B B

2.2.2.18 The picture is a sign for right bypassing.
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>

Answer: Right
22219 KRR EEATRRE .

O

B IEH
2.2.2.19 The picture is a sign for no passing

>
@
s
X
2
Q
=

22220 KAk b ThRE.

—

B B

2.2.2.20 The picture is a sign for no passing.

>
2
=
&
%@
o
a

22221 B MBI g AN bR .

®

B IEH
2.2.2.21 The picture is a sign for no entry to motorized vehicles.

>
@
s
X
2
Q
=

22222 Pk b 4 bRk,
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®

B IEH
2.2.2.22 The picture is a sign for no overtaking.

S

Answer: Right
22223 KEhREERAEIRS.

#
It

(= T

z
&

2.2.2.23 The picture is a stop-for-inspection sign.

G
BE

Answer: Right
22224 K RAFFAETIRS.

<

B B

2.2.2.24 The picture is a stop-and-yield sign.

<

Answer: Wrong
22225 KPR ZEIbR e iR,

B IEH
2.2.2.25 The picture is a sign for no left turn.
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@

Answer: Right
22226 KPR L AR,

@

B H

2.2.2.26 The picture is a sign for left and right turns.

@

Answer: Wrong
22227 K REEEATIA A RS IR

@

B IEH
2.2.2.27 The picture is a sign prohibiting going straight and turning right.

@

Answer: Right
2.2.2.28 PP RZE B I N R

B H

2.2.2.28 The picture is a sign prohibiting temporary vehicle stopping.

Answer: Wrong

2.2.2.29 AR B4 KR bR A
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? N
2.2.2.29 The picture is a sign prohibiting long stopping by vehicles.

Answer: Wrong
2.2.2.30 PR AR ERLARR .

B R
2.2.2.30 The picture is a sign prohibiting U turn.

Answer' Wrong
22231 KRS ANIERAT IR

? N
2.2.2.31 The picture is a sign for going by the right road.

Answer: Wrong
22232 KT BATERERE.

2. B

2.2.2.32 The picture is a one-way sign.
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Answer: Right
22233 KRS ALATIRG.

B

F%: 1B
2.2.2.33 The picture is a sign for going first when crossing each other.

B

Answer: Right
2.2.2.34 PR STHEATRR .

B B

2.2.2.34 The picture is a sign for yielding to traffic on the branch road.

-

Answer: Wrong
22235 KPR/ EFERS.

O

B B

2.2.2.35 The picture is a sign for small bus lane.

Answer: Wrong
22236 KT RERIT AR,
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>

H:

%
e
5

2.2.2.36 The picture is a sign for watching out for pedestrians.

&

Answer: Wrong
2.2.2.37 BRI HAT AT bR .

H: 1B
2.2.2.37 The picture is a sign for going straight and turning right at an interchange.

Answer: Right
2.2.2.38 P RAZHAT A LR HRA

e

F: 1B
2.2.2.38 The picture is a sign for going straight and turning left at an interchange.

e

Answer: Right
2.2.2.39 PR /AT RR

2.2.2.39 The picture is a left-turn sign.
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&

Answer: Wrong
22240 KPR BATLRNE.

2.2.2.40 The picture is a one-way sign.

o

Answer: Wrong
22241 KR AREERRE.

B B

2.2.2.41 The picture is a right-turn sign.

Answer: Wrong
22242 KT ENEIGFIERRE

HE: IE
2.2.2.42 The picture is a sign for motorized vehicle lane.

Answer: Right
2.2.243 KRR R BRI .
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B H

2.2.2.43 The picture is a sign for an accident-prone section.

Answer: Wrong
22244 BEHRRITR HUSRRE.
KiEE ERT Hi

QP

AT 77 300m
ZE: IEMf
2.2.2.44 The picture is a direction and place sign.
K#EH BRI A7

Qrp

BT 77 300m

Answer: Right
2.2.2.45 PPN BN DT ARG
RERRIE

JINGZHHU EXPWY

A 0O

ENTRANCE

& IEH
2.2.2.45 The picture is a sign for expressway entry ahead.
REHEIE

JINGZHHU EXPWY

A O

ENTRANCE

Answer: Right
22246 PR B RS .

Rl T&iE

HUMEN EXPWY

BE: HIR
2.2.2.46 The picture is a sign for expressway beginning.
ANy

HUMEN EXPWY

)
d
Answer: Wrong
2.2.2.47 P A B D AR
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HO

EXIT

?

B IEH
2.2.2.47 The picture is a sign for expressway exit ahead.

EE
O

EXIT

>
Z KN
5
«
=

2.2.2.48 B mATRRE

s .

g

% HR
2.2.2.48 The picture is a sign for passing from both sides.

vz

Answer: Wrong
2.2.2.49 SLTARICETRMEE AT, FEAT TG E0L 55 A e B AR, DAB R AR
Tl R -
e SR
2.2.2.49 A three-dimensional mark is designed to remind the drivers there is a structure above the
road surface in the carriageway or nearby and they should avoid collision.
Answer: Right
22250 HEARELTCERESFRIUER, NIRRT IRS .
e SR
2.2.2.50 When the main sign is unable to completely indicate the regulations, an auxiliary sign
should be set.
Answer: right
2.2.2.51  PEPRRAE IS SURME F AR SR I ) 1 9 o

7:30- 9:30 |
16:00 - 18:30 |

B IEH
2.2.2.51 The sign in the picture is designed to indicate the time ranges specified in the main sign.
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7:30- 930 |
| 16:00 - 18:30 |

Answer: Right
2.2.2.52 B bRE& B SO E bR S E X A EE BORHT S 200 K LAAME 6 B

2001 |

BR: BR

2.2.2.52 The sign in the picture is designed to indicate the section 200m ahead specified in the
main sign.

200..1

Answer: Wrong
2.2.253  PFPRRAE S SORE ARG HUAE DX TALRE 2 Ze 41 100 K P9 (R #BL.

B

100,

E

B IEH
2.2.2.53 The sign in the picture is designed to indicate the section within 100m on the left side
specified in the main sign.

100,

E

Answer: Right
2.2.2.54 B bR& B SO E bR E X ) EE 254 2245 75 50 K BAAR 1 % Bt o

50,/50,, _|

f

R B
2.2.2.54 The sign in the picture is designed to indicate the sections beyond 50m on both sides
specified in the main sign.

-

50,/50,, _|

%

Answer: Wrong
2.2.2.55 PR IR SUR AT 07 G X TR EE 25 04 1) 57 100 2K

100,

BR: BR

2.2.2.55 The sign in the picture is designed to indicate the section 100m ahead specified in the
main sign.
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100

ﬁ

Answer: Wrong
2.2.2.56 PP bR SCRME ThR G RE IR D
—InEE
XiE R
B IEH
2.2.2.56 The sign in the picture is designed to indicate the area specified in the main sign.
NG
XiE N

Answer: Right
2.2.2.57 PEPhREIE SUE RN E R 254 B

¥ &

B IEH
2.2.2.57 The sign in the picture is designed to indicate the reasons for warning or prohibition.

Answer: Right
2.2.258 KEH AR XERIRHT T 300 K e E Al

B B E ]

300m

B IEH
2.2.2.58 The sign in the picture is designed to indicate the road 300m ahead is closed.

300m

Answer: Right
2.2.2.59 IR IS SURFROR A AT

€ <<«

B R

2.2.2.59 The sign in the picture is designed to indicate the vehicles should turn right.

€ €<«

Answer: Wrong
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2.3 ibrgk (40 @)

2.3 Traffic Markings (40 questions)

231 GEFER: (26 D

2.3.1 Multiple-Choice Questions: (26 questions)
2311 AWAREALIIREDN I bRk

C.AEZ. AN
D4R/, 21k, &S
%%: D
2.3.1.1 Traffic markings are divided into according to functions.
A. Direction
B. Prohibition
C. Lane line, exit and entry
D. Indication, prohibition and warning
Answer: D
2312 BHPrRRERE_ o

AES IR
B.4% IEbREL
CHR7sbrgk
D.fihbrgk
%H%: C
2.3.1.2 The white marking in the picture is

A. Awarning marking
B. A prohibitive marking
C. An indicative marking

D. An auxiliary marking
Answer: C
2313 KPR ONSLE_ .

AL bRk
B.2% - hrgk
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CHR7nbrgk
D.fiihbrgk
%%: B
2.3.1.3 The double yellow solid lines in the picture are

A. Awarning marking
B. A prohibitive marking
C. An indicative marking

D. An auxiliary marking
Answer: B
2314 BEHPIRIEETLMSELE .

% i3
AES R
B.4% IEFRLL
CHR7Rbrgk
D.fiBhbrgk
HE: A
2.3.1.4 The double yellow central solid lines in the picture are

9 i3
A. Awarning marking
B. A prohibitive marking
C. An indicative marking
D. An auxiliary marking
Answer: A
2315 ATHAREALIIRESS T brgk.
AR

B.AA %

C.AEZ. AN
D.fif7s. 2Rk, &S
%%: D
2.3.1.5 Traffic markings are divided into according to functions.
A. Direction
B. Prohibition
C. Lane line, exit and entry
D. Indication, prohibition and warning
Answer: D
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2.3.1.6 WK R NEE DL, FkRSBE_ .

AT AT B 440
B 7 AT B (R4
CHLEh4: . ARHLEh 4 AT A
DRIRSEEVIE IR IRIKS

B A

2.3.1.6 The lane-dividing line in the picture is used to separate

2.3.1.7

A. The vehicles running in the same direction

B. The vehicles running in the opposite directions

C. The motorized vehicles, the non-motorized vehicles and the pedestrians
D. The motorized vehicles and the non-motorized vehicles

Answer: A
WP R NATIETEZ, AT AR b2k

AfE
B.ZEAT1E
C.EkIKIE 1
D. =AM
Z%: B

2.3.1.7 The crosswalk in the picture is a marking for the pedestrians to cross

2.3.1.8

A. Astreet

B. A carriageway
C. Alevel crossing
D. An expressway

Answer: B
Kl tabre
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A, FEATIELSE

B. AT Stk

C. XLIn) P 4T i T 0 2k
D. ZEI-ARI 416 2k
Z%E: C

2.3.1.8 The yellow marking in the picture is

The border line of a carriageway

The lane-dividing line

The central line of a two-way, double lane road
The line prohibiting lane change

Answer: C

2319 HWhAMEL R

oo w»

ATATIE D 2
B4 AR H A TE 2k
COBL i) P 43 B Lo 2
D.ZEATIE ) S 2k
%%: D
2.3.1.9 The white line in the picture is

A. The border line of a carriageway
B. The line prohibiting lane change
C. The central line of a two-way, double lane road
D. The lane dividing line
Answer: D
23110 KIPEOAARLRE Lt .

AL I3[R 7 Il R 44T 18
B. AN IE N %
CHEVF A4l 2l 4+
D25 | B4 2 4 a2 AT
%%: D
2.3.1.10 The yellow markings in the picture are designed to
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A. Divide the carriageways in the same direction
B. Indicate the border of a road
C. Allow the vehicles to cross the line for overtaking

D. Prohibit the vehicles from crossing the line for overtaking or rolling on the line
Answer: D

2311 KHhREETSBOMAGOSEL S .

A ibZ
B.ikAT4k
C.RIH AT 2k
D250 X brzk
BE: A
2.3.1.11 The white solid line vertical to the road side in the picture is

A. Astop line
B. Avyield line
C. A slowdown and yield line
D. A marking for a prohibitive area
Answer: A
23112 WmEprsAGEEEREL_ .
<>

AJHGE LT 4R

B AT TE T b
C.H 1Tk
DA X bRk

%%: B

2.3.1.12 The white diamond-shaped markings in the picture are
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A. Aslowdown and yield line
B. A crosswalk alert marking
C. A slowdown and yield line
D. A marking for a prohibitive area
Answer: B
23113 EHRFURBONAGELX N

£E

1
1

o

R 3

ﬁg;

AJE S G n
B AT A Rk X
C.AH2 Fn
D. /B R X

%HZ: D

2.3.1.13 The areas in the white broken lines at an intersection in the picture are

A. Left-turn guide areas

B. Right-turn waiting areas
C. Right-turn guide areas
D. Left-turn waiting areas

Answer: D
23114 K proREE THIAM A G PATRE (B h_ hngk.

4 4 JPATEE 9 9 4 4 4

AR A B AEFE A
B. NMATH#IE

CAF 24y

D. Wi 2 5 i
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HE: A
2.3.1.14 The white parallel solid lines (zebra lines) vertical to the road side in the picture are
markings for

4 4 4 PATEE

A. Ascertaining the distance between the vehicles on the expressway
B. Pedestrian crossing

C. Vehicle stopping

D. Toll island ground

Answer: A

2.3.1.15 wgﬁm,Wﬁ@Phﬁ,%ﬁm@$__

......

%%@# FEEd] P
A%ﬁﬁ%ﬂif *T/ﬁ

B. 5 ARAT B FEAFAC TAR Il sl e
C. I AT B BE AN B AR i st e
D. i bR

Kz, C

2.3.1.15 The speed I|m|t 5|gns in the picture indicate

xxxxx

,,,,, : i #%HE
A. The average speed standards for motorized vehicles

B. The motorized vehicles should not run slower than the speeds specified in the
markings

..... HE mﬁ

C. The motorized vehicles should not run faster than the speeds specified in the
markings

D. The designed speed standards

Answer: C

2.3.1.16 MR A, SEgk— AR 1 AR e A a1 e e S

A BRI L2
B.AATIE /P S 4k
C ATHUEL

D. L B {0 RS 2L

sedz. D
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2.3.1.16 The markings in the picture are , with the solid line prohibiting vehicles from
crossing the line to overtake or turning left.

A. The central line of a road
B. A lane-dividing line
C. A crosswalk line
D. The central yellow broken and solid lines
Answer: D
23117 KPR A_ bRgk.

AZE B A IS R
B.A% 11 22 1 452 T
ORI SuRSN A N &R
D. %30 m DA B B B 457 5 4
HE: A

2.3.1.17 The marking in the picture

A. Prohibits vehicles from stopping at the road side for a long time
B. Prohibits vehicles from stopping at the road side temporarily
C. Prohibits vehicles from stopping at the road side for a long time or temporarily

D. Allows vehicles to stop at the road side for a long time or temporarily
Answer: A

2.3.1.18 KPR A_ bRgk.

A 1 3 320 K B A5 T
B2 11 a2 A i B B 45 T80 A
(ORI SRS Ny R

D. %31 m DA B B B 457 5 4
%%: B

2.3.1.18 The marking in the picture
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A. Prohibits vehicles from stopping at the road side temporarily
B. Prohibits vehicles from stopping at the road side for a long time or temporarily
C. Prohibits vehicles from stopping at the road side for a long time

D. Allows vehicles to stop at the road side for a long time or temporarily
Answer: B

23119 K FREE_ ngk.

AZERHIX
B.2& =X
C.HLfE
DNGEEAREIN
%H%: C
2.3.1.19 The markings in the picture are

A. No passing areas

B. No stopping areas

C. Central circles

D. Simplified cross-hatched areas
Answer: C

2.3.1.20 KPR EAGXSEL S bngk.

BEN TR

AZE 54
B.i% 4
CARMLBD 445 2%
D5 4 kAT
%%: D
2.3.1.20 The white double solid lines in the picture are a marking for
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23.1.21

2.3.1.21 The white double broken lines in the picture are a marking for

2.3.1.22

A. No stopping

B. Stopping

C. Stopping of non-motorized vehicles
D. Stopping and yielding

Answer: D

K pr7s U brgk.

AJFIEALAT
B.2% -5 4=
CAFZEikAT
D.AENLBN 415 4=

B A

A. Slowing down and yielding

B. No stopping

C. Stopping and yielding

D. Stopping of non-motorized vehicles
Answer: A

KB bRk

Arfr b

B. /2 LI B A5 2 B A AR
C.AE 14 Sebrid

D. {5 %4

%%:. B

2.3.1.22 The picture is .
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A. Amarking for central circle

B. A simplified cross-hatched area for no temporary stopping
C. Amarking for no U turn

D. A parking space

Answer: B

2.3.1.23 KPR A_ bRgk.

AZELT
B.AE I
C.AE 1Sk
D2k 1L E %
Z%E: C

2.3.1.23 The pictures are markings for .

A. No passing
B. No turn

C. No U turn
D. No stopping
Answer: C

2.3.1.24  mEpTRTPO ARSI, o .

AL M ASHEVT 2 5B 6 4

B. S — HE V=40 1) 2 e 25

C. S — AR 1170 B b 7 B ) 2 i 25
D.HEZk — M ANHEVF 4240 1) f it 2s

%H%: C

2.3.1.24 The central yellow broken and solid lines in the picture mean

A. The broken line prohibits vehicles from crossing and overtaking

B. The solid line allows vehicles to turn left

C. The solid line prohibits vehicles from crossing to overtake or turning left
D. The broken line prohibits vehicles from turning left

Answer: C
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2.3.1.25 KEH RO EERRE N .

0 "
' '

' '

' '

'

'

'

'

i

(I

il

AR EE
B.AEHLAN A AR B X bk
C.Hh0
D. 3k
B A

2.3.1.25 The yellow marking at the center of an intersection in the picture is

i

T

A. A cross-hatched marking
B. A marking prohibiting non-motorized vehicles from passing
C. Acentral circle
D. Aguide line
Answer: A
23126 BEPPIRBESIRIRL AN .

ASFH I
B.i% H 3k
C AATHATEZ:
D.ARHLE 44515 X
%%: B
2.3.1.26 The zebra marking in the picture is
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A. Astopping island

B. A junction guide line

C. A crosswalk

D. A waiting area for non-motorized vehicles
Answer: B

2.3.2 HlFrE: (148D
2.3.2 Judgment Questions: (14 questions)
2321 KPR brgot flibrge .

B B

2.3.2.1 The line in the picture is an auxiliary marking.

Answer : Wrong
2322 KHPPRbREEE bR

BE: HNR
2.3.2.2 The markings in the picuture are warning lines.

Answer : Wrong

2.3.2.3 QB sE EON A Y ASE B T RE LR, T 20 B[R] R AT B I AT

BE: HIR
2.3.2.3 The yellow central broken line on a two-way road is used to separate the traffic flow in
the same direction.

Answer: Wrong

2324 KPR EAOEATES S, RIS BT 04T B AT .

B R
2.3.2.4 The white lane-dividing line in the picture is used to separate the traffic flow in opposite
directions.
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Answer: Wrong

2325 WEPrRAGKLRENGE, NARIERHEh 48 L %.

A IEf
2.3.2.5 The white solid lines in the picture are lane borderlines used to indicate the borders of the
lanes for motorized vehicles.

SRR E2Y

Answer: Right
2.3.2.6 W EEFREEHE N ) DX 7S A A

B IEH
2.3.2.6 The areas within the white markings in the picture are the areas for vehicle parking.

Answer: Right
2.32.7 WP FEAREAE N ) DR R AR LB A S TR

B B

2.3.2.7 The areas within the white markings in the picture are the areas for no vehicle parking.

Answer: Wrong

2328 WEPTR, (GG REL, Rk RS S L AT
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BE: HNR
2.3.2.8 The white left-turn guide broken line in the picture means the left-turning vehicles should
drive on the right side of the guide line.

Answer: Wrong

2.32.9 QulEprs, b 0 S R Sk SRR RN AT B K T ) o

B IEH
2.3.2.9 The guide arrows on the road in the picture indicate the directions in which the vehicles
should drive.

Answer: Right
23210 WEPIR, O OEERE, RN — R4 A A ) e, R
L MIANAEVE 4 b 4 al 1) e 725

B B

2.3.2.10 The central yellow broken and solid lines in the picture indicate that the solid line
prohibits vehicles from crossing to overtake or turning left and the broken line also
prohibits vehicles from crossing to overtake or turning left.
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Answer: Wrong
23211 WE PRk, HUAX MR, N, RS X D A S TR R,
TG R EAT L.

& IEf

2.3.2.11 The central circle in the picture is used to distinguish between the sharp and gentle turns
of the vehicles and guide the left and right turns of the vehicles at the intersection. The
vehicles are not allowed to roll over the marking.

Answer: Right
23212 WEPIRE RO EREIRG, T fon B NS EAEIZ A I 54, Bk
AT FH 2 o

il

(UL

1]

B IEH

2.3.2.12 The yellow cross-hatched marking at the center of the intersection in the picture is used
to indicate to the drivers that no temporary stopping is allowed in this area in order to
prevent traffic congestion.

il

(UL

1]

Answer: Right
2.3.213 WK PR E I RO EARE NN AR AR, T s 2 B AN AR AR X
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IR 42 2

il
‘.

U

g

4

BE: HNR

2.3.2.13 The yellow marking at the center of the intersection in the picture is an area prohibiting
the passing of non-motorized vehicles, used to indicate to the drivers that temporary
stopping is prohibited in this area.

AR

8]

Answer: Wrong
23214 EIPPIRBESAR S, FOREMININE R EATRE,  HR] DU 2 ik .

S \§S/
BE: HIR
2.3.2.14 The zebra markings in the picture mean the vehicles should go along the indicated lines
and may roll on or cross over the markings.

ST \§/ TR

Answer: Wrong

24 FTHELTHGES (228D

2.4 Hand Signals of Traffic Police (22 questions)
241 GEFEE. (118D

2.4.1 Multiple-Choice Questions: (11 questions)
2411 KPEERNTHAA_ fF9.
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A EAT
B.4L%
CA#ik

D. S
B A

2.4.1.1 The hand signal of the traffic police in the picture is a signal for

A. Going straight
B. Turning
C. Stopping
D. Pulling over
Answer: A
2412 KPZHEENTAN__fFH9.

AR

B. HATHIEh
CA#ik

D. 14T
Z%E: B

2.4.1.2 The hand signal of the traffic police in the picture is
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A. Asignal for turning

B. An auxiliary signal for going straight
C. Assignal for stopping

D. Asignal for going straight

Answer: B

AGEINEE
B.AC S Al )
C.lE K2
D. 47

B C

2.4.1.3 The hand signal of the traffic police in the picture is

A. Asignal for pulling over

B. An auxiliary signal for turning right
C. Assignal for turning left gently

D. Asignal for turning right

Answer: C

2414 WHEESTFHRN (G55,

150



ATCHETS

B. e B i)

C.ik

D.Ze /N

%%: D
2.4.1.4 The hand signal of the police in the picture is

A. Asignal for turning left
B. An auxiliary signal for turning left
C. Assignal for stopping
D. Asignal for turning left sharply
Answer: D

2415 K PEETFAN  fF5.

ATeiE 5
B. TS
C. e/ N i )y
D.7e/ NS
HE: A
2.4.1.5 The hand signal of the traffic police in the picture is
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2.4.1.6

A. Asignal for waiting to turn left

B. Assignal for turning left

C. An auxiliary signal for turning left sharply
D. Asignal for turning left sharply

Answer: A

KPR THA__fF5.

AR5
B.f# 1k
C.lE#

D. S
% B

2.4.1.6 The hand signal of the traffic police in the picture is

A. An auxiliary signal for stopping
B. Asignal for stopping

C. Assignal for turning

D. Asignal for pulling over
Answer: B

2417 WHPESTHRN 55,
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ASEEATE R
B.fz 1k
C AT
D.5EilfF 4
%%: D
2.4.1.7 The hand signal of the traffic police in the picture is

A. Asignal for pulling to the left
B. Asignal for stopping
C. Assignal for turning right
D. Asignal for pulling over
Answer: D

2418 K PEETAN 9.

AdEINEA
B M7
C. 15 114 B
DA i

%2 D

2.4.1.8 The hand signal of the traffic police in the picture is
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2.4.1.9

2.4.1.9 The hand signal of the traffic police in the picture is

A. Asignal for pulling over

B. Assignal for slowing down

C. An auxiliary signal for stopping
D. Asignal for turning right
Answer: D

KPR THA__fF5.

AT AT
B. AL
C.f5 14 B
D. ik

B A

A. Asignal for slowing down

B. Assignal for pulling over

C. An auxiliary signal for stopping
D. Asignal for turning left
Answer: A

24110 PpEEg TR 55,
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ASEILE S
R K SN EK
(OR gTat 1111
D.Jds 14T
%%: B
2.4.1.10 The hand signal of the traffic police in the picture is

A. Asignal for pulling over
B. Asignal for the front vehicle to yield to the back car
C. An auxiliary signal for stopping
D. Asignal for slowing down
Answer: B
24111 RIPEETHEN fFY.

ASEIE S
B~ Rl B AR AEE L 4 4
(OR TRt 1]
D.Jgs 14T
%%: B
2.4.1.11 The hand signal of the traffic police in the picture is
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A. Asignal for pulling over

B. Asignal for a rule-breaking vehicle to pull over
C. An auxiliary signal for stopping

D. Asignal for slowing down

Answer: B

242 RIS (1180
2.4.2 Judgment Questions: (11 questions)
2421 KPEETHAEARE S

B IEH
2.4.2.1 The hand signal of the traffic police in the picture is a signal for going straight.

Answer: Right
2422 KWPEETHAIEERFS.
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2.4.2.2 The hand signal of the traffic police in the picture is a signal for turning left.

Answer: Wrong

2423 KPEFETHRAETHIES.

B IEH
2.4.2.3 The hand signal of the traffic police in the picture is an auxiliary signal for going straight.

Answer: Right
2424 BPEETHN ARG S,

B B

2.4.2.4 The hand signal of the traffic police in the picture is an auxiliary signal for turning left.
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Answer: Wrong

2425 KB FRN A HEIE T,

B B

2.4.2.5 The hand signal of the traffic police in the picture is a signal for turning right.

B B

2.4.2.6 The hand signal of the traffic police in the picture is a signal for turning left sharply.
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Answer: Wrong
2427 BPELETHNIFIEE S,

B B

2.4.2.7 The hand signal of the traffic police in the picture is a signal for stopping.

Answer: Wrong
24.28 KHPEETHGITFRLE S S .

j}

BE: HIR
2.4.2.8 The hand signal of the traffic police in the picture is a signal for the front vehicle to yield
to the back vehicle.
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Answer: Wrong

2429 KB FRNAFEIE S,

B B

2.4.2.9 The hand signal of the traffic police in the picture is a signal for turning right.

Answer: Wrong
24210 PP ES T LR TR LS 5T,

B IEH
2.4.2.10 The hand signal of the traffic police in the picture is a signal for the front vehicle to
yield to the back vehicle.
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Answer: Right
24211 K EETH I REEEEILEEE S

!

E SR

2.4.2.11 The hand signal of the traffic police in the picture is a signal for a rule-breaking vehicle

to pull over.

ﬁ

Answer: Right

3. TEITE. XHBRHIR (145 EH)

3. Knowledge on Safe and Courteous Driving (145 questions)

31 wAeHAFES (118D
3.1 Safe Operation (11 questions)
311 JEF: (6D
3.1.1 Multiple-Choice Questions (6 questions)
3111 HBUESEAN, _ Frit.
AT AT LA I 20T
B. A LABH E #R A
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C. T [F] I 2 I
D. ] LU % 5y
%H%: C
3.1.1.1 When riding a motorcycle, the steering handle bar.
A. Both hands can temporarily leave
B. \oluntarily operate
C. Itis prohibited to simultaneously move two hands from
D. ltis able to statically turn
Answer: C
3.1.1.2 HRUEESTA LI, W CRUERTEC NI BT, 2Rk 5L ORI S AR S,
NEE LW
At
B.J5#
C.Hi#
DAt
%H%: C
3.1.1.2 When riding a motorcycle to climbing a slope, to ensure the front wheels sticky to the
ground, the driver should take a proclinate posture to move the center of gravityto .
A. The left
B. The back
C. The front
D. Theright
Answer: C
3.1.1.3 HREESTA TIN, NORERESTAERIS AT, R AEESER, S5,
NEBELmH_
AJEFs
B.c#
C.Hi#
DAt
HE: A
3.1.1.3 When riding a motorcycle to decending a slope, to ensure the horizontal balance, the
driver should straighten up, and move the body back to move the center of gravityto .
A. The back
B. The left
C. The front
D. Theright
Answer: A
3114 hmERh TRIEATRIEE, AR .
AJEFs
B.Zc i
C.Afifhi
D.Hi#
%%: D
3.1.1.4 To prevent the front wheels from floating off when accelerating, the driver should keep
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his body to .
A. The back
B. The left
C. Theright
D. The front
Answer: D
3115 UGN Y EEST AR KA P, B AN AT .
AJEF
B.Zcfhi
C.Hi#
D. i
HE: A
3.1.1.5 To keep the horizontal balance of the motorcycle when decelerating, the driver should
keep his body to
A. The back
B. The left
C. The front
D. Theright
Answer: A
3.1.1.6 RGN, AR N ONERL, SEI BRI SOR AR B, SRR s aE
ANHER AW, 2452 .
A5
B. i
C.Ja i
D. i
%%: D
3.1.1.6 When making a turn, the motorcycle will lean to the inner side; at this moment, the driver
should tightly hold the gasoline tank and lean his body to the __ side of the curve to achieve a
harmonious cooperation between the driver and the motorcycle and safely make a turn.
A. Outer
B. Front
C. Back
D. Inner
Answer: D
3.1.2 AW (58D
3.1.2 Judgment Questions (5 questions)
3121 HRESEA, N EBOEEHI K LKA, SRS S K.
B IEH
3.1.2.1 A motorcycle driver should wear long-sleeve and long-trouser-leg clothes with brilliant
color so that he can be easy found by other transports participants when he is riding.
Answer: Right
3122 BRSBTS, AMT ReIT 4.
K IEH
3.1.2.2 Itis unsafe to ride a motorcycle by high-heel shoes.
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Answer: Right
3.1.2.3 JEICAEIIREMTRAGS, B ATIREARAT, ARG L R T R E A
B IEH
3.1.2.3 When a motorcycle crossing a transversal obstacle, the driver should slow down in
advance to let the wheels pass the transverse by a right-angle.
Answer: Right
3.1.2.4 HBPPESTAEA, HHE A NARYEEE . A RN e Al HEFARI 4 B TR A
B, DAORFREEFE A (-7
B IEH
3.1.2.4 When making a turn, according his speed and the angle of the curve, the driver should
adjust his posture and the inclination of the motorcycle to keep the balance of the motorcycle.
Answer: Right
3125 ST AAERRERATRIN, — ORI, R R S 0 4 s Al D 1S
T UN AN
Bg: HR
3.1.2.5 When driving on a rough road, a semi-crouch posture is generally adopted to reduce the
bumpy feeling by utilizing the extension and flections of knee joint.
Answer: Wrong

3.2 SRPIAEON L AT AN (16 D
3.2 Impact of Driving Environment on Safe Driving (16 questions)
3.2.1 EFEE. (8D
3.2.1 Multiple-Choice Questions: (8 questions)
3.2.1.1 RRIJA BRI, ATRR ARSI, A
AGIRE PR K
B AP A EE T4 25 BN R IR
C. AR 2k RH] i i 4
D. R AR sl
%%: D
3.2.1.1 As the road is wet and slippery after rain, brake application when driving can easily
A. Cause engine kill
B. Be ignored by the drivers of other vehicles
C. Cause collision due to poor visibility
D. Cause skid and sideways slide
Answer: D
3.2.1.2 CUPEAGLIEACIE T BATIENE, BT A RS G R .
A RIS R
B.IZWHE K
C. U/
D. XA
%H%: C
3.2.1.2 When a vehicle runs on a wet and slippery road, the adhesion to the road surface
as the speed increases.
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A. Increases drastically
B. Increases gradually
C. Decreases drastically
D. Does not change
Answer: C
3213 ZRAUEATHM TR
A RBIHLE K
B.5 KA
CATHEBH 139K,
D.AE MM, PLLANG
%%: D
3.2.1.3 The main impact of foggy weather on safe driving is
A. The engine can easily stop
B. The vehicle can easily slide sideways
C. The resistance the vehicle increases
D. The visibility is low and the vision is poor
Answer: D
3.2.1.4 RIS B LE AR 2, i .
ALK
B.Ag
CAZ
D.JCKIHE
%%: B
3.2.1.4 At night, the driver’s observation is markedly poorer than in the daytime and the range of
visibility range is
A. Longer
B. Shorter
C. Unchanged
D. Irregular
Answer: B
3215 UKFEATHM__ .
A B E
B.HUIERESIAZ K
C. & It 1R
D.Hah e AT 224
HE: A
3.2.1.5 When driving in icy and snowy weather,
A. The braking distance becomes longer
B. The resistance to slide becomes larger
C. The road grip becomes stronger
D. The braking performance does not change

Answer: A
3216 YRITIEBA ST E RS .
AATHIBH A5/
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B. AR A Sy i e AN i
C.HENLPEAR, HLEFHM
DRI ESPIE PN
%%: B
3.2.1.6 The main impact of muddy roads on safe driving is
A. The resistance to the vehicle becomes weaker
B. The tires can easily spin and skid
C. The visibility become lower and blurs the field of vision
D. The road grip becomes stronger
Answer: B
3.2.17 ATHHRIGEN T WA@Y, S H O4E, IERRMIEE .
AINEEAT B
B/ n] E kg ikt L1
CORFRI AT B
DEEIEEIS
%%: B
3.2.1.7 When a vehicle coming in the opposite direction suddenly overtakes and occupies your
lane, the correct way to deal with this situation is to
A. Speed up and go forward
B. Reduce speed and avoid as much as possible
C. Maintain the original speed
D. Obstruct the way of that vehicle

Answer: B

3218 WIHATZR, BHSDCTMRILK, N .
AJRIEAT Y
B. XS5, JbfEs

CorENhlsh, FElfss:
DRI, M4
%H%: C
3.2.1.8 If all lights of a vehicle on the road go off suddenly at night, the driver should
A. Drive at reduced speed
B. Brake as fast as possible and stop where it is
C. Brake immediately and stop on the road side
D. Stop slowly under inertia
Answer: C

3.2.2 HWrdl: (8 @)

3.2.2 Judgment Questions: (8 questions)

3.22.1 JEXGEK, WIRESMEATIP MBS A AR A
B IEH

3.2.2.1 Violent wind can cause a sideways swerve to a running vehicle.
Answer: Right

3.2.22 MIATYA, HBNMERAZKL, WS, VERI LT, BT .
B IEH
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3.2.2.2 When driving at night, the driver’s visibility range becomes shorter and his observation
becomes poorer. At the same time, the driver can easily become tired because he has to highly
concentrate his attention.
Answer: Right
3.2.2.3 B AREAT 42380 AT YGRS I, JELIN 18] P9 AT REAE T i 5 S R 15 0L o
B R
3.2.2.3 When driving at night, the driver can still see clearly the road conditions in front within a
shortly after he encounters the high beam light in the opposite direction.
Answer: Wrong
3.2.2.4 VKIEBATA, W TARI N GE SO, it s N H BZ 7 AR
B IEH
3.2.2.4 When driving in icy and snowy weather, light reflection from the accumulated snow can
easily make a driver feel dizzy and have an illusion.
Answer: Right
3.225 A{EUKEIERK LATHN, PEFCARIRE MERRAR, DNl SOns 4= e bk o) 2 e el T
Ho: IR
3.2.2.5 When driving in icy and snowy weather, because of the reduction of the stability, it is
easy for the wheels to race or slip when rapidly speeding up.
Answer: Right
3.2.2.6 A{EURITER BB, PR ARG RANESILRE, FECCHE .
Ho: IR
3.2.2.6 When driving on a muddy roads, it is easy for wheels to sideslip or skid, which leads to
traffic accidents.
Answer: Right
3.2.2.7 ATHPIEN W EREATE A, S HOER, ATk, 0Tk,
B B
3.2.2.7 When a driver suddenly encounters a vehicle in the opposite direction that forces its way
by overtaking and occupying his lane, the driver may refuse to avoid it and force it to yield
to you.
Answer: Wrong
3.2.2.8 MIEATARE, EAIDERMIK, NAHEEHE, HdE4,
B B
3.2.2.8 When all lights of a vehicle suddenly go off while running at night, the driver should
immediately brake and stop.
Answer: Wrong

3.3 I (288D

3.3 Courteous Driving (28 questions)

331 EFEE: (16D

3.3.1 Multiple-Choice Questions: (16 questions)

3.3.11 ATHBART R AACGE S, TN, M
AL EGEE P
BAF 4 WL
Coid (=2, BRI B, JFrRIRE
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D. i d

%H%: C
3.3.1.1 When encountering a traffic accident ahead and help is needed while driving, the driver
should

A. Bypass to dodge it as much as possible

B. Stop and look on.

C. Help to preserve the scene and immediately report to the police

D. Speed up and pass to ignore it

Answer: C
3.3.1.2 ATHrIEAC I i A RO, N .

AN R AT 1A BE B AR R el kAT S B A

BJSEMETT, DA

C.Leid Bl AT 3t

D. i #E T I

BERA
3.3.1.2 When discovering the persons injured in a traffic accident need rescue while driving, the
driver should

A. Send the injured persons to hospital in a timely manner or make emergency calls

B. Dodge as much as possible

C. Go ahead by bypassing the scene

D. Find an excuse to dodge the scene

Answer: A
3.3.1.3 ATAAERDN R4 EATRL N

A BSETEHrhTRE

B. E3h45 X U kAT

CHIRIT Eom it s

DI T3 5E AT Bl

%%: B
3.3.1.3 When encountering a vehicle in the opposite direction forcing its way by using his lane,
the driver should .

A. Go ahead by the center of the road

B. Woluntarily yield to the other side

C. Use the high beam light to warn the other side

D. Force the other side to drive by the right side

Answer: B
3.3.1.4 ATHEPRINET T IEBNE, N_
AT HRHLA T4

B M REHG 2 7 (1) 2 i i ik
C.oud 5 45, AR UCHE BAAEA%
D. I\ fEfie
%H%: C
3.3.1.4 When discovering traffic congestion ahead while driving, the driver should
A. Find a chance to overtake the vehicle in front
B. Weave through other vehicles
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C. Reduce speed, stop and wait in line
D. Honk to urge other vehicles
Answer: C
3.3.15 BRI TR AT AT W MER A, N .
AR EXTTIER, IEHATH
BN R T Ak AT
C.HEA I sk AT
DS EALIEXRJT 54T
%%: D
3.3.1.5 When finding a vehicle in the opposite direction having difficulty to go forward and
needing to borrow road while crossing each other, the driver should
A. Not occupy the road of the other side and should go forward normally
B. Indicate the other side to stop and yield
C. Speed up and go forward by the right side
D. Yield to the other side as much as possible
Answer: D
3.3.1.6 ATHHUER T A ESRE N, Y.
AL ) A AT BT
B AT
C.HEA I s AT 38
D.ANEAT
HE: A
3.3.1.6 When discovering a vehicle behind wanting to overtake while driving, the driver should
A. Move to the right side and yield in a timely manner
B. Reduce speed and go ahead slowly
C. Speed up and go ahead by the right side
D. Not yield
Answer: A
3.3.1.7 ATHP ORI EEFL A TVRIT IR B, WO, N
AZEfTil R
B. 33 B
CALTANIL
D.ZeEAT I
%%: B
3.3.1.7 When discovering another motorcycle stuck in a muddy road and requiring help while
driving, the driver should

A. Bypass
B. Help voluntarily
C. Ignore it
D. Make detour
Answer: B
3.3.1.8 VMBI =4 B Ri . RAPVERT) . AP
AERC 4
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B. TR A
C.heHi by
D.fI#AT 4=
%H%: C
3.3.1.8 The three golden rules for cautious driving are concentration, careful observation and
A. Be bold and careful
B. Be nimble
C. Early prevention
D. Drive slowly
Answer: C
3.3.19 HBEESTAIERATRIN, XEEE OB EAT HULYE, ERTREAIRE_ .
A2 s REls 4
B. S n) ik geid
C U3 A S A Al i
D. PAafs 4
%%: D
3.3.1.9 When a motorcycle runs normally, the driver should be able to foresee road conditions
and can ___ when approaching an obstacle.
A. Take an emergency brake and stop the vehicle
B. Swiftly steer away and bypass
C. Rapidly dodge to avoid collision
D. Steadily stop the vehicle
Answer: D
3.3.1.10 HBAAEEAEN, AT EARGE, AikE, W
AL SN T\
B. g 4k 25 i
CAF I gk a4
D. IS, (APl
%H%: C
3.3.1.10 When overtaking, the driver should if the motorcycle in front refuses to
reduce speed or yield.
A. Continuously honk and speed up to overtake
B. Speed up and continue to overtake
C. Stop overtaking
D. Follow closely and find chance to overtake again
Answer: C
33111 B AAEBAN, KRBLATT FIEAEE R, Y
ASERIL)S, AL
B. I 5 4 7k
C LS W W\ By 4= 1k %
D5 1B A, bR e 4
%%: D
3.3.1.11 When overtaking, the driver should if he discovers the vehicle in front is
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overtaking.

3.3.1.12

A. Follow closely and find chance to overtake

B. Speed up to overtake forcefully

C. Continuously honk to urge the vehicle in front to yield
D. Stop overtaking and allow the vehicle in front to overtake first
Answer: D

YRR AN, O T gAY,
AR LLEE

B. 2R LA Ty LA

C A G ik

D. 7] LA A

%H%: C

3.3.1.12 When driving a motorcycle, the driver for the sake of safety.

3.3.1.13

A. May wear slippers

B. May wear any shoes

C. Should not wear slippers

D. May wear high heels

Answer: C

KRILHT T BRI E, IERRIEE
AGREL G ARGAT

BLUL A 238 A i

C. M W W\ 7= i 7 2 R AT 3t
D F WP 4255 A

%%: D

3.3.1.13 When discovering a road congestion ahead, the correct way to deal with this situation is

to

3.3.1.14

A. Continue to weave through

B. Find space and overtake one vehicle after another
C. Honk to indicate the vehicle in front to speed up
D. Stop and wait in line

Answer: D

KHLETTT (s U2, ERRREIR S
ATHOEAF 2, SERTT IR Bl S, R AR T
B. 4k 4G A 2K 1

C. MWW\ o< i 77 BEAE - R gt i

D. - FRAL2x M 3 ik

HE: A

3.3.1.14 When discovering a congestion at the intersection ahead, the correct way to deal with
this situation is to

A. Reduce speed, stop and wait till the congestion is cleared
B. Continue to enter the intersection

C. Honk to indicate the vehicle in front to speed and pass
D. Find chance to pass from both sides

Answer: A
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3.3.1.15 BN, B EEFRAAN LB E, N
AR
B 1EE 4=
C.ZELENS W R
D.JT Ji Al KT e
. B
3.3.1.15 When overtaking, the driver should if the motorcycle in front refuses to give
room for overtaking.
A. Overtake rapidly
B. Stop overtaking
C. Continuously honk and overtake
D. Turn on the head light and overtake
Answer: B
3.3.116 HEBEICAATANMAT NHABUKIIBR I, MN__ .
Ainid
B.IEWAT R
C.IH 4y
D.EZE
%H%: C
3.3.1.16 When driving a motorcycle through an inundated road with pedestrians on both sides,
the driver should
A. Speed up and pass
B. Go forward normally
C. Reduce speed and go slowly
D. Continuously honk
Answer: C

3.32 AW (128D
3.3.2 Judgment Questions (12 questions)
3.3.2.1 HBUESTAAER PATIIN, A0S RO AN e ) 10%.
7|<: N
3.3.2.1 When driving a motorcycle on the road, the driver should try to limit his speed from
exceeding 10% of the prescribed speed limits.
Answer: Wrong
3322 fEIEWATAH, REFEITHOLELATI, AL T A 1R AT B E
/HLZI o
R B
3.3.2.2 In normal driving, the driver does his best to run close to or on the central line so as not
to give any chance to the vehicles in the opposite direction to occupy his own route.
Answer: Wrong
3323 HBAUBA, AT TR EET A
H: 1B
3.3.2.3 Itis illegal for a driver to use a cell phone while driving.
Answer: Right
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3324 AR, NARFUFEERRTOATRL LA U5R AR TR 2 .
B B
3.3.2.4 When two vehicles cross each other, the drivers should drive close to the central line of
the road in advance so as to prevent the opposite vehicle from occupying too much road surface.
Answer: Wrong
3.3.25 {EIAM DA, USRI B A, S Al A 4
B B
3.3.2.5 When overtaking, the driver should try his best to increase the horizontal distance and,
when necessary, may cross the solid line to overtake.
Answer: Wrong
3.3.2.6 HBIEESTAAERIEIAE . BROVEUF I ORI AR AT, NPEHIAE A, fR
Fraeazin iy, Wik A 7 e
B IEH
3.3.2.6 When driving a motorcycle on a narrow and sound country road, the driver should control
the speed, keep safe distance and prevent an one-side or two-side collision.
Answer: Right
3.3.2.7 VMU BEEST A =R R E ), PSS, BRATTI .
B IEH
3.3.2.7 The three principles for careful driving are concentration, careful observation and early
prevention.
Answer: Right
3.3.2.8  ATHIN MVE ROV S BE B BRI 0, LARIT (i 2547 BB 2k o
B B
3.3.2.8 When driving, the driver should observe the road conditions in the near distance so as to
deviate from the route.
Answer: Wrong
3329 ATAREESCIEE, AR, MEIATFRREZE . HRAE . R
R IEH
3.3.2.9 When driving, the driver should be courteous and defensive, instead of being offensive.
Answer: Right
3.3210 AL A SRV MW E B 3B AT AN A UL B I I W S W\ S B AT .
B B
3.3.2.10 When passing a no-horn road section where the pedestrians fail to yield, the driver
should honk intermittently to remind them to yield.
Answer: Wrong
3.32.11 AU ALEMEIR T TR M OUS » AR ITHE () AT A2 S 4Tt 2 15 PR
B B
3.3.2.11 If the driver finds there is no vehicle following, he can change lanes without turning on
the turn signal.
Answer: Wrong
3.3.212 RAHKM, BHNFTLIARTE. Jull, a2 BT Y.
B B
3.3.2.12 In hot weather, the driver may drive a motorcycle barebacked, barefooted or wearing
slippers.
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Answer: Wrong

3.4 LABYATN (90 B

3.4 Safe Driving (90 questions)

3.4.1 IEFHE: (433D

3.4.1 Multiple-Choice Questions (43 questions)

3411 ATHrP T EATESE R YT BRI R DRGSR RER I, N .
APRAGE Bl 42, A RG0S AT

B. i At i

C. MW\ R =6 o) BE G 45k i

DI 40, B sk A4 Ak TE
B A

3.4.1.1 When a driver needs to borrow a lane to bypass an obstacle in front and a vehicle in the
opposite direction is approaching the obstacle, the driver should .
A. Reduce speed or stop and yield to the vehicle coming in the opposite direction
B. Speed up and bypass the obstacle in advance
C. Honk to indicate the vehicle in the opposite direction to yield
D. Rapidly occupy the lane and force the vehicle coming in the opposite direction to
stop and yield
Answer: A
3.4.12 HBEESTAAEAI R I AT A ATE RS, N BN AR A
ALERHS TS 21X P AR B s 22
B.EA B IS 2R X
C.7ERELk D42 T 1) i KRR
D. 7K s 1Rk
. C
3.4.1.2 When a motorcycle changes lane before an intersection, the driver should do so
A. In the area marked by solid lines before the intersection
B. In the area marked by solid lines in the intersection
C. In the area marked by broken lines as indicated by the guide arrow
D. Before the stop line at the intersection
Answer: C
3.4.1.3 HBESTA LASHAGER, NARF_, AEAIITAB A NE AT R AR T
DR KSR
AT FE AR E DL
B.IFJA A e kT
CAPTFRE
D.JF A e ) k]
%%: D
3.4.1.3 When a motorcycle needs to change to the left lane, the driver should in
advance and enter the left lane provided he does not obstruct the normal running of
other vehicles.
A. Turn on the warning flash light
B. Turn on the turn signal
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C. Make a hand signal
D. Turn on the left-turn signal
Answer: D
34.14 FEATHEMSCERARBINTE TR, N__ , F4BEITIFRL. G
ASRHT O B 4, 1) 2 e

B. kA F FiE
C.AJHHE N =118

D FERT I B 4, A s
B A

3.4.1.4 When a motorcycle needs to turn right from a side road, the driver should
drive at the right side, change lanes, and merge.

A. slow down or stop in advance, observe to the left

B. speed up to enter the main road

C. keep a constant speed to enter the main road

D. slow down or stop in advance, observe to the right

Answer: A

3.4.15 JEIEABE ANATROGER, N .
AN
Bz HM 4

C.E\ 7R AT NikiE
DAEHEEMEAT N RS 4 8has, Al
%%: D
3.4.1.5 When a motorcycle approaches a crosswalk, the driver should
A. Speed up and pass
B. Stop immediately
C. Honk to indicate the pedestrians to yield

D. Observe the movement of pedestrians and non-motorized vehicles before passing

Answer: D

3.4.16 ATBRAIELREHILT RN, HEEFEA R MITROED AT NMTE, N .

AB#ERP T

B.iE P Ja AT NG 7 Beid
C.lA G MT NHT T g6t
D. 5T Nl i J5 Fi 2
%%: D

3.4.1.6 When the green arrow for a lane is on and there are still pedestrians in the crosswalk

before the vehicle, the driver should
A. Directly start up and pass
B. Start up and bypass the pedestrians from behind
C. Start up and bypass before the pedestrians
D. Start up after the pedestrians have passed

Answer: D

3.4.1.7 PG G RIVE T BRI, N .
AN TR E G T
B g N 4 AT
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C.In 2% ) LB N AT
DARATHETT MZEAT, S ALI N 24T 18
%HZ: D

3.4.1.7 After a driver has started up but discovers there are many vehicles overtaking from
behind, the driver should

3.4.1.8

A. Make hand signals to indicate the vehicles behind to yield

B. Speed up and enter the carriageway

C. Turn left and directly enter the carriageway

D. Move forward slowly and wait for chance to enter the carriageway
Answer: D

BEANZEMFE RSB A, JoEORIE S IR ATREAT A OB ) 22 xRl Y .

AT B

B.Jf AT — BUH B )5 T ik
CIFT 4

D. i H

B%E: C

3.4.1.8 If a vehicle enters a left lane for overtaking but is unable to ensure a safe horizontal
distance with the normally-running vehicle in front, the driver should

3.4.1.9

3.4.1.9 When a motorcycle is being overtaken by another vehicle, the driver should

3.4.1.10

A. Speed up and overtake

B. Overtake after running a distance in parallel
C. Give up overtaking

D. Overtake with care

Answer: C
200 ) BEFC R IEAE i LA A R, Y
AGREE AT S

B.GH, SEA AT o
CAEIE M LT
D. g L

HZ%: B

A. Continue to speed up and run

B. Reduce speed and run on the right side
C. Run by the central line of the road

D. Speed up and yield

Answer: B

B4R B AAE S e, RERA BN __ .
ATRH G R S Bl

B. ik g s Al g AT 3

(O 52 /2 BL ] DA W R BY cv

D. HERE B A 0 0 84T Bk

%H%: C

3.4.1.10 When a following vehicle gives the overtaking signal, the driver should
conditions permit.

A. Reduce speed rapidly or apply an emergency braking
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3.4.1.11

B. Yield a proper space and speed up
C. Voluntarily reduce speed and indicate the following vehicle to overtake
D. Move to the right side and speed up

Answer: C

B EESE AT R SR, N
AR ) 2 TEAT B

B. il i S ik gt ik

C A5 EAMIATRE
D. 78 3 I AT AT e

%2 D

3.4.1.11 When a motorcycle reaches a sharp curve, the driver should

3.4.1.12

A. Go forward by borrowing the opposite lane
B. Brake suddenly and go slowly
C. Drive along the outer side of the curve
D. Fully reduce speed and drive on the right side
Answer: D
L DTE B PEAE AERE NBTE AT, A ARSI LR, .
ALY UG M8 FEAATTT
B. A HE S I AMUAT Bk
C. RIS T FHOR 7 f 4238
D. ] g vy 2 3E Y12k Ty 1)t i
HE: A

3.4.1.12 Before a motorcycle enters a curve of a mountain road, the driver
vehicle coming in the opposite direction.

3.4.1.13

A. Should reduce speed, honk and drive on the right side

B. Should drive along the outer side of the curve

C. May briefly borrow the opposite lane

D. May speed up and pass along the tangent line of the curve
Answer: A

TEYZE (AT S VX 52, R4

AT AR S

ERER N NS S

CAEARE e A A B0 R NS X5 11

D. AT ) 43 i i 1

%HZ%: B

3.4.1.13 When the green light at a congested intersection is on, the motorcycle

3.4.1.14

A. May directly enter the intersection

B. Cannot enter the intersection

C. Enter the intersection if it is safe to do so

D. May pass the intersection by borrowing the opposite lane
Answer: B

YRR PEFE AR T N ST R N, AR
AT ik
B. kgt o
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C.AjHim it
D.—f¥. —F. =ik
%%: D
3.4.1.14 When passing an unmanned level crossing, the driver should
A. Speed up and pass
B. Reduce speed and pass
C. Maintain the speed and pass
D. Stop, look and pass

Answer: D
3.4.1.15 5B ESFL D0 NERIIE DR B, SENED S .
AW N % ERLA

B. 1 AR P44
C.ul Ay =4
[DREXEVIIE~S
BE: A

3.4.1.15 Before entering a level crossing, the motorcycle should reduce speed and change to a

lower gear,and _____after entering the level crossing.
A. Cannot change gear
B. Can change gear
C. Can change to a higher gear
D. Stop and look
Answer: A
3.4.1.16 AT ABUL I BET, NITH_
A JERE AT
B.fE KR & N OEAT
C AT
D.iZ AT
%H%: C
3.4.1.16 Before a motorcycle leaves a roundabout, the driver should turn on
A. The left-turn signal
B. The warning flash light
C. The right-turn signal
D. The high beam light
Answer: C
34117 BRUEATAEREAIREN, .
AT A e [0 4T
BT i A B H IR AT
C. TR Ze e AT
D.AHIF A e kT
%%: D
3.4.1.17 When a vehicle enters a roundabout, the driver
A. Should turn on the right-turn signal
B. Should turn on the warning flash light
C. Should turn on the left-turn signal
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D. Does not need to turn on any turn signal
Answer: D
3.4.1.18 AT B S IRAVCAERS, TR SRR BT IR 4T, N
AT B i ) 22 ARy, AT 3t
B ORFFIE W AT B
(O SETV PN
D. s
HE: A
3.4.1.18 When overtaking a vehicle stopping on the right side, the driver should in
case that vehicle starts up suddenly or opens the door.
A. Keep a safe horizontal distance from that vehicle, reduce speed and pass
B. Maintain the normal speed
C. Keep honking
D. Speed up and pass
Answer: A
3.4.1.19  BEUTHAT MTRUE A Xk FIRF, ORI AR R, N
Ao A5 kAT
B\ 7 Ak IE
CHe/E T N Al
D.AZEIAZ B4 GER AT A
HE: A
3.4.1.19 When a motorcycle approaches an intersection without crosswalk, the driver should
if he finds people are crossing the street.
A. Reduce speed or stop to yield
B. Honk to indicate them to yield
C. Pass before the pedestrians
D. Immediately change lane and bypass the pedestrians
Answer: A
3.4.1.20 ATHETIEGIENI FHER ST VAR, N .
A\ 7R LA
B.ibILeAT
C. g gg it
D. BB IL 5 s m
%%: B
3.4.1.20 When encountering non-motorized vehicles intending to bypass a stopping vehicle, the
driver should
A. Honk to indicate them to yield
B. Yield to them
C. Speed up and bypass
D. Follow them closely and honk
Answer: B
3.4.1.21 AT%H, MEARHLShAHRATE, N o
AL\
B. higi i
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C. Eghk k17
D. I3 B S8R
B C

3.4.1.21 When encountering non-motorized vehicles cutting in on the road, the driver should

A. Honk to warn
B. Speed up and pass
C. Voluntarily reduce speed and yield
D. Suddenly speed up when approaching
Answer: C
3.4.1.22 ATHHKDEERIER, N_
A, Bl Bl A5 4 L
B 1 ] /L B L
C. g gg it
D fi# ] 4= 9T
HE: A
3.4.1.22 When discovering animals cutting in on the road, the driver should
A. Voluntarily reduce speed or stop to yield
B. Honk to drive them away
C. Speed up and bypass
D. Reduce speed and use the vehicle to drive away them
Answer: A
3.4.1.23 AT B IR SRR AR A IE ORI, N .
ASET O B A5 4R AT
B.i5 b 436475k
C. N AR 5 4 St il
D75 Ji 418 A 4k 24T 3
HE: A
3.4.1.23 When encountering an ambulance rushing in the same lane in the opposite direction, the
driver should
A. Move to the road side, reduce speed or stop to yield
B. Drive on by using another lane
C. Speed up and change lane to avoid
D. Continue to go in the original lane
Answer: A
3.4.1.24 ATHEH R IIABHLBN AT R AR N, N
A S\ IEA T IR
B. A ISR HUE LA it
CIFRIT &S
D.HIEEFE 4B
%%: B
3.4.1.24 When discovering another motorized vehicle running abnormally on the road, the driver
should .
A. Honk to warn
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B. Take timely measures to evade
C. Turn on the high beam light to warn
D. Use the vehicle to obstruct
Answer: B
3.4.1.25 ATHRRRA RIRERER L, N .
ADREF AT
B.iflig&Et
CALRIyH, BERAER(24, LA aE ) ) L#
DB ER it
%H%: C
3.4.1.25 When a ball rolls onto a road, the driver should
A. Maintain the original speed
B. Swiftly bypass
C. Immediately reduce speed and be prepared to stop anytime so as not to hurt the
chasing children
D. Ride over the rubber ball

Answer: C
3.4.1.26 ATZEHIEMI AT AR, N
AN IR\ 7

B.ilig A\ — gt
C.IHGHEMRAT, IRAF NS 1) (] BE
D. BB AT
%H%: C
3.4.1.26 When encountering drunk pedestrians on the road, the driver should
A. Honk to warn
B. Swiftly bypass from one side
C. Reduce speed and go slowly, while maintaining a sufficient horizontal distance
D. Follow closely
Answer: C
3.4.1.27 ATHEHBAT R A HAT NSL MBS IR AT, M .
ASRHTHGENRAT, BT
B. g\ fi 1L Lk
C. M Seit
D.JT A i FEAT s
HE: A
3.4.1.27 When a pedestrian suffering behavioral disorder obstructs the normal flow of the
vehicles on the road, the driver should
A. Reduce speed in advance and go slowly, or stop when necessary
B. Honk to urge him to yield
C. Speed up and bypass from one side
D. Turn on the head light to warn him
Answer: A
3.4.1.28 FRATH, BRI RARKAT AEA R LATER, MY .
A LLIE s R AT
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B. P W\ Sk IE

C.INIEZAT
D.AERTAGIIN,  JE Y PR 40
EZ:. D

3.4.1.28 When encountering pedestrians who hold a umbrella or wear a raincoat, the driver
should

A. Maintain the regular speed
B. Continuously honk to warn
C. Speed up and bypass
D. Honk in advance and properly reduce speed
Answer: D
34.129 ATHHIBEENR, N__ .
AR s

B.AIH JRSeAT
Cd PR g-3d,  FERTmsuim
D.JE S Mg I\ 32
%H%: C
3.4.1.29 When encountering an old man on the road, the driver should
A. Speed up in advance and pass
B. Bypass from behind
C. Properly reduce speed and honk in advance
D. Continuously honk to warn
Answer: C
3.4.1.30 ATHHBEAN, N__.
A\ 7R LA
B.iflig&Et
o8 SCCRINEEIE Y
D.jsodk il
%%: D
3.4.1.30 When encountering a blind man on the road, the driver should
A. Honk to indicate him to yield
B. Swiftly bypass
C. Follow closely
D. Reduce speed and evade
Answer: D
3.4.1.31 PFETAEEM BRI, NV .
AR AR VRl
B AKFEMG ML n st id
CHZ AT I
D. {4 i ik
HE: A
3.4.1.31 When a vehicle passes a bumped road, the driver should
A. Pass slowly and steadily
B. Speed up and dash over under inertia
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C. Change to the neutral gear and slide over
D. Maintain the original speed and pass
Answer: A

3.4.1.32 ATHHIEANEER , N_
A\ 7R LA
B PR A-38, PRAFEON I 2 A A
C.iRdigEnd
D. RIS AT 3
%%: B

3.4.1.32 When encountering somebody herding animals on the road, the driver should
A. Honk to indicate him to yield
B. Properly reduce speed and keep a large safe distance
C. Swiftly bypass
D. Follow closely
Answer: B

3.4.1.33 ATHHIEZHENT AT, N__
ALl I g\ RS IR E
B.ARAIMG N, Rk
C.iRdigEnd
D. KBTS
%%: B

3.4.1.33 When a vehicle encounters an old man riding bike on the road, the driver should
A. Honk to indicate him to yield when approaching him
B. Honk in advance, reduce speed and evade
C. Swiftly bypass
D. Follow closely
Answer: B

3.4.1.34 IR FEFE 4538 FAT A0S I BoRIN, N .
AELA L IS

B. AN KIS ] i\

CATH kT
DAFHUTYEAT, osuEEl, W ER{EE
% D

3.4.1.34 When a motorcycle encounters a bike rider coming in the opposite direction on the road,
the driver should

A. Continuously change the high and low bean lights

B. Continuously honk

C. Use the high beam light

D. Use the low beam light, reduce speed or stop to evade

Answer: D
3.4.1.35 ATHEHIBEIIER, N_ .
A2 geik

B. I 3 P 1 i\
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CAERG AL MW, IF ST JE
DR RNEE L
%H%: C
3.4.1.35 When a motorcycle encounters an animal-drawn cart on the road, the driver should
A. Suddenly speed up and bypass
B. Honk when approaching
C. Honk in distance and reduce speed in advance
D. Follow closely
Answer: C
3.4.1.36 JESCAAE LT BATHE, B ESCTIESTICARR, Bkt NS RARGEN 4
Wi RE, N .
A TRETIHOE . s, TETE L
B ORFF IE W AT B
C.Em, g
D.$2 A n gt
HE: A
3.4.1.36 When a motorcycle on the main road approaches a conjunction with a feeder road, the
driver should in order to prevent a collision with a vehicle that suddenly enters
from the feeder road.
A. Reduce speed in advance, observe and drive with care
B. Maintain the normal speed
C. Honk and swiftly pass
D. Speed up in advance and pass

Answer: A

3.4.1.37 JEICAAEAR X AHCBATRUY, EH AT, N_ .
AftATi L
B. 3w ik

CHASEBUN E IEHATIIA Ttk
D.JsodiELr, T iR AT
%%: D
3.4.1.37 If a motorcycle has the right of way at an intersection but encounters a vehicle cutting in,
the driver should
A. Rush to pass
B. Speed up in advance and pass
C. Go forward at the normal speed according to the right of way and refuses to evade
D. Reduce speed and evade, or stop to yield when necessary
Answer: D
3.4.1.38 ZUAT T E BT S LEARERIN R, N .
AINEEAT B
B.SeiE AT Bl
CHE L FAT Al 5
DR FF I 4 A T3

B C
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3.4.1.38 When seeing a “watch for children” sign while driving, the driver should
A. Speed up and pass
B. Bypass
C. Carefully select a speed
D. Maintain the normal speed
Answer: C
3.4.1.39 T MNEAERI AL 5L N, N .
AINEEAT B
B.ykidi 47 3t
ORVSERIRLEK S
D.AEilfF 4
%%: B
3.4.1.39 When passing a bus stopped in the station, the driver should
A. Speed up
B. Slow down
C. Keep the normal speed
D. Stop to yield
Answer: B
3.4.1.40 {EIIBEE IAATRIN, WIRARERITIN, MY
AfRE A, HIE Tl
RS SIS
Chémdm, AEILHIA
D. gt ik
%%: D
3.4.1.40 When driving in a roundabout, the driver should ___if a vehicle cuts in.
A. Speed up and pass ahead of it
B. Maintain the normal speed
C. Speed up and refuse to allow the vehicle in
D. Reduce speed and evade
Answer: D
34.1.41 PFELHEATRAXE D, BARSMENHRAT, MY
AL
2RSSR
C.4 i - sl it
D. M B\ H 5 38
HE: A
3.4.1.41 When reaching an intersection, the driver should ___if a turning vehicle cuts in.
A. Stop to evade
B. Maintain the normal speed
C. Speed up and pass ahead of it
D. Honk and pass ahead of it
Answer: A
3.4.1.42 AEHIEEATARIBh AR RS .
AR IS i = 5l
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B.SGAH ] Firfe i 2h
CAE A e e 12
D. A RE A8 H i 30
%%: B
3.4.1.42 The wrong measure to use the brake of a motorcycle is to
A. Simultaneously use the front and back brakes
B. Use the front brake first
C. Use the back brake first
D. Avoid using the front brake too early
Answer: B
3.4.1.43 HEBHWEEFLIMRMIEL .
A R] AT g
BT 42 4k
C A HI = A il 23h
DS AN 2
HE: A
3.4.1.43 The wrong measure to ride a motorcycle in summer is to
A. Drive at a high speed for a long time
B. Control the speed by the accelerator
C. Avoid using the brake
D. Avoid loading people or cargoes
Answer: A
3.4.2 KIS (478D
3.4.2 Judgment Questions: (47 questions)
3421 HRESTAAREAENS, NERATITR KT, RN, R, B
BT AL ER
B IEH
3.4.2.1 When a motorcycle changes lane, the driver should turn on the turn signal in advance,
observe traffic conditions, maintain a safe distance and move into the new lane.
Answer: Right
3.4.2.2 HBHEESTAEAI R I AT RS ARTE RS, NAERE A SCE X R A 4E0E
R B
3.4.2.2 When a motorcycle changes lane before an intersection, the driver should change lane
after entering the area marked by solid lines.
Answer: Wrong
3.4.2.3 HYPESEAI A HAGER, NARFTITA AR KT, BN S AE
R B
3.4.2.3 When a motorcycle changes to the right lane, the driver should turn on the right-turn
signal in advance, and enter the new lane .
Answer: Right
3424 HRPEFLAICANAGRN, NAATITRE AT, REFEZATY, i R g
AL, BN R EIEA T .
B IEH
3.4.2.4 When a motorcycle merges with the traffic flow, the driver should turn on the turn signal
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in advance, go straight, observe the traffic conditions on both sides through the
rear-view mirror, and merge with the traffic flow if it is safe to do so.
Answer: Right
3425 HRESRAE NMATROEZNS, N AL T A
B I
3.4.2.5 When a motorcycle passes a crosswalk, the driver should yield to the pedestrians.
Answer: Right
3.4.2.6 HRESEARNE NATHOERS, BT NIEAER T IER, REMMT NG5
7|<: N
3.4.2.6 When a motorcycle approaches a crosswalk, it should try to pass from behind the
pedestrians if pedestrians are cross the street.
Answer: Wrong
3.4.2.7 JESCASETT, AN EESTA S FASE R LA TS, AL R RS
B IEH
3.4.2.7 When a motorcycle starts up, the driver should observe the traffic conditions and begin to
start up after making sure it is safe to do so.
Answer: Right
3.4.28 JESTAAEHGILELD R NS DGEIE,  JF 1) AR R ) BN TR AT B
7|<: N
3.4.2.8 A motorcycle should try to speed up after starting from the roadside and rapidly turn left
into the traffic flow on the road.
Answer: Wrong
3429 JEICHAERRILED )G, NBENE SR B DL, ) 2 ORI 1), BT
NIETATYLIE R .
Ho: IR
3.4.2.9 After a motorcycle starts from the roadside, the driver should pay close attention to the
traffic conditions on both sides, turn left slowly and gradually join the traffic flow on
the road.
Answer: Right
34210 PETASANS, WAER HIATHIENATIEL, At g,
FE: IEH
3.4.2.10 When a motorcycle may encounter a vehicle coming in the opposite direction in the
course of overtaking, it should go in their respective lanes and are not allowed to cross the
central line.
Answer: Right
34211 TR RE R TR G A S AT RER, WS RTINS
B B
3.4.2.11 If a motorcycle may encounter a vehicle coming in the opposite direction in the course
of overtaking, the driver should speed up in advance and overtake.
Answer: Wrong
3.4.2.12 EMBRERIE . BEEAL B EN. BRER, AMEEL.
Ho: IR
3.4.2.12 When a vehicle passes a level crossing, a sharp curve, a narrow road, a bridge, and a
tunnel, it is prohibited from overtaking.
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Answer: Right
34213 EFIVE B LA AR, A AT A A e TR
B R
3.4.2.13 When there is another vehicle making a U turn on the road ahead, the driver should
overtake rapidly while that vehicle is in the course of stopping and gear shifting.
Answer: Wrong
34214 ZBEEFRAIE AT IR, NFRRATROR L, R, WA,
B IEH
3.4.2.14 Before a motorcycle enters an intersection, the driver should reduce speed, observe and
make sure it is safe to do so.
Answer: Right
3.4.215 PETAATARERE L, BRI R, RMEASEAS 5 AVEEIT AN BN
B IEH
3.4.2.15 When passing a level crossing, the motorcycles should not enter the crossing even if the
traffic signal allows them to do so if there is a congestion ahead.
Answer: Right
34216 T ANF S RIEREE I, A H B KRR DU .
B B
3.4.2.16 When passing an unmanned level crossing, the driver may speed up and pass if he sees
no train is coming.
Answer: Wrong
3.4.2.17 A NFE T RIEREE I, IRAGE B SR, A5 K G HRIE.
Fo: IR
3.4.2.17 When passing a manned level crossing, the driver should obey to the command of the
crossing manager and refrain from competing with the train.
Answer: Right
3.4.2.18 HBEETHBEANINEHT, NIFRA R AT
B B
3.4.218 Before a motorcycle enters a roundabout, the driver should turn on the right-turn signal.
Answer: Wrong
34219 ATHH, KRBT NRABGLIERR I, NOR R i
R IEH
3.4.2.19 If discovering pedestrians abruptly cross the road while driving, the driver should
immediately reduce speed and evade.
Answer: Right
3.4.2.20 A RATA B RARIE B KA AT NI, NGO, 32 AT I ShHE % .
Ho: IR
3.4.2.20 When encountering pedestrians wearing cotton-padded caps or overcoats in winter, the
driver should honk and be ready to brake.
Answer: Right
34221 PESEHAERR XIS 2 )n, BANS AR IE AT, W DIAEAT.
B B
3.4.2.21 After the green light at an intersection is on, the motorcycles may not yield if
non-motorized vehicles cut in.
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Answer: Wrong
3.4.2.22 ATZETIBMEE AR IR, NAEHI IR LA AT U T R,
B IEH
3.4.2.22 When animals abruptly cross a road, the driver should evade if it is safe .
Answer: Right
3.4.2.23 AT B MOEANEELL A A AAIAT NI, AT ES R\ i
B B
3.4.2.23 When a pedestrian deliberately refuses to yield to the motorcycle, the driver may
continuously honk and pass.
Answer: Wrong
34224 JESRHALAT, NASOR AR IERCRIORE, T AAEANME S KA Y DX Sk
e SR
3.4.2.24 When making a U turn, the driver should observe whether there is a “no U turn” sign
and should never make a U turn at a place where U turn is prohibited.
Answer: Right
34225 ZBERESRAEARLEREN, NWnEE e, AR5 LE SRR IE B
B B
3.4.2.25 When encountering a “watch for children” sign, the driver should speed up and pass in
case the children abruptly cross the road.
Answer: Wrong
3.4.2.26 1B JLHAEABRGIAIT RN, NOESEM WO, HREE .
B B
3.4.2.26 When encountering children playing on the highway, the driver should continuously
honk, speed up and pass.
Answer: Wrong
3.42.27 ATHHE ) UHACERIADCE, LEPLATRE, EH .
Ho: IR
3.4.2.27 When encountering children play on the roadside, the driver should reduce speed in
advance and pass with care.
Answer: Right
3.4.2.28 ATHHIBE ANBOLIER, 1702, IHRRE I GE(L .
B B
3.4.2.28 When encountering slow-moving old people crossing the road, the driver may
continuously honk to urge them.
Answer: Wrong
3.4.229 ATHHEREE NHIHEATEIAMERIAT N, WAZBGE AT, DI,
Ho: IR
3.4.2.29 When encountering blind people or other pedestrians who have difficulty moving about,
the driver should reduce speed, go slowly, and stop when necessary.
Answer: Right
3.4.2.30 ATHHE N GELPE B AL MIEAT I, SRy U
B B
3.4.2.30 When encountering somebody herding animals and obstructing the traffic, the driver
should continuously honk to warn.
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Answer: Wrong
3.4.2.31 ATZAEHE N Gtk w AR iE B LAl sl m] U7 ) AT R, RN i i ik AT
B R
3.4.2.31 When encountering somebody herding animals crossing the road or going in the same
direction, the driver may continuously honk to urge him to yield.
Answer: Wrong
3.4.2.32 ATHWHITIIE BAT AL IEATIN, AT BIELR, s ST .
B B
3.4.2.32 When bicycles ahead obstruct the traffic flow, the driver may honk to remind them,
speed up and bypass.
Answer: Wrong
3.4.2.33 EFEAIEATHN, NI W\
B B
3.4.2.33 When an animal-drawn cart cuts in on the road, the driver should honk to warn in a
timely manner.
Answer: Wrong
3.4.2.34 WBNHAEIMTEE I NATHE, S8 A TUMBEFT - 0 AT SN, LA RSB T AAS
L
B B
3.4.2.34 When a motorized vehicle encounters the cut in by another motorcycle in a roundabout,
the driver may not evade as long as he has the right of way.
Answer: Wrong
34235 JESLHATRTELA AL, NRd IR MATEE, 1k bl S O KR T 4
HFE -
Ho: IR
3.4.2.35 When reaching a sharp curve, the driver should reduce speed and drive on the right side
so as to avoid colliding with the vehicle crossing the central line of the curve in the
opposite direction.
Answer: Right
3.4.2.36 HUIBAT AT IESE T IE, WIS REELS TR AT
B B
3.4.2.36 When driving in continuous curves, the driver should try to go along the inner side of
the curves.
Answer: Wrong
3.4.2.37 ARG IEAT B EEFE A B B AL LS
Ho: IR
3.4.2.37 When encountering a motorcycle that has the right of way, the driver should voluntarily
yield.
Answer: Right
3.4.2.38 {ERRIAIG IS 4R, w] LA ) 5 4R B IR A5 4
B B
3.4.2.38 When a motorcycle temporarily stops at the roadside, the driver may stop the
motorcycle in the opposite direction or in parallel.
Answer: Wrong
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3.4.2.39 PEATAE I ARV BE B GEAREAR L, AREATEE, AL,
B IEH
3.4.2.39 When a motorcycle passes a school or a residential area, the driver should observe the
signs and markings, go slowly and refrain from honking.
Answer: Right
3.42.40 PFEEAEATHIN, SUERTATHEISD, BB S RN B R
K IEH
3.4.2.40 When running in a high speed, if only use the front brake, the driver can be easily
thrown out due to the inertia.
Answer: Right
34241 EBESRAAE RIS, SRS, SRS TIEh.
B R
3.4.2.41 When use the brake of a motorcycle, use the front-wheel brake first, then use the
back-wheel brake.
Answer: Wrong
34242 ZBEESRA R QRIS , NI A4 T TR, DA BRI A
B IEH
3.4.2.42 When using emergency brake, be aware of keeping the body of the motorcycle being
perpendicular to the ground to avoid sideslip.
Answer: Right
34243 JESCHAEE R B AR T, NS AN B T IS), A5 05 e A
Ho: IR
3.4.2.43 When a motorcycle is making a turn in a high speed, the driver should avoid using the
brake or use the brake less to prevent sideslip.
Answer: Right
3.4.2.44 FEACAEN A TE A A B BN, VAR TR, A,
B B
3.4.2.44 When passing a turn or a curve section, the driver should slow down and disengage the
clutch.
Answer: Wrong
3.4.2.45 U5 PEST AL A, —HRAMN, T EOATRE, SR ERIT.
Ho: IR
3.4.2.45 1t is extremely unsafe to take a motorcycle by the side; if the motorcycle sideslips, the
passenger may be thrown out and led to death due to an unstable center of gravity.
Answer: Right
3.4.2.46 PESLAAEIGURRS T AT BES, 2B N NCR MR, RS HT T3,
LAy /N F G o
B B
3.4.2.46 When driving on a rough road, the driver should use low gear to keep low speed; try to
choose roads with big pits to reduce bumpy feeling.
Answer: Wrong
34247 PESEHBMGER . RO, HHEAN DR A EATRE, VRSP
(EAESGEUIN
Ho: IR
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3.4.2.47 When encountering dangerous and complicated circumstance, the driver should keep
medium or low speed and keep the balance of the motorcycle to pass it cautiously.
Answer: Right

4. TRIEAHE. IXER. R, BE. " BHREMEREREETH
RABYIR (86 1)
4. Knowledge about Save Driving on Expressways and Mountain Roads, through Bridges
and Tunnels, at Night, in Bad Weather and Complex Road Conditions (86 questions)

4.1 FEEEA AR (18 8D
4.1 Safe Driving on Expressways (18 questions)
411 JEFEE: (7D
4.1.1 Multiple-Choice Questions: (7 questions)
4111 PEEA BN SN B LN, N AN
AERZ
B.ZLAT5E
C. 555
D.4jkT 5%
%%: D
4.1.1.1 When entering an expressway toll gate, the driver should select a gate where
A. There are more vehicles
B. The red light is on
C. Service is temporarily suspended
D. The green light is on
Answer: D
4112 ZBPEEFRAIEA R A B I A S, RSP AR BB
A30 ~H
B.40 ~HL
C.60 ~H
D.90 A H
%H%: C
4.1.1.2 After entering the acceleration lane of an expressway, the driver should increase the speed
to more than per hour.
A. 30km
B. 40km
C. 60km
D. 90km
Answer: C
4.1.1.3 TEFIA 4 ER S AR AT, FEFCENAE 40E BT
A d /el
B.A 4
CHE =%
D. g A {lll
%%: D
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4.1.1.3 When running on an expressway that has four lanes in the same direction, the

4114

motorcycles should run on

A. The far left lane

B. The second left lane

C. The third left lane

D. The far right lane

Answer: D

By A A BAT N AR LRAT R E T A, TRRARE AT, & SR
B, P E \ JH0HE 43 .
A2 nH

B1AH

C.500 >k

D.50 K

BHE: C

4.1.1.4 The best chance to leave the carriageway of an expressway is ahead of an exit.
The driver should turn on the right-turn signal, properly adjust the speed and smoothly
enters the deceleration lane.

4115

A. 2km

B. 1km

C. 500m

D. 50m

Answer: C

IR AR PATA, WEARRES 2R O, N
ATE G5 7 g ]

B.ARZL: m HIATAE, ST —ANHH
C.orRM5 42

D. 7 it b Sk

%HZ%: B

4.1.1.5 When running on an expressway, the driver should if he has missed the exit.

4116

A. Reverse to the original place

B. Continue to go ahead and find the next exit
C. Immediately stop

D. Make a U turn from where he is

Answer: B

BN A B O AT T, OGP T, RS AR, B R
3y 41| D G

AbRE L E 4T

B.A&F/N 80 A HL

C. A/ 60 A B

D. 5/ 40 A H

B A

4.1.1.6 After a vehicle enters the deceleration lane of an expressway, the driver should turn off

the turn signal, look at the speedometer, and reduce the speed to less than
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before entering the ramp.
A. The speed specified in the sign
B. 80km per hour
C. 60km per hour
D. 40km per hour
Answer: A
4117 PEERAS N BB LN, SRR B S, SURHEL E,
A
B.EH
CJs1
D.J7 I i %
%%: D
4.1.1.7 When a motorcycle leaves the opening of an expressway tunnel, it will be attacked by
side wind and the vehicle can have
A. A feeling of deceleration
B. A feeling of acceleration
C. Afeeling of pressure
D. A feeling of deviation
Answer: D
412 HnE: (11 8D
4.1.2 Judgment Questions: (11 questions)
4121 PERABNILIE)S, HHORE 4-d 5 2R/ 60 A LA L.
B B
4.1.2.1 After a motorcycle enters the ramp, the driver should swiftly increase the speed to more
than 60 kilometers per hour.
Answer: Wrong
4122 PEFLHACRIE A HILIE FaT BUs A,
B B
4.1.2.2 Amotorcycle may stop on the ramp of an expressway.
Answer: Wrong
4123 JEFRHAE R A B ITE k.
B IEH
4.1.2.3 Amotorcycle is not allowed to make a U turn on the ramp of an expressway.
Answer: Right
4124 PEFRAAE R A BRITIESSE RIRE /N 60 A HLEL B, IH B AATSE.
B B
4.1.2.4 When a motorcycle has increased its speed to more than 60 kilometers per hour on the
ramp of an expressway, it may directly enter the carriageway.
Answer: Wrong
4125 AERIA 2 AER SN E L PEFEAE NAE e 48 AT
B B
4.1.2.5 When running on an expressway that has two lanes in the same direction, a motorcycle
should run in the left lane.
Answer: Wrong
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4.1.2.6  PEFLAIVEE b A B U R _EAT R
B B
4.1.2.6 The motorcycles should run by the right shoulder of an expressway.
Answer: Wrong
4.1.27 PEFCHAE SR A AT, ATLR B A B4R 0E
B B
4.1.2.7 Amotorcycle running on an expressway may frequently change lanes.
Answer: Wrong
4128 PEFLHAERIEAH EATS, WREGURRE I, AT A AT R AL
B B
4.1.2.8 If a motorcycle running on an expressway misses an exit, it may reverse to the exit along
the shoulder.
Answer: Wrong
4.1.2.9  PESTA LA LA BRIN N 2 20 el A s e E N ITLIE
B IEH
4.1.2.9 When a motorcycle leaves an expressway, it should reduce speed in the deceleration lane
before entering the ramp.
Answer: Right
41210 VEFCAAE RIE A BATION, T DU SRR A 4T
B B
4.1.2.10 When a motorcycle runs on an expressway, the driver may ascertain the speed according
to his feeling.
Answer: Wrong
41211 PESRHREN RO A BTG )G, AT 4 2 PR s B
Ho: IR
4.1.2.11 After a motorcycle enters the ramp from an expressway, it should reduce its speed below
the prescribed speed limit.
Answer: Right

4.2 IhIXTEH 2R (15 8D
4.2 Safe Driving on Mountain Roads (20 questions)
4.2.1 JEFEE: (7D
4.2.1 Multiple-Choice Questions (8 questions)
4211 PFEARHAEL X EBER AT R0, N .
A BBERT 4 )5
B.I& 2NN % Al
C.3d ik 22 A
DS T il 4L &
%%: B
4.2.1.1 When a motorcycle follows another vehicle on a mountain road, it should .
A. Closely follow the vehicle in front
B. Properly increase the safe distance
C. Properly reduce the safe distance
D. Try to find a chance to overtake
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Answer: B
4.2.1.2 PECHAEXTERGEEN, N R,
AEFEELI T ik
BATMEAR L2
C.UEHE % R I 22 I B
D. AP St
%H%: C
4.2.1.2 When overtaking on a mountain road, the motorcycle should overtake
A. By selecting a relatively gentle downhill section
B. By taking every possible chance
C. By selecting a wide gentle uphill section
D. By selecting a fairly long downhill section
Answer: C
4.2.1.3 PESEHAEINIXERBRIENS MR, Y AT,
A
B. X FEIE % L
C. ik
D. b2 42 I BUdod 2l f5 4+
%%: D
4.2.1.3 When encountering a vehicle coming in the opposite direction on a mountain road, the
driver should when crossing each other.
A. Not reduce speed
B. Stick to the center of the road
C. Speed up
D. Select a safe section to reduce speed or stop
Answer: D
4.2.1.4 PESEAHGEOVIN, FHAZD KR AEFER G AL, AHRAMGEE .
AT iEAT R
B. hisi i
C.Fiti I #E 25 11 50
DA 5 2 il 5h

%HZ: B

4.2.1.4 If the motorcycle cannot see the coming vehicles and road situation while reaching the
top of the slope, the wrong method to deal with this situation is to
A. Run slowly
B. Speed up
C. Prepare to brake at any time
D. Forbidden to use emergency pedal
Answer: D

4215 YRR TR ER, SATEMESE_ .
AP 1 AR TR
B. LUAP- % B /)N
C RIS 2
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D.LE A K

%%: D
4.2.1.5 When a vehicle stops halfway on a slope following another vehicle, the vehicle should
keep from the vehicle in front.

A. The same distance as on a level road
B. A smaller distance than on a level road
C. Adistance half of that on a level road
D. A larger distance than on a level road
Answer: D

4216 FHTREER, BEHISERE_
A LCAET BRI S i
B. ELAE- % I iR
C AV I —
D. LEAE i I 4
HE: A
4.2.1.6 When stopping halfway on a downhill road, the brake pedal should be depressed .
A. Earlier than on a level road
B. Later than on a level road
C. Astimely as on a level road
D. More gently than on a level road
Answer: A
4217 PEFRAAEBERNLES EATREN, WUREE AR — S ARANEAT, N
Al e b, EEE
B4 Ay 4 b 22 4 (i Uy gt ik
ORVSERIRGEK S
D. MWW\ E AR AT
%%: B
4.2.1.7 When a motorcycle runs on a narrow mountain road, the driver should if the
party close to the mountain mass refuses to yield.
A. Use the left lane and pass with care
B. Reduce speed and select a safe place to evade
C. Maintain the normal speed
D. Honk to urge the other party to yield
Answer: B
422 HWrE: (8 @)
4.2.2 Judgment Questions: (8 questions)
4221 PESEA N KIS SEEEATRE, RAFE o FIRTR SINLE IS 1 .
B IEH
4.2.2.1 When a motorcycle goes down a long slope, it should run at a lower gear and fully use
the engine to brake.
Answer: Right
4222 PESEHAETHATHIN, A8 AR £ AT .

BR: BR
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4.2.2.2 When a motorcycle goes downhill, it may fully use the neutral gear and slide.
Answer: Wrong
4223 JESEAAERL NI ETERY, AR ok, 15, FEALT.
B IEH
4.2.2.3 When a motorcycle passes a curve on a mountain road, the driver should reduce speed,
honk and stick to the right.
Answer: Right
4.2.2.4 PESEHAEINXIER T2, Vs 4.
B IEH
4.2.2.4 When a motorcycle goes downhill on a mountain road, it is not allowed to overtake.
Answer: Right
4225 PESEAAEINIXIERE LRESNT, NAEIORSR AT, I pp .
B IEH
4.2.2.5 When a motorcycle goes uphill on a mountain road, it should change to the lower gear in
advance, speed up and dash uphill.
Answer: Right
4.22.6 PEFRAAE I DCEBRERAT BN, NOE 245/ 2 A
B B
4.2.2.6 When a motorcycle follows another vehicle on a mountain road, it should properly reduce
the safe distance.
Answer: Wrong
4227 PEFCHREANILIXIER)S, SRR CESHE bR, JEEahEE AT N,
TG N Rl R i R
Ho: IR
4.2.2.7 After a motorcycle enters a mountain road, it should pay special attention to the
“continuous curves) sign. In addition, it should voluntarily evade vehicles and
pedestrians, reduce speed in a time manner and honk in advance.
Answer: Right
4.22.8 WHLHRAERTT . FeARENLIX B, ARES.
Ho: IR
4.2.2.8 When passing a section of a mountain road which is prone to landside and mudflow, the
driver should not stop.
Answer: Right

4.3 JHRIHFR. BRI A EBAR (4 78D
4.3 Safe Driving through Bridges and Tunnels (4 questions)
431 JEFEE: (3D
4.3.1 Multiple-Choice Questions: (3 questions)
4311 PFEFCHATH AR B AT IOBRIE ORI AR AR, Y .
AT
B.7ER&IE A SE A5k
CAEFEESNE AL
D. A5 IEH 4 i
%H%: C
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4.3.1.1 When a motorcycle reaches the opening of a tunnel allowing one-way passage and
discovers another vehicle coming in the opposite direction, the driver should
A. Reduce speed and pass
B. Move to the right side in the tunnel and stop to yield
C. Move to the right side outside the tunnel and stop to yield
D. Maintain the normal speed and pass
Answer: C
4.3.1.2 PEEABAUAAT RIS AT, NMIFR .
ASERARE N AT
B.zOtAT
C.Bi5 1]
DR BT BT EAT
%%: D
4.3.1.2 When a motorcycle enters a two-way tunnel, the driver should turn on
A. The warning flash light
B. The high beam light
C. The fog light
D. The width light or the low beam light
Answer: D
4313 JEFRAEN AN ARSI, N SEK.
AR AR
B AR A e 2
C.HIL IR
D. B M) 2o e 25
HE: A
4.3.1.3 When a vehicle turns left through an interchange, the driver should
A. Turn right after passing the interchange
B. Turn right before passing the interchange
C. Turn left directly
D. Turn left after passing the interchange
Answer: A
432 HWrE: (18D
4.3.2 Judgment Questions: (1 question)
4.3.21 PEFCAE LA, ARG PR B AR e, T B Ji b Sk b 5] A B MU 2k
B B
4.3.2.1 When a motorcycle passing through an interchange discovers it has chosen a wrong route,
it should immediately make a U turn from where it is or reverse to change route.
Answer: Wrong

4.4 WIEZAEPFIR (22 8D

4.4 Safe Driving at Night (22 questions)

4.41 JEFEE: (10 D)

4.4.1 Multiple-Choice Questions (10 questions)

4411 BIRPEEFCAAEBOA IS IOTE AT 45, 25 - R T B3/ 30 24 HUR, v ],
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YT Y 30 K LLAR,
AEIEAT

B.iz 6T

C.BiZAT

D.f& R N B kT

B A

4.4.1.1 When driving at night on a road that has no lighting, the driver may use and the

44.1.2

light must reach over 30 meters away if the speed is less than 30 kilometers per hour.
A. The low beam light

B. The high beam light

C. The fog light

D. The warning flash light

Answer: A

BRI EEFE A AR B TR A AF ROTE R AT 42, 29 421 vy T /NS 30 24 BLIN, Wl AT,
KIOGAUR H 30 K EAAh,

AT

B.zOBAT

C.Bi5 ]

D.f& R INEAT

%HZ%: B

4.4.1.2 When driving at night on a road that has no lighting, the driver may use and the

4413

light must reach over 100 meters away if the speed exceeds 30 kilometers per hour.
A. The low beam light

B. The high beam light

C. The fog light

D. The warning flash light

Answer: B

AR EE ST A TR ] O P AP A BO, NAE A .
Al %7

B.UDGIT

C.azmk]

D.f& R E INEAT

%HZ%: B

4.4.1.3 When driving at night on a road that has good lighting, the driver should use

4414

A. The fog light

B. The low beam light

C. The high beam light

D. The warning flash light

Answer: B

BT 2, A BYIOEIREY_, A T RER AT LS A BT
Atz il

B.I T s 1

CRHE A

D. th A2 i
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%%: B
4.4.1.4 When driving at night, there could be a sharp curve or a big hole ahead if the lighting
A. Shortens
B. Leaves the road surface
C. Does not change its distance
D. Becomes lower
Answer: B
4.4.15 BUEEESEA EIATRIRIBIGIN, STOERUN .
AL %R 2 %N
B. Hi I # 2 it
C.E TR If
D.FHE A
%H%: C
4.4.1.5 When a motorcycle running at night reaches the top of a slope, its lighting
A. Moves from the center of the road to the roadside
B. Moves from the roadside to the center of the road
C. Leaves the road surface
D. Does not change its distance
Answer: C
4.4.1.6 WIEATES, BEO7 BLASIEN, SO .
AHE A
B. 1 A2 %
C.EJT#%If
D. i P A% 2%
%%: D
4.4.1.6 When a motorcycle running at night encounters a curve ahead, its lighting .
A. Does not change its distance
B. Become lower
C. Leave the road surface
D. Moves from the center of the road to the roadside
Answer: D
4407 HIRZHER, AZEAS T, MRARE_ .
A LTSI AT Bl
B. 2R Il AT 3t
C AR IRRR IE H s AT
D. e B8 I s AT 4k
HE: A
4.4.1.7 When vehicles cross each other at night, the drivers should not look straight to the light
from the vehicle coming in the opposite direction. Instead, he should move his sight
A. To the right side and go forward at a lower speed
B. To the left side and go forward at a lower speed
C. To the right side and maintain the normal speed
D. To the left side and go forward at a higher speed
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Answer: A
4.4.1.8 IEEZER, B, FEMATTA LIS, T el .
AJHZGAT
B.ES AR IT ., UEOGAT
CIRHEGIT
DT B 11 PR AT
%%: B
4.4.1.8 When overtaking at night, the driver should , and overtake only after making
sure the vehicle in front has reduced speed and yield.
A. Turn on the high beam light
B. Continuously switch the high and low beam lights
C. Turn on the low beam light
D. Turn on the warning flash light
Answer: B
4419 WIAEARER . BN SARILE A NS AEH] .
AEIT
B.UDGIT
CIERARE NOEAT
D.BiZ AT
%%: B

4.4.1.9 When crossing a hon-motorized vehicle on a narrow road or bridge, the driver should use

A. The high beam light
B. The low beam light
C. The warning flash light
D. The fog light
Answer: B
44110 HIEATH, XSHERABA RAZEITR, MY
ADRFFIE W AT R
B m 4, I
C. il sl f5 4= kAT
DT CAT S 5
%H%: C
4.4.1.10 If the coming vehicle does not close the high beam light when driving at night, the
driver should
A. Keep normal speed
B. Increase the speed and avoid the lights
C. Reduce the speed or stop to yield
D. Open the high beam light too
Answer: C

4.4.2 HIWE. (12 8D

4.4.2 Judgment Questions: (12 questions)
4421 WIAZEBEEASTY, BRI o
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B HR

4.4.2.1 When driving a motorcycle at night, the driver does not easily have visual fatigue.
Answer: Wrong

4422 WIEEBEESTY, BBORIREF R, ARG BT X I LA A 1 0L
DR A T e
e SR

4.4.2.2 When driving a motorcycle at night, the driver should go at a lower speed because his
field of vision is limited and he can hardly observe the traffic conditions beyond the
area covered by his vehicle light.
Answer: Right

4.42.3 BRI, ORI ARORT G2 i i B NNZ H i A AN 0 A A 00, 255k
IR LA B BETT 0 T7 -0k, I I A T 4
B IEH

4.4.2.3 When vehicles cross each other, the light from the vehicle in the opposite direction can
dazzle the driver and make it impossible for him to clearly see the traffic conditions
ahead. Therefore, the driver should move his sight to the right side to evade the light
from that vehicle and should go forward at a lower speed.
Answer: Right

4.42.4 WIEGEDHET, NAETITRIEEAT .
Ho: IR

4.4.2.4 When a vehicle starts to move, the driver should first turn on the low beam light.
Answer: Right

4.425 HERBERTAATHN, a4l BUETIZGIT
Brge: HR

4.4.2.5 When following a vehicle, the following vehicle may use the high beam light.
Answer: Wrong

4426 HIATH, BUREREGEG, G5B AN, ARG I AT R
Fo: IR

4.4.2.6 When driving at night, the driver should try as much as possible to avoid overtaking.
When he really needs to overtake, he may switch the high and low beam lights to alert
the vehicle in front.
Answer: Right

4.42.7 HIATH, FOfAERR NN 30 AHLLUNI, NAEHZET .
Brge: HR

4.4.2.7 When driving at night, the driver should use the high beam light if his vehicle runs at a
speed of less than 30 kilometers per hour.
Answer: Wrong

4.42.8 UEAEBRIT WA A ZE B RS b, R E RN IN 30 2 LD LI, AR FIEEAT
Brge: HR

4.4.2.8 When driving at night on a road with poor lighting, the driver should use the low beam
light if his vehicle runs at a speed of more than 30 kilometers per hour.
Answer: Wrong

4.42.9 LIRS AAT KT R T TN RN, SRR AT B i e kT, AHLIA ) 4T 3
Ja AT
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B IEH
4.4.2.9 When driving at night on a road with no or poor lighting, the driver should switch from
the low beam light to the high beam light. But the vehicle following in the same
direction is not allowed to use the high beam light.
Answer: Right
4.42.10 AT, XK AR CHIZ G N, N .
B R
4.4.2.10 When driving at night, the driver should speed up and pass if the vehicle coming in the
opposite direction fails to turn off the high beam light.
Answer: Wrong
4.4.2.11 PRI O AR AR (A S LT AR, ARSI ek .
B B
4.4.2.11 When passing a level crossing without traffic signals at night, the driver is not allowed
to change the high and low beam lights.
Answer: Wrong
4.42.12 WIEATH, BRI AR CAT I, WY S i el 5 41 kAT
B IEH
4.4.2.12 When driving at night, the driver should reduce speed or stop to yield if the vehicle
coming in the opposite direction fails to turn off the high beam light.
Answer: Right

4.5 BB IER AT N (27 8D
4.5 Safe Driving in Bad Weather and Complex Road Conditions (27 questions)
451 JEFE: (10 D)
4.5.1 Multiple-Choice Questions (10 questions)
4511 FRATHEW, TR EEFE -0 sty At 4 Ae A a, N
AJRIEAT B R A 22 A
B. BB 4= nu \ f2
C. LA 4= PR FF RN 18] B
D. 55 551 T I AR RN OB ) TR
HE: A
4.5.1.1 When driving in a snowy day, the driver should in order to prevent side
skidding or scratching other vehicles.
A. Reduce speed and maintain a safe distance
B. Closely follow the vehicle in front and honk to remind it
C. Keep a fairly small distance with the vehicle in front
D. Keep a fairly small horizontal distance with the vehicles in the neighboring lane
Answer: A
451.2 AEINXIKTER EATS, BAREEAREN, 54N .
AEFEIE M A, AR AT R 5 T
B. X ki 4+
C iR Te
D. B bl i €3

B A
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4.5.1.2 When driving on a mountain road covered by ice and snow, the vehicle behind should
if the vehicle in front is climbing a slope.

4513

A. Select a proper place to stop and climb after the vehicle in front has passed
B. Rapidly overtake the vehicle in front

C. Climb slowly

D. Closely follow and climb

Answer: A

FEVKES BRI Eokid slds 4, e M BRI A

AT AR E %

B. s Bl HI s

C.HE% 5l ds

D. gz 4

%HZ%: B

4.5.1.3 When reducing speed or stopping on a road covered by ice and snow, the driver should

fully use

4514

to reduce the speed.

A. The foot brake

B. The engine’s braking role

C. The handbrake

D. The retarder

Answer: B

TEESUKIE RS s em, Y BB, 18584,
A el

B.I& 4 i is

C.EEHT s

DRVSEESTY

B C

4.5.1.4 When vehicles cross each other on an icy road, the driver should , firmly hold
the steering handlebar and cross slowly.

45.1.5

A. Reduce speed when approaching

B. Properly speed up

C. Reduce speed in advance

D. Maintain the speed

Answer: C

FZRATHEN, WAAR, NN ET NS A4 s, o
AESNG TR\

B.IE AT B

CIFRIEIekT

D. {4 T 4

%HZ: D

4.5.1.5 When driving in a foggy day, the driver should closely observe the movements of the
pedestrians and other vehicles due to poor visibility and

A. Honk continuously
B. Drive at the normal speed
C. Turn on the high beam light
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45.1.6

D. Drive at a low speed

Answer: D
ITHEFEARE R RE R, BEMEERAT N AR, N
ATTJA A IRAT AT 3t

BT A 7 ERAT AT 54

CIkF bl S5 4

DT e S B 2 R AT AT 3

B C

4.5.1.6 When driving in thick or extremely thick fog, the driver should due to low visibility.

4517

A. Turn on the head light

B. Turn on the contour light and fog light
C. Stop at a safe place

D. Turn on the warning flash light
Answer: C

TEVETT B BAT 4, IR G 4467, Aol bl s, Ayl ki
ATTHIEh R4

B. & A L

C.Hlzh s AR

Dy 42T

%%: D

4.5.1.7 When driving on a muddy road, the driver should select the proper gear, keep to
control the speed, and pass at an even speed without stopping.

4518

A. The front stop handlebar
B. The clutch handlebar

C. The brake pedal

D. The accelerator handlebar
Answer: D
PBEFEAEWKIG, NARFHCEATEE, AW, DL HIZECR
AR

B. =l

C.Ffst

D.[H]

ZHE: D

4.5.1.8 When a motorcycle wades across the water, the driver should maintain a low speed, and
use the brake so as to restore the braking efficiency.

4519

A. Gently

B. Rapidly

C. Continuously and gently

D. Intermittently and gently depress

Answer: D
BN ERFLAAT A T B, N
AGEPEIE T 4

B R bR SR s R GEA T
C.AE A e e iaad
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D.5¢ 2o DA T 4t
%%: B
4.5.1.9 When a motorcycle passes a construction section, the driver should
A. Select a proper place to stop
B. Bypass according to the directional signs
C. Pass slowly on the right side
D. Reduce speed and go on the left side
Answer: B
45.1.10 AL EERITHOERMEE .
AR B
B UUBAIER A Al R
C Ry B I 9 b PR HE 25
DR XU e ke L S o A
%%: D
4.5.1.10 When driving a motorcycle to pass a muddy road, the wrong method is to
A. Firmly hold the gasoline tank by legs
B. Steadily step on the pedal by feet
C. Prepare to put feet on the ground at any time
D. Uplift feet to keep clothes clean
Answer: D
452 HKrE: (17 @)
4.5.2 Judgment Questions: (17 questions)
4521 FREGTHNE, BEEFCAHIShEE 26K, DR AT 45 v R 5% 2 3ok
B R
4.5.2.1 As the braking distance increases on a wet road in a rainy day, the driver should use the
emergency brake as much as possible to reduce speed.
Answer: Wrong
4522 PEFRAWOKIA, IS HIBIRORA S
B B
4.5.2.2 When a motorcycle wades across the water, the braking efficiency of the brake does not
change.
Answer: Wrong
4523 {ERWRATH, REERRA K" MHERER, S TR .
B IEH
4.5.2.3 When driving in a heavy rain, the driver should control the speed to avoid the danger
arising from “water slide”.
Answer: Right
4524 ZRAT PSR AE LA
B B
4.5.2.4 When driving in a foggy day, the driver should use the horn as less as possible or does not
use it at all.
Answer: Wrong
4525 WERABME, THREL I i mte AL .
B B
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4.5.2.5 As thick fog reduces visibility, turning on the high beam light can increase the visibility.
Answer: Wrong

4526 BELEFEWRA, XA e MILHE BN HRELE, AT 4 A kIR
SIS SR AT B
B IEH

4.5.2.6 When there is a continuous rain, the shoulders of the mountain roads may become loose
and the embankments may collapse. When driving in this weather, the driver should
select the middle solid road and refrain from going close to the roadsides.
Answer: Right

4527 KWRZUTHS, WRBIPENGER, B EESTA = AR A2 i, 2287 1)
LAV AT BT 18] o
B B

4.5.2.7 When driving in a strong wind, the driver should abruptly turn the steering wheel to
return to the original direction if he feels the motorcycle deviates horizontally when hit
by a fierce gale.
Answer: Wrong

4.52.8 HRATHH, AEAT AN B BONAR 44604 T 3L
B IEH

4.5.2.8 When driving in a snowy day, the driver should drive along the vehicle tracks if there are

any.
Answer: Right

4529 JESEAAEVKEIERE L KGR BEhG SCR AT BT 1) 2 S g, AN S 5)
AR RN ENTEESER
B B

45210 JEFLAAEURT B LATRE, BB SER R QORI s 1, B SRR A

A A o
22 ET

45211 FEEFCAATUKE B IZIN, 2550 A RNCRH s B, IR B0 i XU 7% Hh R HE %
22 EA

45212  PEEFCAEAE VKT BR R AE TR I, 2 s NS XU IR b B0V Mo A4k 1
222 EA

45213 ZERATHENZAF WO, LIS .
222 1EA

4.5.2.13 When driving in a foggy day, the driver should use the horn more so as to arouse the
attention of the opposite side.
Answer: right
4.5.2.14  RZEIRWr EID0F 1) ARSI, N7 B e L[] 1
Ho: IR
4.5.2.14 When hearing a honking from the vehicle coming in the opposite direction in thick fog,
the driver should honk in time to respond.
Answer: Right
45215 PEAGAACOKT B EAT A, FRARAE, R4 n) BE
B B

4.5.2.15 When a motorcycle goes on a road covered by ice and snow, the driver should reduce
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speed and shorten the distance from the vehicle in front.
Answer: Wrong

45216 PELHAT RUETITERIRERBUN, MAF S, ERT R, IRSLElA 4R % Bl
. IEf

4.5.2.16 When a motorcycle reaches a muddy or burst-and-muddy section, the driver should stop,
observe and select the level and solid section or the section with vehicle tracks.
Answer: Right

45217 A(ERRERE A, FEFGAS DU TR AR SAT R, NSO EEFE A
ZE: IEf

5 HMBURHG. FRKZEAHZARERESBERIRAELEIR (43 BD
5. Knowledge on Dealing with Emergency such as Tire Blowout, Steering out of
Control and Braking Failure etc. (43 questions)

51 RAMRIAN N AL E (13 D
5.1 Energency on Dealing with Tire Blowout (13 questions)
511 EFEE: (88D
5.1.1 Multiple-Choice Questions: (8 questions)
5111 RIEEIAIN, BN KR, _, BT ), R IR EAT 4
RS
ARG Bl
B. 151 il sl s
C I [7] 5y — I i
DRI 2 il 5l
%%: B
5.1.1.1 When discovering a tire is leaking, the driver should firmly hold the steering handlebar,
, do his best to control the driving direction and leave the carriageway as soon
as possible.
A. Swiftly brake and reduce speed
B. Slowly brake and reduce speed
C. Swiftly turning to the other side
D. Use emergency braking
Answer: B
5112 JEIEH SR adnt, B NNORFREUE, _, WO BT R E AT,
Z RES IO
ATRHU B e i) 4
BT B AR )4t
C I [ia) AH S 7 1) e )y ) 48
D. JHER R 5 it
%%: B
5.1.1.2 When a rear tire of a motorcycle blows out, the driver should remain calm, ___, do his
best to ensure the vehicle goes straight, reduce speed and stop.
A. Swiftly turn the steering handlebar to adjust
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5.1.13

B. Firmly hold the steering handlebar with both hands

C. Swiftly turn the steering handlebar to the opposite direction

D. Swiftly take braking measures

Answer: B

PEFCAEHTAC RGN, 27 B BN Ao A48 8), ERE NS RN T, R )
o, s, R

AL TR 30

B. e A FH i i s il 31

C. Al J e il 50

D.3Z J k4

%HZ: D

5.1.1.3 Serious wave will appear when the front tire blows out; the driver should release the
accelerator, firmly hold the steering wheel with both hands, quickly , and stop to yield.

5.1.14

A. Use front wheel to brake

B. Use front wheel and back wheel at the same time to brake
C. Use back wheel to brake

D. Gradually break down

Answer: D

ITHR ARG, WARTSHME 4T, AN, DR R R AR R
Bt o

AAEHTT A TIB)

B. S i et

CHATFIhT]

D. =L Il 5

B C

5.1.1.4 Before the driver can control the speed of the vehicle that has a tire blowout, he should

5.1.15

so that the vehicle will not swing horizontally and cause even greater danger.
A. Venture to use the foot brake

B. Swiftly turn the steering wheel

C. Release the accelerator pedal

D. Immediately depress the brake pedal

Answer: C
T4 R IR TR I N St S .
ARG 2 0

BRI, SRR E A
C R Bl (3 1 487 17)
D fREEATHE, T 4k

%HZ: B

5.1.1.5 The emergency measure to deal with a sudden tire blowout on the road is to

A. Swiftly brake and reduce speed

B. Firmly hold the steering wheel and steadily stop the vehicle as fast as possible
C. Swiftly turn the steering wheel to adjust the direction

D. Go slowly to find a place for tire change

Answer: B
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5116 ATHHRIATRBERN A IEMMIEZ__.
ACRFFEES, Fa TP R4
BRI AL, R EEIT A HEAT R
CRIUE 25, AEfmfa i [a] s 4
D AP FRAR)S PR S AR
%H%: C
5.1.1.6 The wrong measure to deal with a sudden tire blowout on the road is to
A. Keep calm and slowly release the accelerator pedal
B. Firmly hold the steering wheel to ensure the vehicle goes straight
C. Apply emergency braking and stop the vehicle in the shortest possible time
D. Gently depress the brake pedal after the vehicle slows down
Answer: C
5117 RMAAURIARE, middr s h o IR AT T w8 .
ASTEATR
B UL I
CATHEFH S35 K
D&Mk
%%: D
5.1.1.7 When the tire pressure is too low, the fast-running tire can change its shape like waves
and increase its temperature, which in turn can cause
A. Unstable tire pressure
B. Even lower tire pressure
C. Increases resistance to the vehicle
D. Tire blowout
Answer: D
51.1.8 WHARMEIGIERBIEE: _
A FRREE IR UL
B.E IR A i i
C. I BELES JRTa 1 L 57 4)
D. B A R G AR G 7 e i
HE: A
5.1.1.8 The wrong measure to avoid tire blowout is to
A. Reduce tire pressure
B. Check the tires regularly
C. Remove objects from tire tread grooves in a timely manner
D. Replace the tire that has cracks or deep cuts
Answer: A
512 FrE: (5 )
5.1.2 Judgment Questions (12 questions)
5121 R NKRIVECIGE TN, MRS, K BT AR AT I, A
A A
HRE: B
5.1.2.1 When the driver discovers a tire is leaking, he should swiftly brake and reduce speed,
steer the vehicle of the carriageway and park it at a safe place on the roadside.
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Answer: Wrong

5122 ZRNKRIVEIGI T, KEEFE B B ARTER, AZERNE SIS, DL
Fal 5 AR AS e 3 B8 R
B IEH

5.1.2.2 When the driver discovers a tire is leaking and steers the vehicle off the main carriageway,
he should refrain from applying emergency so as to avoid a vehicle turnover or a
rear-end collision arising from the late braking of the following vehicle.
Answer: Right

5.1.2.3 JEFCAMRIGIT, RN IEEE N SR, A i, T 4
B B

5.1.2.3 When a tire blowout on the road, the driver should swiftly depress the brake pedal to
reduce speed, do all his can to control the steering wheel and stop the vehicle as soon
as possible.
Answer: Wrong

5124 JEIEAREIG G, AL MR AT, A E SRS d e 4, D
PEFE AR A BRI G 15G
B IEH

5.1.2.4 After atire blows out and before the driver can control the speed of the vehicle, he should
refrain from using the foot brake to stop the vehicle. Otherwise, a horizontal swing of
the vehicle can cause greater danger.
Answer: Right

5125 JEICABRIAIN, AR AN ARSI TS 1 R 0L RIUE 20k3h, 10 AT 4R s
4.
B B

5.1.2.5 When a tire blowout on the road, the driver should control the direction of the vehicle and
use emergency braking to bring the vehicle swiftly to a stop.
Answer: Wrong

5.2 BgRAE. WIsR AL NG M. RAKKAER S DUIRfEALE (30 B
5.2 Emergency on Dealing with Steering out of Control, Braking Failure, Side Slide, Vehicle
Collision and Vehicle Fire (11 questions)
521 EFEE: (128D
5.2.1 Multiple-Choice Questions (12 questions)
52.1.1 ZB KD IEA RGN, HRIAEEEE_ .
AR P 15 4
B.IE A M R 5
(O e
D5 A=A W] Jg K]
%H%: C
5.2.1.1 When the driver discovers that steering is stiff, the wrong measure is to
A. Reduce speed and stop the vehicle as fast as possible
B. Stop at a safe place
C. Continue to drive
D. Identify the cause
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Answer: C
5.2.1.2 N Akt e A S ISR BRI .
AJREEL
B. 1%
C.UKE %
D.ib At
%H%: C
5.2.1.2 The road on which the wheels can most easily block when braking is
A. Concrete road
B. Dirt road
C. Road covered by ice and snow
D. Sand road
Answer: C
5.2.1.3 JAIZH R RN, HH NEPOE B, REF M7 .
AELLER I S0 R
B.Zz 4R il shR
CHREH &Rt
D. il Bl sh 84
%%: B
5.2.1.3 When there is a braking failure on the road, the driver should keep calm, firmly hold the
steering wheel, and to reduce speed.
A. Continuously depress the brake pedal
B. Immediately shift the gear to a low position or use the handbrake
C. Immediately depress the clutch pedal
D. Immediately pull up the handbrake

Answer: B

5214 ATHEPREPIRBEKIG, N__ .
AL HP A A
B. oG RUKTIF K

C.A ATl

DIFIR A AT R A SR ) B 0 A A0 &

%%: D
5.2.1.4 When there is an engine kill on the road, the driver should

A. Immediately reduce speed and stop the vehicle

B. Turn off the ignition switch

C. Place the gear lever in the neutral position and go forward

D. Turn on the right-turn signal, slowly sliding the vehicle to the roadside, stop the
vehicle and check

Answer: D
5.2.1.5 JEFLAEAEIKE B bR AR I B DADRRE 45011 -
AR BB G AR
B.4& iz 24
C.IH T il 5l B

D.[BIANHITT, REARAICEE M — 5
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%2 D

5.2.1.5 When a motorcycle has a side skidding, the driver should to keep the balance of

5.2.1.6

the motorcycle.

A. firmly hold clutch handlebar

B. firmly hold braking handlebar

C. Press the brake pedal

D. Release the accelerator and change the controller to the skidding side
Answer: D

PEFEA A KIS, AR T KK .
ALY L

B.HfiA<

C. LAk

D.K

%%: D

5.2.1.6 When the fuel of a vehicle catches fire, what cannot be used to put out the fire is

5.2.1.7

A. Roadside sandy soil
B. Cotton-padded clothes
C. Overalls

D. Water

Answer: D
KIS KK RS A
AN F AR
BRI 25 K I

C. K K A EER K 5

D. K KA HE K P

%HZ: D

5.2.1.7 The wrong method to use a fire extinguisher is to

5.2.1.8

A. Stand on the windward side

B. Stay away from the source of fire as much as possible
C. Direct the fire extinguisher at the source of fire

D. Direct the fire extinguisher at the flames

Answer: D

TERIR A BRATI, RIETTT A NS TARB N, B o
ARGHER S S 5]

BTV [n] A 4 [ L

C AR WR I R /N R L E 45 e

DI 1) 2 2 ) L

B C

5.2.1.8 When discovering people or animals crossing the expressway, the driver should

A. Immediately apply emergency braking
B. Immediately turn right to evade
C. Take decisive measures to evade and minimize the loss
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D. Immediately turn left to evade

Answer: C
5.2.1.9 FMORBEFCET MM AT IR AE “OKIE” WERH, N .
AU T BT B AR RO

B I3 By ] EHEAT 4
CARFEHL 4, B FAAR AT
D.fe iy 4 K AR K i
%H%: C
5.2.1.9 If a motorcycle experiences a “water sliding” phenomenon when running on an
expressway in rain, the driver should .
A. Reduce speed by suddenly depress the brake pedal
B. Immediately turn the steering wheel to adjust
C. Control the direction and gradually reduce the speed
D. Increase the speed to increase the displacement of the wheels
Answer: C
52.1.10 KFARAERIEAHATA, kA K" migmoek, 2 7h.
A FRAR Ak
B4 4 i
C. et &
D. M n%e iUk
HE: A
5.2.1.10 When driving on an expressway in heavy rain, it is imperative to in order to
prevent “water sliding” from causing a danger.
A. Reduce speed
B. Increase speed
C. Install slide-proof devices
D. Increase the tire pressure
Answer: A
5.2.1.11 PEFEHAE RN B BRI S AR A, A .
ARAMNAT 4 TE L
B. NI4T 43E L
C. R 4y
D[ 38 1= ffy 1y
%H%: C
5.2.1.11 When a motorcycle needs to stop for trouble shooting after having a trouble on an
expressway, the driver should stop the vehicle
A. In the far outer lane
B. In the inner lane
C. In the emergency strip
D. Inthe triangle area on the ramp

Answer: C
5.2.1.12 {ERIHEA BIBEAME DL IUEZERS, VAR fE 4,
AATHE
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B.#%JH

C k55X

D. &S 4y

HE: A
5.2.1.12 When a vehicle must stop in an unexpected situation on an expressway, it is strictly
prohibited to stop

A. In the carriageway

B. In the shoulder

C. In the service area

D. Inthe emergency strip

Answer: A

522 KW (18 )
5.2.2 Judgment Questions (18 questions)
5221 R NRIVFLIERIRA R, (HIE RSB [0 I, oK A HERI M E B B 47 e
AT
B IEH
5.2.2.1 When the driver discovers that steering suddenly gets stiff but he can still steer, he should
slowly drive the vehicle to a nearby workshop for repairs before getting on the road
again.
Answer: Right
5.2.2.2 (EATBIIEEILA, AERE R RIERIE DL T A R 2hE, IRAE SR 4.
B IEH
5.2.2.2 If a fast-running motorcycle has a steering failure, using emergency braking can easily
cause an overturn.
Answer: Right
5.22.3 JESRAHIBNRRS, N LT 6 0 o — N S, A
B IEH
5.2.2.3 After a braking failure occurs, the first thing for the driver to do is to control the direction
of the motorcycle before he manages to control the speed.
Answer: Right
5.2.2.4 BEASWIELIER, EEFTAA S i A e .
B IEH
5.2.2.4 When a motorcycle turns at an excessively high speed, it can easily dash out of a curve or
skid sideways.
Answer: Right
5225 ZRESTAEAGG R A rTReB AR AR, A N N ) A 1 T 1 Bk A
R B
5.2.2.5 When a three-wheeled motorcycle overturns slowly and jumping out of the vehicle is
possible, the driver should jump in the direction of the overturn.
Answer: Wrong
5.2.2.6  JKEERT DU THEKOARMS o 4Rk A TLAIRR IR KK, W RE I ARAEUK F s . Vi K

ES SR
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5.2.2.6 Water can be used to put out both the fire on wood, paper, clothes and tires and the fire on
electric equipment and gasoline.
Answer: Wrong

5227 HUKiF, NEPTE AL IRES, TR IR R EE ARSI K
K IEH
5.2.2.7 When putting out a fire, the driver should take off the clothes made of chemical fiber and

protect the exposed skin.
Answer: Right
5.2.2.8  HUKI, ANEEGRME P sl AR, DA IO 1 _EIFIE .
%% IEMH
5.2.2.8 When putting out a fire, the driver should refrain from breathing through mouth or crying

loudly. Otherwise, the fire and smoke will scorch the upper respiratory tract.
Answer: Right
5.2.2.9 AFAIK KA IKI;, NEBEE ERAL, K KESBAEK T, A5 REBREHEIRI ] T

R R
5.2.2.9 When using a fire extinguisher to put out a fire, the person should stand on the windward
side, direct the fire extinguisher at the fire and let the wind to blow the bubbles to the source of

the fire.

Answer: Wrong
52210 KHLmnE A E LSRG NSRS, SRR BRI AN N e SRR, i
AN N A R0 o
B IEH
5.2.2.10 When discovering somebody or animal suddenly walking across an expressway, the
emergency evasion measure should not exceed the necessary limit. Otherwise, it would cause
undue damage.
Answer: Right
52211 VEFLAAE I N B SRR A D 3 R AR A 0 0 A R R A S
B IEH
5.2.2.11 Making a sharp turn on an expressway can very easily cause a side skid or overturn due
to the centrifugal force.
Answer: Right
52212 FIRAE N BRATHEN, BEAE S (80, FENG B T 2 TR T K L R R B,
B AN, BH KA KT BLE.
B IEH
5.2.2.12 When a vehicle runs on an expressway in rain, the water film is formed between the
tires and the road surface. As the speed increases, the tire grip decreases and can easily
cause a “water sliding” phenomenon.
Answer: Right
5.2.2.13 MRAEEEABATE, AlERA A KW GG RTT MR, N 4.
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B R
5.2.2.13 When a vehicle runs on an expressway in a rainy day, the speed should be higher in
order to avoid steering failure arising from the “water sliding” phenomenon.
Answer: Wrong
52214 JESRHAE R ABRATRT, BRAMENRE2THE AN, AIEAT A8 B EE T .
B B
5.2.2.14 When a motorcycle running on an expressway needs to stop when encountering an
unexpected emergency, the driver may directly stop the vehicle in the carriageway.
Answer: Wrong
5.2.2.15 JESLAAE M A BRRAME TN, AR DT RIS, EAEIE, VISR 1)
.
B IEH
5.2.2.15 When a vehicle accidentally hits the guardrail of an expressway, the driver should
stabilize the steering handlebar and adjust properly. He should never turn the steering handlebar
drastically.
Answer: Right
52216 PFETABHIHMBEIE AL, BB T B AT BRI, N ARR AT,

AT
e SR

5.2.2.16 When a motorcycle deviates from the normal direction due to side winds at the end of a
tunnel, the driver should firmly hold the steering wheel and make slight adjustment.

Answer: Right
52217 ATEPEILSZN, WMARBBERAIRBIX, BT AR I AR N, S
e T AT TEATRE T 1)
R B
5.2.2.17 When a vehicle encounters a strong side wind in a mountain valley, the driver should
drastically turn the steering handlebar to adjust the direction of the vehicle if he feels the
vehicle deviates from the normal direction.
Answer: Wrong
5.2.2.18 PESTA AT BN SR ), B D) I s O AR A 10 ) A R R
B IEH
5.2.2.18 When a fast-running vehicle makes a sharp turn, it can very easily cause side collision
or an overturn due to the centrifugal force.
Answer: Right

6. BHEFEEBAMENFEEZEEER R, HEREMEFEARMR (30 &)
6. Common Knowledge on Overall Structures and Main Safety Devices of
Motorcycles and Routine Vehicle Inspection and Maintenance (30 questions)

6.1 JEFLA AR R (28D

6.1 Common Knowledge on Overall Structures of Motorcycles (2 questions)
6.1.1 EFEE: (28D

6.1.1 Multiple-Choice Questions (2 questions)
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6.1.1.1 FEFTA s BRI K
AN DA 8 T 25 P 1B 404
B AR FIHE 2% il
C 4 2% oz 7 3t v
D.ALZhTE T
%H%: C
6.1.1.1 The over sagging of the drive chain of a motorcycle leads to
A. Abrasion between the acceleration gear and the chain
B. Clamping stagnation between gears and the chain
C. Tensile failure or falling of of the chain
D. Powerless transmission
Answer: C
6.1.1.2 PESCAAEZNHUIEE ths & . fhahAl (RS RIkidas 41 k.
AT EN
B.ZE i %
C.iilahs
D.AZid s
%%: D
6.1.1.2 The transmission driver of a motorcycle is comprised by a clutch,
transmission shaft (or a chain) and Speed checker.
A. Power Divider
B. Differential case
C. Brake
D. Transmission
Answer: D
6.2 FELAFEFIN (218D
6.2 Common Knowledge on Main Safety Devices (21 questions)
6.2.1 IEFEE: (108D
6.2.1 Multiple-Choice Questions: (10 questions)
6.2.1.1 A AR i 4 RN AR I 4L, R RS .
AL JINIZ R ]
BT Bl
C. B
D. R B
%%: B
6.2.1.1 The speedometer comprises two parts: speed meter and mileage meter. The speed meter
indicates
A. The acceleration time
B. The driving speed
C. The rotation speed of the engine
D. The total mileage
Answer: B
6.2.1.2 AR ERHE, R AIRER R AT AR
AR
B.HLFH
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C.A&IE4%
D.JRM %R

B C

6.2.1.2 To construct a circuit with , a fuel gauge is used to indicate the volume of fuel in
the gasoline tank.

6.2.1.3

A. Auxiliary tank

B. Resistance

C. Transducer

D. Fuel pump

Answer: C

BUE ) R0 FR R /R R S LE iy 3 i o v s 7
AATH R

BAHIR

CALE A

D.IEHE &R

%2 D

6.2.1.3 The engine oil pressure meter is used to indicate the pressure of the lubrication ail in the

6.2.1.4

main oil pipe of the when the engine works.
A. The driving system

B. The cooling system

C. The transmission system

D. The lubrication system

Answer: D

AT, R e B grEn, iz

ATTHE4EE] s
B. 7 £ 0y Al
CAFZAR AL
Dyl % H PR B
Z%E: B

6.2.1.4 When the “ Eﬂ ” light on the dashboard is on while a vehicle is on the road, it reminds the

driver he should

6.2.1.5

A. Send the vehicle to the service station
B. Add fuel

C. Stop and added engine oil

D. Identify the trouble of the oil way
Answer: B

LEATHI, BRI L B0 7 AT508, WMl .
AREHLI S 7 AR

B. il 3t

ON- STIEERIURE

D.RBIHUHLIE J1id
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B A

6.2.1.5 When the “ & ” light on the dashboard is on while a vehicle is on the road, it indicates

6.2.1.6

A. The pressure of the engine is too low

B. The braking oil is leaking

C. The fuel is leaking

D. The engine oil is too much and its pressure is too high
Answer: A

e TN i
AT IR
B.Bi KT i
C.Hi %]
D. 5% 4T
E%&: B

O yram, memme AEHKE .

6.2.1.6 When the “ =0 light on the dashboard is on, it reminds the driver he is using

6.2.1.7

A The low beam light
B. The high beam light
C. The head fog light
D. The tail fog light
Answer: B

SRR A B PR A LA L TR SRR ST .
Afil3h

B. )i HF e
CHi4TH

D. &

HE: A

6.2.1.7 Before driving a vehicle out, the driver should check whether the steering, lighting and

6.2.1.8

work well.

A. Braking

B. Rear seats

C. In-vehicle tools

D. Audio

Answer: A

PEFRAE AW AN A O, T e kE.
A FUT

B/

C.7q %

DIPSHPNAN

%% D

6.2.1.8 A motorcycle driver should choose special safety helmet, according to personal .

A. Hobby
B. Feelings
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C. Demands
D. Head size
Answer: D
6.2.1.9 JEICA AR NI A MBI ke ot .
AL
B. L4 s
CF&
D. 2 i
%%: B
6.2.1.9 The most effective protection for a motorcycle driver is
A. Glasses
B. Aspecial safety helmet
C. Gloves
D. Safety kneepads
Answer: B
6.2.1.10 ZBEESTANS, RIXURIIEBIFINERE .
AT
B. 7 K%
C. g B 42 AN Sdr I
D. 5 4 I 18 o ) A
HE: A
6.2.1.10 When driving a motorcycle, the best way to protect knees is
A To wear kneepads
To wear trousers
Not to wear kneepads in short distance

OoOow

To lean knees inside during the ride
Answer: A

6.2.2 AWE: (11 8D
6.2.2 Judgment Questions: (11 questions)

6.22.1 77k, Ik < W) 7 graste, gemeE L.
Bede, R

6.2.2.1 When the “ - light on the dashboard is on while a vehicle is on the road, it reminds the

driver he needs to change engine oil.
Answer: Wrong

6.2.2.2 T4, ACERE R T 7 fraie, BOIHLI S k.

B IEH
6.2.2.2 When the “ & ” light on the dashboard is on while a vehicle is on the road, it indicates
the engine oil pressure is too low.

Answer: Right
6.22.3 {xFehi =<0 7 qram, SLHRERG I .
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B R
6.2.2.3 When the “ =0~ light on the dashboard is on, it indicates that the low beam light is on.

Answer: Wrong
6.2.2.4  JESTA- Sk A 3 EAE T SRR e e A S AR A £ 55
B IEH
6.2.2.4 The most important function of the motorcycle helmet is to lighten the harm of a head
from collision.
Answer: Right
6.2.2.5 HYIEST A FIZ TN AR RN Sk s (g, P B, mIFIEHIZt.
P OAF B A Sk 25
(e SIS
6.2.2.5 Different types of helmets should be chosen in different seasons, such as full-face
helmets, half face helmets and helmets for summer, and it is best to choose such vivid colors as
red and yellow as the color of helmets.
Answer: Right
6.2.2.6 BTN NS FE A MG SIRAE S I, DUORUEAT IR R
W, MERATATEE .
B IEH
6.2.2.6 Drivers should wear shoes or boots, which have heels and not skid soles, to ensure the
acute, accurate, and reliable gear-shifting by feet.
Answer: Right
6.2.2.7 HRUESEA, NEHIGE. WEBRTE, BFEANa TR KK TE.
B IEH
6.2.2.7 A suitable and wearable gloves, especially fur gloves with suitable finger lengths, should
be chosen for riding a motorcycle.
Answer: Right
6.2.2.8 HYIEESLA R ARG e Ak AR, RS AL R AR T R RS Aok ) T 1
Do
B IEH
6.2.2.8 Before riding a motorcycle, the driver should wear a safety helmet and adjust the angle of
the rearview mirror till he can clearly watch the left side and the right side of the back.
Answer: Right
6.2.2.9 ZBREEST AT LI Ak 2
B B
6.2.2.9 Drivers who ride motorcycles are able to not wear safety helmets.
Answer: Wrong
6.2.2.10 BTSN LAk, (HATDIAR 24 kA5 .
B B
6.2.2.10 Drivers who ride motorcycles must wear safety helmets, but they may not tie the belts of
the helmets.
Answer: Wrong
6.2.2.11 FRMEFLEMN, Ak,

BRI
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6.2.2.11 Passengers who take motorcycles do not need to wear safety helmets.
Answer: Wrong

6.3 A H AR A ANLE FEAAN (7 B
6.3 Common Knowledge on Routine Vehicle Inspection and Maintenance (7 questions)
6.3.1 IEFER: (3D
6.3.1 Multiple-Choice Questions: (3 questions)
6.3.1.1 fruuErEER, N AERNA L R
Am7K
B
C. Il
D.JW" <
%H%E: C
6.3.1.1 If a motorcycle stops while riding, the driver should check whether the engine
A. s leaking water
B. s short-circuited
C. s leaking gasoline
D. s leaking gas.
6.3.1.2 FEFLAE HW YR, N AR RSN R A oA, JF_ .
A B HGET R IR
BT R AL
CiHvtReA
D.i5 R IR Llal 244
%%: D
6.3.1.2 During a routine motorcycle maintenance, it is necessary to check whether there is any
cut in the tire, and whether .
A. Anew tire should be replaced
B. The tires should be rotated
C. The tires should be cleaned

D. The objects in the tire tread grooves should be removed
Answer: D

6.3.1.3 M C2ARIHRIRTH, BH5E__.
A EFE L i
B.J& N
C. e n) K42
DM RATHERH )
%%: B
6.3.1.3 Using a cracked or damaged tire on the road can easily cause
A. Side pulling
B. Tire blowout
C. Steering failure
D. Greater resistance to the vehicle
Answer: B
6.3.2 FlriE: (48D
6.3.2 Judgment Questions: (4 questions)
6.3.2.1 AT KA EEFE AL LR L ARG RIS S R 3h Ak B 1 e T
B IEH
6.3.2.1 Before riding a motorcycle, it is necessary to check the equipments, such as the steering
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gear, tires, illumination sign, and the brake.
Answer: Right

6.3.22 by Vi bElh, EEMRATRIGHAL, &R,
B HR
6.3.2.2 To avoid a tire blowout, it is necessary to regularly rotate the tires and properly reduce the
tire pressure.
Answer: Wrong
6.3.2.3 UL T EIR TAaMER 2 R EURIG.
B IEH
6.3.2.3 Attire whose pressure is higher or lower than the standard can cause a tire blowout.
Answer: right
6.3.2.4 MHCAARIEHNRIRTH, B 5IHEIG.
B IEH
6.3.2.4 Using a cracked or damaged tire on the road can easily cause a tire blowout.
Answer: Right

7. REZBHEBEHBER. SIREEAMR (30 &)
7. Common Knowledge on Self-Rescue and First-aid after Traffic Accidents
(30 questions)

7.1 i ARG BHEIR (30 ED
7.1 Self-Rescue and First-Aid for the Wounded (30 questions)
701 GEFEE. (1180
7.1.1 Multiple-Choice Questions: (11 questions)
7111 FERUn e, N
A, et
B s, Ja R
C.AeHi et A
D.Jri R A b
HE: A
7.1.1.1 When rescuing the injured, it is necessary to
A. Save life first and treat the wounds later
B. Treat the wounds first and safe life later
C. Help the slightly wounded persons first
D. Help the seriously wounded persons later
Answer: A
7112 S ERREATE B a0 R, R iy
AATER
B.{plat
C. ik
D. 4
%H%: C
7.1.1.2 When carrying the wounded persons in coma or in danger of suffocation, they should lie

A. Face down
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B. Face up
C. On their side
D. On their side and face down
Answer: D
7113 HRCRng R, NOERET_ .
ANEE
B4l
C.1k1f.
D. i1 []
%H%: C
7.1.1.3 When rescuing the persons who are losing blood, it is necessary to first.
A. Observe
B. Dress the wounds
C. Stop bleeding
D. Inquire

Answer: C
7.1.1.4 Filihas SRBels R IERR S E o
APt
BRI 4 KA Mk L KA
C.n & Ak
D. B Fibe 5 A
HE: A
7.1.1.4 The wrong measure to rescue a person sustaining burns all over his body is to

A. Use sandy soil to cover
B. Swiftly put out the flames of his clothes
C. Spray cool water to his body
D. Take off his burning clothes
Answer: A
7.1.15  EH a0 AR, R . BRI A .
A By R
BB 3 R KT
CBIA 1 _EXAy
DAL By R
HE: A
7.1.1.5 When using splints, sticks or tree branches to keep the unexposed bones in position, it is
necessary that these things should

A. Exceed the upper and lower joints of the wound

B. Exceed the lower joint of the wound

C. Exceed the upper joint of the wound

D. Not exceed the upper and lower joints of the wound

Answer: A
7116 KU . REL B PR, .
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AL SOV B AGAT3 I 18] P 7 25
B. W3 43 5
CRH AATRAL
D. L& 2 Y445 1 I 24
%%: B
7.1.1.6 The person suffering joint injury (sprain, dislocation or fracture)
A. Is allowed to change the location at the moment of being wounded
B. Should avoid activity
C. Should try to reset the dislocation
D. May properly adjust the posture at the moment of being wounded

Answer: B
480 O A o2 A B 1R 0 T S ) 7 /NG N TR A E 2 (N o 1 i R R A
A B
B. I
C.hi
D. 3t
HE: A
7.1.1.7 The method to press the general neck artery to stop bleeding is usually used to the
wounded person who suffers artery bleeding when other bleeding-stopping
methods do not work.
A. Neck
B. Facial
C. Intercostal
D. Temporal
Answer: A
7.1.1.8 5ot BIcs MR i, HAA BRI B, R ki
A7 1k
B IR s A 4L ik ik
C. SR il 1o i
DN ENTRIIRES
%H%: C
7.1.1.8 When there is a bleeding in an upper limb or shank without bone fracture or joint damage,
the bleeding can be stopped by
A. Tourniquet
B. Compression dressing
C. Cushioned limb folding
D. Pressure bondage
Answer: C
7119 GHLiE MR AR Y
At
B.—ffih
C.1k My
D.jR4g
%%: D
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7.1.1.9 The article that cannot be used to stop bleeding by dressing is
A. Bondage
B. Sling
C. Tourniquet
D. Hemp rope
Answer: D
7.1.1.10  abifag b A RO R . BB, BB IL T B &b, PSS
LT RBRAH
A= —
B. 42—
C=n2—
DNz =
HE: A
7.1.1.10 Stopping bleeding with tourniquet refers to ligating an elastic rubber tube and rubber
band at of the upper limb or the middle thigh of the wounded person.
A. One-third
B. One-half
C. Two-thirds
D. Three-quarters
Answer: A
70111 SRRSO A, N .
A RIS I
RAEYC L e
CH =Sl g
D. ik R #FH # 5
%H%: C
7.1.1.11 When rescuing a wounded person suffering spinal fracture, it is necessary to

A. Take warm-keeping measure
B. Use soft stretcher to carry
C. Use sling to keep in position
D. Help the wounded person to move
Answer: C
7.1.2 KW (19 8D
7.1.2 Judgment Questions: (19 questions)
7121 KCPRAG ORI AT AR g, AR PR b A, SRS AR B .
HZ: IEH
7.1.2.1 The wounded person who is losing blood can be treated by exerting external pressure to
stop the bleeding and put on a bandage.
Answer: Right
7122 BWRe G, RORICORIEFE T, P71 -
e SIS
7.1.2.2 When rescuing a wounded person in coma, it is necessary to take warm-keeping
measures to prevent heat loss.
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Answer: Right
7.1.2.3  BEUi05 5L IV, Ay R K
B IEH
7.1.2.3 When a wounded person suffering burns is thirsty, he may drink a small quantity of
slightly salty water.
Answer: Right
7.1.2.4 BEEAEE SO0, DIPEE i ES), AT AL .
B B
7.1.2.4 When removing a wounded person suffering spinal fracture, the rescuer should never
help the wounded person to walk. He may be carried away with a soft stretcher.
Answer: Wrong
7.1.25 5 by AL i SE R E, AR JA kA AL
B B
7.1.2.5 When there is bleeding at the bone fracture of a wounded person, the first thing to do is to
keep it in position before stopping the bleeding and dress the wound.
Answer: Wrong
7.1.26 MIOUKMR. ANBERVEMES SN, — BNt e, AR S .
B IEH
7.1.2.6 When a wounded person suffering bone fracture in the thigh, shank and spine, it is
necessary to keep the fracture in position and refrain to move the wounded person.
Answer: Right
7.1.2.7 A G EE AR T RAS AR, R P AR AR
Fo: IR
7.1.2.7 When putting a bone fracture in position, the fixing should be proper and solid. Both the
two fractured parts and the upper and lower joints should be fixed.
Answer: Right
7.1.2.8 U5 LICEATI E R, SRR E AR
B B
7.1.2.8 When putting a bone fracture in the upper limb in position, the limb must be straightened
and tied up.
Answer: Wrong
7.1.2.9 50U N IBCETRE N, AR B AR AN
B B
7.1.2.9 When putting a bone fracture in the lower limb, the limb must be crooked and tied up.
Answer: Wrong
7.1.2.10 Ui DU EITA EINERIN, BRI E o
B B
7.1.2.10 When the bone of a wounded person suffering bone fracture is exposed, it is necessary
to put it in position and tie it up.
Answer: Wrong
71200 SEEAO A AR, il 2 AR N RS TARRAED B SR, R DG
e,
R B

7.1.2.11 When carrying a wounded person suffering bone fracture onto a stretcher, two rescuers
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should put their hands under the wounded person and carry him together onto the
stretcher.
Answer: Wrong
7.1.212  EATHI GUAAE AT REARIN,  ANECR ) S
B IEH
7.1.2.12 When the spine of a wounded person suffering bone fracture could be damaged, the
rescuers should refrain from changing his posture.
Answer: Right
7.1.2.13 Wy G TCHEIRN, N Z0 s BT R TR
e SR
7.1.2.13 If a wounded person is breathless, it is necessary to immediately conduct
mouth-to-mouth artificial respiration.
Answer: Right
7.1.2.14  Flibinafy 0 Gk, —E SR, MRS, IRESIA A IR .
e SR
7.1.2.14 When using tourniquet to stop the bleeding of a wounded person, the rescuer must make
sure it is tightly bonded. Otherwise, bleeding will continue in the deeper artery.
Answer: Right
7.1.215 A7 O RTEY B/NBR AR AL, )RS R I IR E
B IEH
7.1.2.15 When a wounded suffers bleeding in the forearm or shank, the rescuers may place a
cushion in the armpit or in the rook of the arm, crook the armpit or rook and tie up.
Answer: Right
7.1.216 ot ST AILITEI, AL 0 BTy, MAEAES RIS, LG HESE I s
FEAEF Mo
B IEH
7.1.2.16 When using a bondage to dress a wounded person, the knot should be made neither
above the wound nor at the back of the body. Otherwise, the wounded person will feel
uncomfortable when sleeping.
Answer: Right
71217 (EBRAHMN SR SN OLT, TN, TR KRR K ek 1A
ghar L.
B IEH
7.1.2.17 When there is no bondage for rescuing a wounded person, towels, handkerchiefs, bed
sheets and stockings can be used for dressing.
Answer: Right
7.1.2.18 Wb B, HEAESFASCTHN, aBRADIN R L fk b .
R B
7.1.2.18 When there is a bleeding in the upper limb of a wounded person but he suffers no bone
fracture or joint damage, the bleeding can be stopped by pressurized dressing.
Answer: Wrong
7.1.219 3 SUEAT A N R SRR RE AR AT R AL
B B

7.1.2.19 When there is a bleeding in the bone fracture of a wounded person, the fractured bone
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should be put into position before stopping the bleeding and sterilizing and dressing the wound.
Answer: Wrong
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